\

ONEEEPS

ADAPTER

46



ADAPTER

i

JiEEL | FRRSES
ADAPTER Part No. Index

| L
LI

ABGB-0G p.73

/”—“(—\'ﬁ\, f/! ﬁ\
3 g o
S~ I ¥
— 1K p.54 1K9 p.54
@ .. =
~ o e a4l
QO SIFABESE | I il
o HEmEEIKES ' MM L
— JIS metric 1KG p.55 1KG9-0G p.55
> thread 60° p—
@ ;z=2 cone flared QRN 27y W - = ,—\J_L_,...rﬂ_
Q5 tube i 1 = =TT L
a 3k e s 7 ool
- 1 | — \
E. 1KH p.55 1KH9-0G p.56 1KT p.56
- (22|
Q N J
| G
)=\
9K p.54
5 __,Jﬁﬁjg?
o 0 N
% i
0o 2BJ-WD p.70
n N
av ’W o
-* =1 :
= 60 L=
o Bagisk 1BN9 p.71
Q BSP Thread 60° -
o cone rer =
ma AT Y | Aoy
=t —{ =
o, '
S 9B p.68 AB p.72
LA =
BB p.72 CB p.72
=

553

ABBG-0G p.73

47

o
n
Y,
~
o
N
0
—]
—
=2
=
®
Q
o
Tl
=
=
>
Q

[ AR= ]
Part No. Index

g ik % sk

ADAPTER

A HREEHRE60° ﬁmm‘ ’m Dt .
HEmE IRk | H (L T i
JIS BSP Thread J“ ’U'—* = ’ 1
60°cone 1S p.57 1ST p.57 1ST4 p.57 1ST9 p.58
Y, JT] — 17 ‘L’:f [67 1) (: Eﬁw
T S/ | | Lo [
‘ [ ] I — ‘ Bl ] =\ L JdiiBl
UHU = UHEH B2 "HERY
1B p.58 1B9p.59 2B p.59 2B9 p.59 3B p.60
R AN pii=§ W (o, .
I X 7 Ui
Ay g
1BG p.60 1BG4 p.60 1BG9-0G p.61 1B-WD p.62
HEIRL60° =2l RN {a
wEELEL i oy =)
BSP Thread |50 —
60°cone 1BT p.61 1BT4 p.62 1BT9 p.63 4B p.63 4T p .64
VﬂLL = L7
. N |
17} A — [_
5B-WD p.65 5T p.66 7T p.67
W ﬁ}
) :
1BW p.65 2WB p66
[ A S =
[ ,-‘lj_ h I ‘Il | [ />§/ =]
\ > ) 1 } 1 LAA;fAAJ
1BO p.68 1BH p.67 1BH4-0G p.69  1BH9-OG p.69

48

sk

i
ADAPTER

)|




ADAPTER

i

ok % 5k

ADAPTER

=
(@)
o
0
11
n
%
>
m
Z
U
_l
)

=

a
Z
U
o))
<
_l
>
=S

0

Q

o

49

e ke 2 i

NS E5|

Part No. Index

— J;-T—ﬁ
Lﬁ{ki

2F p.76

2F9 p.75

ﬂw¢][ TLQ ) 0 0
1F p74 1F9p.74  6F p.74 6F9p.75  AFp.75  XFp.75
L) gamy — 7 =

‘\‘_I‘H.l' oo [

] iy TS v '
B4 2l —f@ r 1 ]% -

u—/ I 1 =]

BF p.76 CF p.77 4F p.77  9Fp.77

EHIRNCEE
O BEiEk
ORFS Thread

L L L Ll _____T.,’/
I
f | 9
A o

0 O] g 055

1FN p.78 1IFN9 p.78  1FOp.79 1F09 0G p.80 AFFO-0G p.79
B N\ \ S
Ho by
\ b > ! —H
_ @l
AFOF-0G p.80 1FHp.81  1FM-WDp.81 1FH9-OG p.82 AFFH-OG p.82
G B i ha
1FB-WD p.83 1FG p.84 1FG9-OG p.85 AFFG-OG p.85

T S, N lﬁ“ - ?‘r,.-__:
== B A 5
” =t J(‘“}, _;,U I _7: ] il ™ ‘U‘T 1
IN p.86 1IN9p.86 AN p.83 2NUp.84  2NU9p.87
=) i T T
h N I = 4- i ] F 2
SplEgmagEsl | o 0 - |} | B2
NPT, NPSM - ' B
Thread 4N p.87 5N p.88 5N9 p.88 GN p.87 7N p.89 7N9p.89

=
(@)
o
0
11
n
%
>
m
Z
U
_l
©

=

a
Z
U
n
<
_l
>
=S

@

Q

o

NS E5|

Part No. Index

g ik % sk

ADAPTER

SEFIRYT74°
HEEREL
JIC74° cone

1
p.90
[ rh_r ( 7 7
77z A | ot
[ [P || R
LR H ==
2) BJ
p.92 p.93
f d P L, TN A"'Lﬁ E—}ﬁ
[ 1O R
e o) o d Bl W
LY, / LI
9J 9J-CAP 1JG 1JB-WD 2BJ-WD
p.95 p.96 p95 p.96 p.97
= i, e e P gy o Y o=
=] | { LU—J L = [—, o=
1JG9-0G 1JM-WD 1JH 2MJ-WD 2HJ
p.98 p.98 p.103 p.104 p.105
=R, SN, o7 AR %L
e R L -
\| MM L 1[ 77 W =
1JH9-0G 1Jo 20J 1JO4-0G 1JO9-0G AJOJ-0G
p.99 p.100 p.101 p.102 p.103 p.100
S==rrs IJ } AL L f/ L
AJJO-0G 40 1JN 1JN4 1JN9 uT
p.102 p.101 p.104 p.105 p.106 p.106
~No g - 11 = ).
L.: _‘”"l ‘_ ...... | “ H W . \%[7 U [—’r\
=W any! L] . \—u I w—)
27T) 19 1JFL 1JFL9 1JFS 1JFS9
p.108 p.108 p.109 p.109 p.107 p.107

50

sk

i
ADAPTER

)|




gL | SEELASREA

ADAPTER How To Order Adapter

SiEREL S | B gL

How To Order Adapter ADAPTER

— Bl RSk S Straight part NO.
2ARSIRIBEN R T K/VRAE, BFEIZTRFR™.  Size code table:

Ood- o0 — ogod

S HEIMRL60°IM T R E NIRL60° N3

T SREEEWRL BSPT

#R5E7R M Example order:

1CG-22-08EIBTIBHEL R T, LR AIMEL24° NIRRT, BAAM22X1.5; Al K ERSCTEO-Ring B, 1840y

G1/2"X14, BRRMASIERTIESL,

U NPSM

If 1CG-22-08 left end is metric male 24° cone seat L.T., thread is M22X1.5; right end is BSP thread stud ends with,
W IR E thread is G1/2"X14,the carbon steel fitting .
\BLLE=DN 7 :Note:

FL SAESE=RA5615

FS SAEE=ER562E

FG RIRAHE=

FY Z@iIREE=

51

LRSS “OR”, RRTE60. 74,905 E L ANO-Ring, 411J-08-060R, R/xGimAN-06iHEE £ I10-Ring; 1J-08-

06/20RZR7 i BN-081f K2-061% 4 IN0-Ring,

2\ BB ERRBREIRT A AN E— T N7, BEREMS”, J077C-04-16S

3IMEY AT NIBREIR R A AN E— T A5, BIEREM“S”, J05TD-08-30S.

A WIRIFERERIERT, ERS/FMS”, 23BW-12S,

SAFREXANEE, AW KRR, HEEEM“P”, d01CW-18-12P; RnAm AN EE, AT RER, FTATFEE.

6 BB R R NETHIBY, RS EI“IN”, S15BW-08INo

T RN AIMBSIESLERAS I “N”, S04MN-22WD, 4BN-08WD. 4TN-08%,

8. FCAPTIVEZ AL AR, EA S /EH0“WD”, 411CB-22-08WD,
9K JIRANK B E K, ERS/EI“L”, #11J0-10-08L,
10 X AARESK, S EM “0G”, #11CG-22-060G,

1L TR FINT60° MBI, ERSEI“SP”, #11CT-18-065P,

12 3EMRE N WL R AL, AR S /W, 112C9-18W,

13.24° HO-Ring s E K, WNERAGBIR AEMARBIO-Ring, TEX S EIN“G™,102C9-28WG,

HEIRLY G1/8" | G1/4" G3/8" | G1/2" | G5/8" | G3/4" G1.1/4" | GL1/2"
HBTEZELES papt = el BSPThread | X28 | X19 — X19 | X14 X14 X14 GI'X11 | X11 X11 G2'X11
Straight series Left sizecode  Right size code Material BB | R1/8" | R1/A" R3/8" | R1/2" R3/4" R1.1/4" | RL1/2"
BSPT X28 | x19 — X19 X14 — X14 RI"X11 | x11 X11 R2"X11
Thread
& fmgEEy | 71/8" | 71/4" z3/8" | z1/2" 73/4" 71.1/4" | z1.1/2" e
5“’4’( NPT Thread | X27 | X18 X18 X14 — X14 Z1"X11.5| x11.5 | x11.5 [Z2'X11.5 e
e <<
< (ke s (= e N le=0 7/16" | 172 9/16" | 3/4" 7/8" 1.1/16" | 1.5/16" | 1.5/8" | 1.7/8" | 2.1/2" 2
o il B =7E JIC Thread | — [ X20 X20 X18 X16 X14 X12 X12 X12 X12 X12 1)
1 SMESLIMERLL A REIRSEKE UNF UNF UNF [ UNF UNF UN UN UN UN UN
Male / Male B HEIZL60° HEEBSPP Z45|ORFSHZ 9/16" 11/16" | 13/16" | 1"X14 | 1.3/16" | 1.7/16" | 1.11/16"| 2"X12
= e — | x20 — X16 X16 UNF X12 X12 X12 UN _
2 JMBL FETNNIRA C AL ERT ORFSThread UNF UNF | UNF UN UN UN
Male/ Female D AEIA T EF SEEISAELE 5/8" 1.1/16"
3 BRI | ERIRIELY E ASIFEHOTE Emedl — 1= = Il L A — |
Female / Female F Z5|0RFSTE S
4 SMBLE G HERATE. O-Ring BH FlangeSize | — | — |— |— | 12 | 58 | 3 | 1' | 1) Lt ] 2
Plu - oom A L=
2 H Afll7 A ixE O-Ring #1: . 02 04 05 06 08 10 12 16 20 24 32
5 SMELY BIENIRL Male / | BuER A AFIRSHRS SBAAE—5.  Note: Thesize ofmetric thread accords with the O.D. of thread.
J EHICTA®
6 SR K AHIIMES60°IMER AHI IR0 N 3 MBS AR, WA EMERS, Bt RS iR
L NEE S Don’ t need material code if the material is carbon steel, and the code for other material is
T BRI EENEE M AHI60 REI S ARELS BT defined as following:
N EEIARHE 7%} Material BxiX Carbon steel {7 Brass AE55N Stainless steel
8§ 0 £4ISAE O-Ring BOSS
P ZHISAE9Q° = Code — BR SS
OB A I Sk Q Afll74°




gL | SEELASREA Eix. &R, ik | diEEk

ADAPTER How To Order Adapter GB. JB .QB Thread fitting ADAPTER
BANHISMRL60°9ME JIS METRIC MALE 60°CONE
ZATEEEAAS EEETERELE S AN 4" RR45° T ERE., CEBEELES . - o Eare 24 ETHREAD R<f DIMENSIONS EHER
JEIN“9” FRA90° I b i k0 AN1CGY-22-060G. 2C4-22%, H PART NO Tl T2 L1 L2 L S MPa
Elbow part NO.:Add suffix “4” for 45° elbow and suffix “9” for 90° elbow to the straight part baar 1K-14 M14X1.5 M14X1.5 17 17 40 17
number .e.g, 1CG9-22-060G and 2C4-22. | = -~ 1K-16 M16X1.5 M16X1.5 18 18 42 17
= SESEELKSTee part NO. 3 L 1K-18 M18X1.5 M18X1.5 18 18 42 19 345
S1 1K-20 M20X1.5 M20X1.5 20 20 48 22
I:I D D D S D I:I I:I D D D D 1K-22 M22X1.5 M22X1.5 20 20 48 24
J 1K-24 M24X1.5 M24X1.5 215 215 53 27
@I EELES EIRtRS i S BIRITS g 1K-30 M30X1.5 M30X1.5 26 26 63 32 205
o T i Leftsi d idsi Right si d Material : x
: ﬁ'é( ee series eftsize code  Midsize code Rightsize code ateria 1K-33 M33X1.5 M33X15 30 30 71 36 ZL((E
< A _ A<
< E—PFENEXMTHAR, ERFEMNEX SERTEEAFNE_RE=UFE HE, 7S 5EBTEELFIRSE XEF. 1K-36 M36XL.5 M36XL5 33 33 9 4l 17 2
) A SMBL/IMBLL/SMEBL 1K-42 M42X1.5 M42X1.5 36 36 85 46 1)
B SMBRLY/FETHAIRLL/IMBL
C SMRL/IMELL/TETHAIRELL
DIEENNIRLL /B R RLLSE RN RIRLL 1 Kg
ESERNIREL/ MRS SENNIRLL 90°H A A HIFMRL60°ME 90°JISMETRIC MALE 60°CONE
FIEThRIRLL/SEThRIRLL/SMEBEL
G EE MRS/ EE WIRLY/ [EE NIRL =] 240 ETHREAD R~ DIMENSIONS EHER
HIEZE PRIRL/ B E RS/ IMRLL PART NO. T1 T2 L1 L2 S1 MPa
JEIEWIRL/IMELS/EE RIRLS
e T, 1K9-14 M14X1.5 M14X1.5 26.5 26.5 14
LYMBET/IMELT /B E RIREL 1K9-16 M16X1.5 M16X1.5 29.5 29.5 16
M ETHRRLY/ B E RIRLL/ BB RIRLL 1K9-18 M18X1.5 M18X1.5 30.8 30.8 19 345
N FMELY/EE IR SERN IR 1K9-22 M22X1.5 M22X1.5 35.5 35.5 22
O EIE MRS/ EIE RIRLL/EENIRLL - - - :
P Bl RB LS SMELS AT B 1K9-24 M24X1.5 M24X1.5 37 37 22
Q EIE RURLL/7EThRIRLL/ MBS 1K9-30 M30X1.5 M30X1.5 45 45 30 205
s e of ord 1K9-33 M33X1.5 M33X1.5 50 50 33 '
Tt : Example of order: ;
ACCG-22-30-080G = @i IE L R Y, AUk AIMESA AR R T, BSIIM22X1.5; Rk A IMES4° R R 5, 8509 1K9-36 M36X1.5 M36X1.5 > > 4l 17
M30X2.0; 55 B BT EO-Ring @4, 840G 1/2"X 14, BB INGI1EE, 1K9-42 MA42X1.5 ] M42X15 63 63 41
If ACCG-22-30-080G left end is metric male 24° cone seat LT.,thread is M22X1.5, mid end is metric male 24° cone seat
LT., thread is M30X2.0; right end is BSP thread stud ends with, thread is G1/2"X14,the carbon steel fitting . A K
HA R HISMRL60°ME=E JISMETRIC MALE 60°CONE TEE
> h ey #8457 ETHREAD R~ DIMENSIONS =R
A [ Lo PART NO. Tl T2 T3 L1 L2 L3 S1 MPa
- AK-14 M14X1.5| M14X1.5 | M14X1.5 26.5 26.5 | 265 14
Iy = 57
. PUBiEEAAS  Cross part NO. L B AK-16 M16XL5| M16XL5 | M16xL5[ 295 | 295 [ 295 16 | .
D D D D D AK-18 M18X1.5| M18X1.5 | M18X1.5 30.8 30.8 | 30.8 19 ’
:’— — AK-22 M22X1.5| M22X1.5 | M22X1.5 35.5 355 | 355 22
Eﬁﬁigg%ﬂ%j e I— Rl AK-24 M24X1.5| M24X1.5 | M24X1.5 37 37 37 22 27.5
Cross series Size code Material AK-30 M30X1.5| M30X1.5 | M30X1.5 45 45 45 30 205
AK-33 M33X1.5| M33X1.5| M33X1l.5 50 50 50 33 )
1. X PO ek — AR O imER AR B, L RAE—ME S, SR AR, Mg —ARTR AR, £ ZART LR, F=HRT
i, ENART ik,
In general for crossfitting, the four ends thread is the same ,if different, the first group means left ,the second 9 K
group means up ,the third group meansright and fourth group means down. . .
2 POSEESL B S 4 - HARAFIINAIRS60°AHIEL JISMETRIC FEMALE 60° CONE PLUG
E—NFEEXMTAT, ERFEEXEEBTERXPE_RE=UFE" EF,
X ER RSN FRRS | & ATl FT DIMENSIONS EHEHMPa
YRR R AN IBL PARTNO. | THREAD T1T ) L1 s1 $2
7 R iHES = E E IR
9K-14 M14X1.5 10.5 15 19 19
T RN = Uik A IMBL— % 79 B E IR
W R = i 9 SMBR S — Ui 79 7E Bh IR AL 9K-16 M16X1.5 10 17.5 22 22 345
V RN = I 9 B E IR — i 79 JMEBLL 9K-18 M18X1.5 11.5 18.5 24 24 '
0 RIRZ I F BTN RIRE— i J MRS ' : 9K-22 M22X1.5 14 21 27 27
9K-24 M24X1.5 15 22.5 32 32 27.5
9K-30 M30X1.5 18.3 25 36 36 0.5
9K-33 M33X1.5 213 25.5 41 41 '

53 54



gL | EiR. SPiR. OiRiEL Eir. ZBiR. oFREESL | TiEEsL

ADAPTER GB. JB .QB Thread fitting GB. JB .QB Thread fitting ADAPTER
B ARSI IMEL60°ME/ZE B SMELORE JIS METRIC MALE 60°CONE/B MALE O-RING 90° B AR BISMEL60°IM /A I IMELET A BT I E R FIISO 6149-2
T . 90°JIS METRIC MALE 60°CONE / METIRC MALE ADJUSTABLE STUD END S-SERIES ISO 6149-2
e e 4847 ETHREAD R~ DIMENSIONS EHER |
s PART NO. - = 0 5 y o MPa ' Rfts B2 ETHREAD R<__DIMENSIONS EHER
b= | o KA o PART NQ T1 T2 L1 L2 S1 MPa
1KG-14-04 | M14X15 | G1/4"X19 17 11 36 19 34.5 ] = 1KH9-14-120G | M14X1.5 M12XL5 26.5 335 14
s1 1KG-14-06 | M14X1.5 | G3/8"X19 17 11.5 36.5 22 o UJ_ s | M - éﬁg%é‘ﬁgc] mgﬁg mjﬁg %gg ggg ig
1KG-16:06 | M16XL5 | G3/8"X19 | 18 15 | 38 | 2 | .. G 1KH9-18-140G | MI8X1.5 | M14X15 30.8 375 19 | 4,6
1KG-18-06 | M18X1.5 | G3/8"X19 18 115 38 22 1KH9-18-160G | M18XL.5 M16XL.5 30.8 39.5 19 :
N 1KH9-18-200G | M18XL.5 M20X1.5 30.8 44 19
1KG-22-08 | M22X1.5 | G1/2"X14 20 14 47 27
- 1KH9-20-180G | M20XL.5 M18XL.5 33 425 19
& K 1KG-30-12 | M30X1.5 | G3/4"X14 26 15.5 52.5 32 1KH9-22-200G | M22X1.5 M20X1.5 35.5 45.5 22 K
B K 1KG-33-12 | M33X1.5 | G3/4"X14 30 155 59.5 36 20 1KH9-24-200G | M24X1.5 M20X1.5 37 47 27 275 HXE
3 i Yy m 1KH9-24-220G | M24XL.5 M22X1.5 37 47 27 : e
= 5 1KG-33-16 | M33X15 | GI X1l 30 18 62 4l 1KH9-30-270G | _M30XL5 M27X2 45 57 30 05 ;Zf
2 1KH9-330G M33XL.5 M33X2 50 59 33 : :
1KH9-36-330G | M36XL.5 M33X2 57 60.5 36 17
HZA A HISMES60°5M /R E IMRSOE B 7] A [m A i H A A HIIMRLI60°9M /T B SMELL
= JISMETRIC MALE 60°CONE/B MALE O-RING ADJUSTABLE STUD END JIS METRIC MALE 60°CONE/BT MALE
|4 ERie 1841 ETHREAD R~ DIMENSIONS ESER L . RS 247 ETHREAD R~ DIMENSIONS ENER
o PART NO. 1 - 1 B 1 MPa B =t PART NO. T1 T2 L1 L2 L S1 MPa
s2 - N [
= 1KG9-14-040G | M14X1.5 | G1/4"X19 26.5 31.3 14 315 = ' igﬂgg mjﬁg Eyg 7 ﬁg g 11455 33785 g
i \U_||.|:J L 1KG9-14-060G M14X1.5 G3/8"X19 27.5 35.8 16 SITIF T _él- 1KT-16-06 M16X1.5 | R3/8"X19 18 15 39 19
u 1KG9-16-060G | M16X1.5 | G3/8"X19 29.5 35.8 16 ; " 1KT-18-06 | M18XL1.5 | R3/8"X19 18 15 39 19 34.5
1KG9-18-060G | MI18X1.5 | G3/8"X19 30.8 37 19 25 = 1KT-20-06 M20X1.5 | R3/8"X19 20 15 43 22
1KG9-22-080G | M22X1.5 | G1/2"X14 355 432 22 ) iﬂg%‘gg m%g&g Ef;g - ﬁ?‘ %8 %g 32 %2‘
1KG9-24-080G | M24X1.5 Gl/2" X14 37 46 24 / 1KT24.08 | M24xL5 | RI/2"X14 515 50 R 5 -
1KG9-24-120G | M24X1.5 | G3/4"X14 40 49.3 27 1KT-24-12 M24X1.5 | R3/4"X14 21.5 20 51.5 30 ]
1KG9-30-120G | M30X1.5 | G3/4"X14 45 53 30 1KT-30-12_ | M30XL.5 | R3/4"X14 26 20 57 32 0.5
1KG9-33-160G M33X1.5 G1" X11 50 53 33 16 1KT-33-16 M33x1.5 | R1" X11 30 25.5 66.5 36 )
0 1KT-36-20 | M36XL.5 | RL.1/4" X11 33 265 72.5 16 17
1KG9-42-2006 | M42X15 | GL.1/47X11 63 29 4l 1KT-42-24 | M42X1.5 | RL1/2"X11 36 26.5 77.5 50 10.5
HARHIIMES60°IMN ) AFIIMENE R SISO 6149-2 H 2&’&%%#%2&60"%?&%5‘:
JISMETRIC MALE 60°CONE/METIRC MALE S-SERIES IS0 6149-2 JISMETRIC MALE 60°CONE PLUG
- RS 1247 ETHREAD R~ DIMENSIONS = 4 N
TESENT LERE = = o > : Sl 5 ey #8457 ETHREAD R DIMENSIONS EHEE
y PART NO. MP
_— 1KH-14-12 | M14X15 | MI2XL5 17 11 39 17 - . 0 ) 51 a
B , 1KH-14 M14X1.5 | MI14XL.5 17 11 39 19
. J N 1KH-16-14 | M16X1.5 | MI14X15 18 11 40 19 4K-14 M14X1.5 17 23 17
— - 1KH-18-14 M18X1.5 M14X1.5 18 11 40 19 345 4K-16 M16X1.5 18 24 17
"1 1KH-18-16 | MI18XL5 | MI6XL5 18 12.5 2 22 :
1KH-1820 | M18XL5 | M20XL5 18 14 45 2 4K-18 M18X1.5 18 25 19 345
1KH-20-18 | M20X1.5 | MI8XL5 20 14 47 2 4K-20 M20X1.5 20 28 22
1KH-22-20 | M22X1.5 | M20XL5 20 14 47 22 aK22 M22XL5 20 08 2
1KH-24-20 | M24X1.5 | M20XL5 215 14 48.5 22 s :
1KH-24-22 M24X1.5 | M22X1.5 215 15 50 22 : 4K-24 M24X1.5 215 315 27 21.5
lKH-3(;—327 MggXl.S ngg gg 12.5 6é).5 g 205 4K-30 M30X1.5 26 37 32 205
1KH- M33XL5 | M33X 185 5 ' :
1KH-36-33 | M36XL5 | M33X2 33 185 68 2 17 4K-33 M33X1.5 30 41 36

55 56



62
Ll
=
o
<
(=)
<<

7K
#
2
pa

o iE 3%k

ADAPTER

SemlizSk

BSP/BSPT Thread fitting

57

1S
B4R E SMBL60°Ih 5
) JIS GAS MALE 60° CONE
S =afte 4% THREAD Rt DIMENSIONS
. PART NO. Tl T2 L1 L2 L S1
. |- 15-02 G1/8"X28 | G1/8"X28 12 12 30 14
si 15-04 G1/4"X19 G1/4"X19 16 16 38 17
15-06 G3/8"X19 G3/8"X19 18 18 42 19
15-08 G1/2"X14 | G1/2"X14 20 20 48 2
15-12 G3/4"X14 | G3/4"X14 22 22 54 30
15-16 G1"X11 G1"X11 24 24 59 36
15-20 GL.1/4'X11 | G1.1/4'X11 27 27 67 46
15-24 G1.1/2"X11 | G1.1/2"X11 27 27 69 50
15-32 G2"X11 G2"X11 30 30 77 65
1ST
HZs 52 & SMRL60° N I i/ T 5 B IMR LY
JIS GAS MALE 60°CONE/BSPT MALE
e Eate 240 THREAD R~f DIMENSIONS
= PART NO. T1 T2 L1 L2 L s1
1ST-02 G1/8"X28 R1/8"X28 12 10 28 14
1ST-04 G1/4"X19 R1/4"X19 16 145 36.5 17
1ST-06 G3/8"X19 R3/8"X19 18 15 39 19
1ST-08 G1/2"X14 R1/2"X14 20 20 48 24
1ST-12 G3/4"X14 R3/4"X14 22 20 52 30
1ST-16 G1"X11 R1"X11 24 25.5 60.5 36
1ST-20 GL.1/4'X11 | R1.1/4"X11 27 26.5 66.5 46
1ST-24 G1.1/2'X11 | RL.1/2"X11 27 26.5 68.5 50
1ST-32 G2"X11 R2"X11 30 30 77 65
1ST4
45° A AR E IMRL60° M/ T B MR
45°J1S GAS MALE 60°CONE/BSPT MALE
=oe 1247 THREAD Rt DIMENSIONS
PART NO. Tl T2 L1 L2 s1
1ST4-02 G1/8"X28 R1/8"X28 19 17 11
1ST4-04 G1/4"X19 R1/4"X19 21.8 20 14
1ST4-06 G3/8"X19 R3/8"X19 24 22 16
1ST4-08 G1/2"X14 R1/2"X14 29.5 27 22
1ST4-12 G3/4"X14 R3/4"X14 32.8 30 27
1ST4-16 G1"X11 R1"X11 37 38 33
1ST4-20 G1.1/4"X11 R1.1/4"X11 435 40 41
1ST4-24 G1.1/2"X11 R1.1/2"X11 44.5 41 50
1ST4-32 G2"X11 R2 "X11 51 50 63

T

- 1‘-‘\\ », N NG
sk | g sk
BSP/BSPT Thread fitting ADAPTER
90° B A FE B IMBLI60° TNt /35 5 B JMBLL
90°J1S GAS MALE 60°CONE/BSPT MALE
ERte #8247 THREAD R~t DIMENSIONS
PART NO. T1 T L1 L2 S1
1ST9-02 G1/8'"X28 R1/8"X28 21.8 21 11
1ST9-04 G1/4"X19 R1/4"X19 26.3 25.5 14
1ST9-06 G3/8"X19 R3/8"X19 30 28.5 16
1579-08 G1/2"X14 R1/2"X14 37 35 22
1ST9-12 G3/4"X14 R3/4"X14 41.5 43.5 27
1ST9-16 G1"X11 R1"X11 475 50 33
1ST9-20 G1.1/4"X11 R1.1/4"X11 57 56.5 41
15ST9-24 G1.1/2"X11 R1.1/2"X11 61 62.5 48
1ST9-32 G2 "X11 R2"X11 65 75 63
B IMBLI60° 5
BSP MALE 60°SEAT
-] ¥847 THREAD R~t DIMENSIONS
PART NQ T1 T L1 L2 L s1
1B-02 G1/8" x28 G1/8"X28 11 11 23.5 14
1B-02-04 G1/8" X28 G1/4"X19 11 11 28 19
1B-04 G1/4" X19 G1/4"X19 11 11 31.5 19
1B-04-06 G1/4" X19 G3/8"X19 11 12 33.2 22
1B-04-08 G1/4" X19 G1/2"X14 11 14 36.7 27
1B-06 G3/8" X19 G3/8"X19 12 12 34.7 22
1B-06-08 G3/8"X19 G1/2"X14 12 14 38.2 27
1B-08 G1/2"X14 G1/2"X14 14 14 40.7 27
1B-08-10 G1/2" X14 G5/8"X14 14 175 43.2 30
1B-10 G5/8" X14 G5/8"X14 175 175 45.2 30
1B-10-12 G5/8" X14 G3/4"X14 17.5 16 45.2 32
1B-12 G3/4" X14 G3/4"X14 16 16 45.2 32
1B-12-16 G3/4" X14 G1"X11 16 19 489 41
1B-12-20 G3/4"X14 | G1.1/4"X11 16 20.5 57.4 50
1B-16 G1"X11 G1"Xx11 19 19 51.9 41
1B-16-20 G1"X11 G1.1/4"x11 19 20.5 60.4 50
1B-16-24 G1"X11 G1.1/2"X11 19 23 64.4 55
1B-20 G1.1/4"X11 G1.1/4"x11 20.5 20.5 61.4 50
1B-20-24 G1.1/4"X11 G1.1/2"x11 20.5 23 65.4 55
1B-24 G1.1/2"X11 | G1.1/2"X11 23 23 67.4 55
1B-24-32 G1.1/2"X11 G2 "X11 23 25.5 72.9 70
1B-32 G2"X11 G2 "X11 25.5 25.5 76.4 70
58

sk

£
ADAPTER

(3




S B S A 452 22 33
oL | shksL sk | Bk
ADAPTER BSP/BSPT Thread fitting BSP/BSPT Thread fitting ADAPTER
I2 90° T HISMEL60° N T . RENBL60°IME
90°B MALE 60°SEAT | BSP FEMALE 60° CONE
_{ 3 REEfge #8247 THREAD R~ DIMENSIONS . 1. ;:Z;E._Iftl\]% 24 THREAD R~F DIMENSIONS
N b — PART NO. T1 T2 L1 L2 S1 N : . T1 T2 L S1 S2
S 1B89-02 G1/8'X28 G1/8'X28 16.6 16.6 11 3B-04 G1/4"X19 GL/4°X19 26 19 19
PRt 1B9-04 G1/4"X19 GL/4"X19 278 278 14 st = 38-04-06 G1/4 X19 G3/8 X19 26 19 22
1B9-06 G3/8'X19 G3/8'X19 317 317 19 3B-04-08 gg/giig gé/ §'|x14 ;8-8 g g
18908 G1/2 X14 G1/2 X14 =L =L 2 gggg 08 G3/8"Xl9 Gl/2"§1i 232 22 27
189-10 G5/8 X14 G5/8 X14 39 39 22 3B:08_ Gl§2"X14 GljZ"Xl4 315 27 27
1B9-12 G3/4'X14 G3/4'X14 41.6 41.6 27 505D CL2"14 /a4 > T >
&5 7K 1B9-16 G1"X11 G1"X11 49.7 49.7 33 0 0 7K
o 1B9-20 G1.1/4"X11 | G1.1/4"X11 54.4 54.4 41 3810 G5/8 X14 G5/8 X14 28.6 30 30 e
2 i i = : : 3B-12 G3/4"X14 G3/4"X14 315 32 32 P
a 1B9-24 G1.1/2"X11 | G1.1/2"X11 53.7 53.7 48 3616 SR SR = a1 a1 -
’ 3B-20 GLI/4"X11 | GLI/4"X11 45 50 50 ’
3B-24 GL1/2"X11 | G1.1/2"X11 43.2 55 55
L . ° . |
L REIMRLIC0° /T E N IRL60°IM %%U?I\E%QXGOOW%’E/%ﬁﬁl\T%ZIOE
m BSP MALE 60°SEAT/B FEMALE 60°CONE L BSP MALE 60°SEAT/BSP MALE O-RING
4 =L i L&
T TS LI FRite 24 THREAD Rt DIMENSIONS : , FRRS $247 THREAD R DIMENSIONS
PART NQ 1 12 L1 L s1 s2 B . PART NO. T1 T2 L1 12 L s1
s s F2B-04 G1/4"X19 | G1/4"X19 11 36.6 19 19 "1 M- 1BG-02 G1/8"X28 | G1/8"X28 10 9.5 27 14
2B-04-06 | GI1/4"X19 | G3/8"X19 11 385 22 22 1BG-04 Gl/4 'X19 | Gl/4°X19 12 11 31 19
2B-04-08 G1/4"X19 G1/2"X14 11 42 27 27 51 1BG-04-06 Gl/4 "Xl9 G3/8 "Xl9 12 11.5 32 22
S B06.04 G3/8"X19 | GL/4"X10 5 383 % 19 1BG-06-04 G3/8"™X19 | G1/4"X19 135 11 32.5 22
2B-0608 | G3/8'X19 | Gl/2"X14 1 436 7 | o1 ' 1250008 gf;g e gig " = S L
2B-08 G1/2"X14 | G1/2"X14 14 46.1 27 27 1BC03.06 G127 X14 | 63/8°X19 16 116 36 7
2B-08-06 GLj2"X14 | G3/8"X19 14 43.5 21 22 1BG-08-12 G1/2"X14 | G3/4"X14 16 15.5 45.5 32
2B-08-12 Gl/2 X14 | G3/4 X14 14 48 32 32 1BG-10-08 G5/8™X14 | G1/2"X14 175 14 44,5 30
2B-12 G3/4"Xl4 G3/4"X14 16 50 32 32 1BG-12 G3/4"X14 | G3/4"X14 18.5 15 46 32
2B-12-08 G3/47X14 G1/27X14 16 48.6 32 27 1BG-12-08 G3/4"X14 G1/2"X14 18.5 14 45.5 32
2B-12-16 G3/4"X14 G1" X11 16 54.3 41 41 1BG-16 G1" X11 G1" X11 20.5 18 53 41
2B-16 G1" X11 G1" X11 19 57.3 41 41 1BG-16-12 G1" X11 G3/4"X14 20.5 15 52 41
1BG-20 G1.1/4"X11 | G1.1/4"X11 20.5 20 58.5 50
1BG-24 G1.1/2"X11 | G1.1/2"X11 23 22 62 55
= 2B9
S 1BG4-0G
90°ZE B HMBLI60° PR /25 B R IBLX60°5h 58 i e L
90°BSP MALE GOOSEAT/BSP FEMALE 60°CONE 45 gg& Egl\ﬂgéXGO W{E/%Eyl\m%gioﬁjﬁjﬁﬁ*I%
45°ELBOW BSP MALE 60°SAET/BSP MALE O-RING ADJUSTABLE STUD END
“ RS SR THREAD R DIMENSIONS R B4 THREAD 2T DIMENSIONS
PART NO. 1 ™ 11 L2 s1 $2 PART NO. T1 T2 L1 L2 S1 S2
| G | o | s | w5 | | . amc e
2B9-04 Gl/4"X19 Gl/4"Xl9 27.8 25.7 19 19 1864-040806 | GLA"X19 | G1/2"X14 555 36 55 57
2B9-06 G3/8"X19 G3/8"X19 317 29.6 22 22 1BG4-060G G3/8"X19 G3/8"X19 21 30 17 22
2B9-08 G1/2"X14 | G1/2"X14 37 33.8 27 27 1BG4-06-080G | G3/8"X19 | G1/2"X14 23.5 36 22 27
2B9-10 G5/8"X14 G5/8"X14 39 32.1 27 30 1BG4-080G G1/2"X14 G1/2"X14 27 36 22 27
Y YRD) G3/4"X14 | G3/4"X14 116 363 3 2 1BG4-120G G3/4"X14 | G3/4"X14 32 42 27 32
; - 1BG4-12-160G | G3/4"X14 G1" X11 32.5 44 33 41
2B9-20 G1.1/4"X11 | G1.1/4"X11 54.4 49.5 48 50 1BG4-200G G1.1/4"X11 | G1.1/4"X11 38.5 475 41 50
2B9-24 G1.1/2"X11 | G1.1/2"X11 53.7 49.9 48 55 1BG4-240G G1.1/2"'X11 | G1.1/2"X11 44 51.5 48 55

59 60



o E Sk | s Tk | &iE Rk

ADAPTER BSP/BSPT Thread fitting BSP/BSPT Thread fitting ADAPTER
1BG9-0G 1B-WD
90° LR EIMRAL60° N /X B IMELORZ B rl 1@ A 1 i HHIIMRL60° N /R E IMRSUR IR &
90°ELBOW BSP MALE 60°SAET/BSP MALE O-RING ADJUSTABLE STUD END | BSP MALE 60°SEAT/BSP MALE CAPTIVE SEAL
T2 1 e
= ERAE #2847 THREAD OFZE O-RING R~ DIMENSIONS m ; EaRts S84 THREAD R~ DIMENSIONS
PART NO. T1 T F i L1 L2 S1 s2 e PART NO. Tl T2 L2 L2 L S1
w2 1BG9-040G G1/4"X19 | G1/4"X19 0111 25 315 14 19 2k - 1B-02WD G1/8"X28 G1/8"X28 10 8 255 14
1BG9-04-060G | G1/4"X19 | G3/8"X19 0113 26.5 36.8 16 22 1B-04WD G1/4"X19 G1/4"X19 12 12 32 19
T 1BG9-060G G3/8"X19 | G3/8"X19 0113 28 36.8 16 22 21 1B-06WD G3/8"X19 G3/8"X19 13.5 12 34 22
1BG9-06-080G | G3/8"X19 | G1/2"X14 0115 31 432 22 27 1B-08WD G1/2"X14 G1/2"X14 16 14 43 27
1BG9-080G G1/2"X14 | G1/2"x14 0115 345 432 22 27 1B-12WD G3/4"X14 G3/4"X14 18.5 16 465 32
& A 1BG9-08-120G | G1/2"X14 G3/4"X14 0119 40 49.3 27 32 1B-16WD G1" X11 G1" X11 20.5 18 54.5 41 .
;T: K 1BG9-1206G G3/4"X14 | G3/4"X14 0119 40 49.3 2 32 1B-20WD GL1/4"X1l | GL.1/4"X11 20.5 20 58.5 50 jj(g
3 'HI;'( 1BG9-12-160G G3/4"X14 G1"X11 0217 45 53 33 41 1B-24WD G1.1/2"X11 GL.1/2"X11 23 22 63 55 -HR:DE
- 1BG9-160G Gl")'('ll G1"X11 0217 46 53 33 41 1B.32WD o2 "X11 G2 "X11 255 ) 6.5 5 g
1BG9-20-160G | GL1/4"X11| G1"X11 0217 50.5 58 41 41
1BG9-200G GL1/4"X11 | GL1/4"X11| 0222 515 58 41 50
1BG9-240G GL1/2"X11 | GL1/2"X11| 0224 58.5 63 48 55
1BT 1BT4
Ot fts o o e e
R IMRO0° P /558 B SR e e
BSP MALE 60°SEAT/BSPT MALE
=afte #4 THREAD Rt DIMENSIONS RS IBAX THREAD R DIMENSIONS
PART NO. T1 2 L1 L2 L s1 PART NO. m 2 L1 L2 St
1BT-02 G1/8"x28 | R1/8"X28 10 105 26 14 18T4-02 G1/8"X28 R1/8"X28 17 17 11
1BT-02-04 Gl/8"x28 | R1/4"x19 10 14.5 30.5 17 1BT4-04 G1/4"X19 R1/4"X19 20.3 21 14
1BT-04 Gl/4"Xl9 Rl/4 "X19 12 14.5 32 19 1BT4-04-06 Gl/4”X19 R3/8 "X19 20.5 23 16
1BT-04-02 G1/4"X19 R1/8"X28 12 105 28.5 19 1BT4-06 G3/8"X19 R3/8"X19 21 23 19
1BT-04-06 G1/4"X19 R3/8"X19 12 15 32 19 1BT4-06-04 G3/8"X19 R1/4"X19 22 21 16
1BT-06 G3/8"X19 R3/8"X19 13.5 15 35.5 22 1BT4-06-08 G3/8"X19 R1/2"X14 24 29.5 22
1BT-06-04 G3/8"X19 R1/4"X19 135 14.5 355 2 1BT4-08 G1/2"X14 R1/2"X14 26 30 24
1BT-06-08 G3/8"X19 R1/2"X14 13.5 19 425 24 1BT4-08-06 G1/2"X14 R3/8"X19 27 25 22
1BT-08 G1/2"X14 R1/2"X14 16 20 45 27 1BT4-08-12 G1/2"X14 R3/4"X14 28.5 30.5 27
1BT-08-06 G1/2"X14 R3/8"X19 16 15 40 27 1BT4-10-08 G5/8"X14 R1/2"X14 285 29.5 22
1BT-08-12 G1/2"X14 R3/4"X14 16 20 45 30 1BT4-10-12 G5/8"X14 R3/4"X14 29 35 27
1BT-10-08 G5/8"X14 R1/2"X14 17.5 20 465 30 1BT4-12 G3/4"X14 R3/4"X14 31 30.5 27
1BT-10-12 G5/8"X14 R3/4"X14 17.5 20 46.5 30 1BT4-12-08 G3/4"X14 R1/2"X14 31 30.5 27
1BT-12 G3/4"X14 R3/4"X14 18.5 20 48.5 32 1BT4-12-16 G3/4"X14 R1" X11 32,5 38 33
1BT-12-08 G3/4"X14 R1/2"X14 185 20 49.5 32 1BT4-16 G1" X11 R1" X11 35 38 36
1BT-12-16 G3/4"X14 R1" X11 18.5 255 53.5 36 1BT4-16-12 G1" X11 R3/4" X14 35 325 33
1BT-16 G1~ X11 R X11 205 25.5 58 41 1BT4-16-20 GI' X11 RL1/4"X11 385 43 41
1BT-16-12 G1" X11 R3/4"X14 20.5 20 53 Al 1BT4-20 G1.1/4"X11 R1.1/4"X11 385 43 41
1BT-16-20 G1" X11 R1.1/4"X11 205 26.5 60 46 1BT420.16 GL1/4"X11 R1" Y11 385 5 i
1BT-20 GL.1/4"X11 | RL1/4"X11 26 » 65 50 1BT4-20-24 G1.1/4"X11 R1.1/2"X11 415 475 48
1BT-20-16 Gl.l/4::Xll R1" >'<'11 205 255 61 50 1BTa24 112X RL1/2"X11 P pE pE
1BT-20-24 Gl.l/4"Xll R1,1/2”x11 205 26.5 62 50 5742490 L2 RLLA"X11 " 55 "
18124 GL1j2 X11 | RL1j2 X1l 29 2 e 35 1BT4-24-32 GL.1/2"X11 R2" X11 51 60.5 63
1BT-24-20 GL1/2"X11 | RL.1/4"X11 23 265 64.5 55 - -
- L 1BT4-32 G2" X11 R2" X11 51 55.5 63
1BT-24-32 GL.1/2"X11 R2" X11 23 30 70 65
- - 1BT4-32-24 G2" X11 R1.1/2"X11 51 525 63
1BT-32 G2 "X11 R2" X11 255 30 725 70
1BT-32-24 G2 "X11 R1.1/2"X11 255 26.5 68.5 70

61 62



1Sk | SEElEEEL whlEEsL | iEREE L
ADAPTER BSP/BSPT Thread fitting BSP/BSPT Thread fitting ADAPTER
1BT9 4T
90° R B IMRLI60° A T/ B FMRLL L B IMRSUE L
90°BSP MALE 60°SEAT/BSPT MALE L] BSPT MALE PLUG
TE-\H‘?_ -
: [ =t 1247 THREAD R~+ DIMENSIONS i I( Faits BogT Rt DIMENSIONS
J . PART NO T T2 1 2 s1 | 4 PART NO. THREAD T1 L1 L S1
) T 1BT9-02 G1/8'X28 R1/8"X28 2 2 14 - 4102 R1/8" X28 10 16 12
) [—~ 1BT9-02-04 G1/8'X28 R1/4"X19 223 255 14 4104 R1/4_X19 14.5 20 17
" }é 1BT9-04 G1/4'X19 R1/4"X19 245 25.5 14 n_/ I 4106 R3/8_X19 1> 21 19
1BT9-04-02 G1/4'X19 R1/8"X28 25 235 14 :Iﬁi Eyi,,ﬁ: ;8 g gé
04- 1/4'X1 R3/8'X1 2 28. 2
& 7K 121382 5 g3§8‘x13 Rzg'mz 2755 3?) 2 ig AT1o RLL 25 305 30 E
5 X : s : : 4720 R1.1/4"X11 265 385 46 B
2 i 1BT9-06-04 G3/8' X19 RI/A"X19 275 26.5 17 T4 RLL/Z'X1L os - = IE
) 1BT9-06-08 G3/8'X19 R1/2'X14 31 36 2 T3 L1 2 2 = )
1BT9-08 G1/2'X14 R1/2'X14 345 36 2
1BT9-08-06 G1/2'X14 R3/8"X19 345 325 2
1BT9-08-12 G1/2'X14 R3/4"X14 375 435 27
1BT9-10-08 G5/8'X14 R1/2'X14 35 36 2 5B
1BT9-10-12 G5/8'X14 R3/4"X14 39 435 27 S BGOSR B R
1BT9-12 G3/4'X14 R3/4"X14 40 435 27 BSP MALE 60° SEAT/BSP FEMALE
1BT9-12-08 G3/4'X14 R1/2"X14 40 39.5 27 1SO1179
1BT9-12-16 G3/4'X14 R1"X11 435 50 33 " .
1BT9-16 G1"X11 R1"X11 46 50 33 Ly @S PART #841 THREAD Rt DIMENSIONS
1BT9-16-12 G1"X11 R3/4'X14 46 475 33 e T J SBNOOZ’ - Gl/;l”X28 (31/;2"X19 ;11 ;22 i;
1BT9-16-20 61" X11 Rl.l/4::Xll 50.5 56.5 41 | {E ; 2B 0008 ST T I = >
1BT9-20 GLU4"XLL_ [ R11/4"X1 52 59 41 ) 501 VAT VAT 5 = B
1BT9-20-16 Gl.l/lfl X11 RL"XLL 52 56.5 41 50402 LA™ Ua"as 5 85 T
1BT9-20-24 GLLA™XIL | RLL2'X11 54,5 62.5 48 B.02.05 C1/4"X15 38" X1 > % >
1BT9-24 GL12"X11 | RL1/2"XI1 57.5 62.5 48 30408 G1/4"X19 1/2"x14 O a1 =
1BT9-24-20 GL12"X11 | RL1/4"X11 575 61 48 506 53/87X1 53/87X19 35 s >
1B79-24-32 G1.1/2"X11 R2"X11 65 75 63 50604 G3/8"X19 GL/4"X19 e T >
1BT9-32 G2"X11 R2"X11 67 75 63 5B-06-08 G3/8"X19 G1/2"X14 135 425 27
5B-08 G1/2"X14 G1/2"X14 16 45 27
5B-08-04 G1/2"X14 G1/4"X19 16 26 27
4B 5B-08-06 G1/2"X14 G3/8"X19 16 40 27
RESMRB0 SRR EA S R EHHL 58-08-12 GL27X14 | G3/4"X14 16 46 36
BSP MALE DOUBLE USE FOR 60°SEAT OR BONDED SEAL PLUG 58-12 G3/4°X14 | G3/4"X14 185 48 36
5B-12-08 G3/4"X14 G1/2"X14 185 475 32
— RS 2Tl R DIMENSIONS 5B-12-16 G3/4"X14 G1" x11 18.5 53.5 41
"—;,17, PART NO. THREAD T1 L1 L s1 5B-12-20 G3/4"X14 | G1.1/4"X11 18.5 54.5 50
— 4B-02 G1/8"X28 10 16 14 5B-16 G1" X11 G1" X11 205 55.5 41
- 4 A4 4B-04 G1/4"X19 12 18 19 5B-16-12 G1" X11 G3/4"X14 205 50.5 41
ﬂ 1506 3/8"X19 135 1S > 5B-16-20 G1" X11 GL.1/4"X11 205 56.5 50
; 5B-20 GL1/A"X11 | GLI1/4"X11 205 55 50
=l 4808 2;/2 .,iii 10 20 2l 5B-20-16 G1.1/4"X11 G1" X11 20.5 52 50
4810 / _ 175 215 30 5B-20-24 GL1/A"X11 | GL1/2"X11 205 58.5 55
48-12 G3/4 'X14 18.5 295 32 5B24 GL1/2"X11 | GL1/2"X11 23 61 55
4B-16 G1"X11 205 34 41 58-24-16 GL12'X11 | GI" X1l 23 435 55
4B-20 G1.1/4"X11 20.5 31.5 50 5B-24-20 G1.1/2"X11 | G1.1/4"X11 23 59 55
4B-24 G1.1/2"X11 23 40 55 5B-24-32 G1.1/2"X11 G2" X11 23 64 70
4B-32 G2"X11 25.5 435 70 5B-32 G2" X11 G2" X11 26 63 70

63 64



1Sk | SEElEEEL whlEEsL | iEREE L
ADAPTER BSP/BSPT Thread fitting BSP/BSPT Thread fitting ADAPTER
5B-WD 5T
REIMEL BT /R ERIRY T B IMALY T E IR
BSP MALE CAPTIVE SEAL/BSP FEMALE BSPT MALE /BSPT FEMALE
1SO 1179
3 Eofre #2847 THREAD R~ DIMENSIONS
=op2  pART #2450 THREAD R~f DIMENSIONS —_ PART NO. T T2 L1 L S1
} NO. 1 - 1 2 o1 ___“ij 5T-02-04 R1/8 ::X28 Rcl/4 ::x19 10 325 19
| Zoom | o [awm [ | s | e S
ob02-0oWD CL/8" x5 G3/8"x19 ° 35 2 S 5T-04-06 R1/4"X19 Rc3/8"X19 145 38 2
5B-04-02WD G1/4"X19 G1/8"X28 12 315 19 ‘ - 10604 R3/8 X1 RCL/4"X15 15’ 3 5
5B-04-06WD G1/4"X19 G3/8"X19 12 37 2 - -
& 7K 5B-04-08WD G1/4"X19 G1/2"X14 12 43 27 >T-06 R3/8 ”x19 Re3/ 8,,X19 15 38.5 22 7K &
s 5B-06-02WD G3/8"X19 G1/8"X28 12 35.5 22 >T-06:08 R3/8 X19 Relj2_X14 L a4 21 x
< 5T-08-04 R1/2"X14 Rcl1/4"X19 20 30 24 <
1) 5B-06-04WD G3/8"X19 G1/4"X19 12 375 2 “T03.00 R1/2"X14 RC3/87X19 0 20 4 1)
5B-06-08WD G3/8"X19 G1/2"X14 12 435 27 =T.08 R1/2"X14 Rc1/2"X14 20 29 T
5B-08-04WD G1/2"X14 G1/4"X19 14 38 27 510312 RL/2"X14 RC3/4"X14 20 51 B
5B-08-06WD G1/2"X14 G3/8"X19 14 41 27 571206 R3/4"X14 RC3/8"X19 20 31 30
5B-08-12WD G1/2"X14 G3/4"X14 14 46 36 57-12-08 R3/4 "X14 Rcl/2"X14 20 31 30
5B-12-08WD G3/4"X14 G1/2"X14 16 475 32 5T-12 R3/4 "X14 Rc3/4"X14 20 51 3%
5B-12-16WD G3/4"X14 GI" X11 16 535 4 5T-12-16 R3/4 "X14 Rcl" X11 20 56.5 41
5B-12-20WD G3/4"X14 Gl.1/4"X11 16 54.5 50 57-16-08 R1" X11 Rc1/2"X14 25.5 37 36
5B-16-12WD Gl" X11 G3/4"X14 18 50.5 41 5T-16-12 R1"X11 Rc3/4"X14 25.5 37 36
5B-16-20WD G1" X11 G1.1/4"X11 18 56.5 50 5T-16 R1"X11 Rcl1"X11 25.5 60 41
5B-20-16WD G1.1/4"X11 G1" X11 20 575 50 5T-16-20 R1"X11 Rcl.1/4" X11 25.5 64 50
5B-20-24WD G1.1/4"X11 G1.1/2"X11 20 59.5 55 5T-20-12 R1.1/4"X11 Rc3/4" X14 26.5 38 46
5B-20-32WD G1.1/4"X11 G2" X11 20 64 70 5T-20-16 R1.1/4"X11 Rc1"Xx11 26.5 38 46
5B-24-16WD G1.1/2"X11 G1" X11 22 59.5 55 5T-20 R1.1/4"X11 Rcl.1/4"X11 26.5 64.5 50
5B-24-20WD G1.1/2"X11 G1.1/4"X11 22 60 55 5T-24-16 R1.1/2"X11 Rcl" X11 26.5 41 50
58-24-3WD G1.1/2"X11 62" X11 2 6 70 5T-24-20 R1.1/2"X11 Rcl.1/4" X11 26.5 41 50
5T-32-20 R2"X11 Rcl.1/4" X11 30 45 65
5T-32-24 R2"X11 Rcl.1/2" X11 30 45 65
1BW
REIMEZCONER AT AASREL/IFEE
BSP MALE DOUBLE USE FOR 60°SEAT OR BONDED SEAL/BUTT-WELD TUBE 2WB
L = IR E /B NIRL60°M
—glﬂl-: RS 2 5Tl EFHEREDL 5T DIMENSIONS BUTT-WELD TUBE/B FEMALE 60°CONE
T A PART NO. | THREADT1 TUBE 0.D D1 1 2 L s1
- 1BW-04-10 | G1/4"X19 10 12 7 25 19 =ome ® o Tl E7EE DL R~ DIMENSIONS
1BW-06-14 | G3/8"X19 14 135 8 29.5 22 PART NO. THREAD T1 TUBEO.D D1 L s1
= 1BW-08-18 | G1/2"X14 18 16 10 36 27 JWB-10-04 G1/4"X19 10 35 )
1BW-12-22 | G3/4 ::x14 22 18.5 10 39.5 32 SWB12.06 3/8"X10 " 0 >
1BW-12-28 | G3/4"X14 28 18.5 12 41.5 32 WEI508 12X e = -
1BW-16-28 | G1" X11 28 20.5 12 455 41
1BW-16-30 | G1" X11 30 20.5 12 455 | 41 2WB-22-08 G1/2"X14 22 50 27
1BW-20-34 | G1.1/4"X11 34 20.5 14 49.5 50 2WB-22-12 G3/4"X14 22 62 32
1BW-20-36 | G1.1/4"X11 36 20.5 14 49,5 50 2WB-28-16 G1" X11 28 65 41
1BW-20-42 | G1.1/4"X11 42 20.5 16 51.5 50 2WB-34-20 GL.1/4"X11 34 68 50
1BW-24-36 | G1.1/2"X11 36 23 14 52 55 SWB42-20 GL1/4"X11 ) =05 =0
1BW-24-42 | G1.1/2"X11 42 23 16 54 55 SWB5024 GL1/2'X11 = ey o
1BW-24-50 | G1.1/2"X11 50 23 16 54 55
65 66



Sz

BSP/BSPT Thread fitting

i % sk

ADAPTER

SemlizSk

BSP/BSPT Thread fitting

o iE 3%k

ADAPTER

REENBRN EEIMBL60° R T A i FA A & BB 3/ HISAEMB RO B £ 511S0 11926-3
BSPT FEMALE STRAIGHT FITTINB MALE DOUBLE USE FOR 60°SEAT OR BONDE SEAL/SAE O-RING BOSS L-SERIES IS0 11926-3
i |
11\i _i ﬁ i_ i[Ta =oee 847 THREAD R~ DIMENSIONS ' _'k_“LLE EEge 247 THREAD R~ DIMENSIONS
/ PART NO. T1 P L s1 e PART NO. T1 ) L1 L2 L s1
\ ] 7T-02 Rc1/8"X28 Rc1/8"X28 20 14 - [l s 1BO-04 G1/4"X19 7/16"X20UNF 12 9.1 29.5 19
&l - - 1B0O-04-05 G1/4"X19 1/2" X20UNF 12 9.1 295 19
L 7T-02-04 Rc1/8"X2 Rcl1/4"X1 1 . - -
02:0 ci/ _ 8 ci/ _ 9 30 9 = 1B0-04-06 | G1/4"X19 | 9/16"X18UNF 12 9.9 32 19
7T-04 Rc1/47X19 Rcl/47X19 30 19 1B0-04-08 G1/4"X19 | 3/4" X16UNF 12 11.1 31 22
7T-04-06 Rc1/4"X19 Rc3/8"X19 30 22 1B0-06 G3/8"X19 | 9/16"X18UNF 13.5 9.9 33.5 22
y " n
5 K TT-04-08 Rc1/4"X19 Rl/2"X14 20 27 1B0O-06-04 G3/8"X19 | 7/16"X20UNF 13.5 9.1 33 22 AE
5 p— 3/"X1S 3/ o~ = 1B0-06-08 G3/8"X19 | 3/4"X16UNF 135 11.1 36 24 B
< i _ c3/ c3/ 1B0O-06-10 G3/8"X19 7/8" X14UNF 13.5 12.7 39.5 27 e
)| 7T-06-08 Rc3/8"X19 Rc1/2"X14 40 27 1BO-08 G1/2"X14 | 3/4" X16UNF 16 11.1 38 27 A
7T-06-12 Rc3/8""X19 Rc3/4"X14 37 36 1B0-08-06 G1/2"X14 | 9/16"X18UNF 16 9.9 36 27
" n
708 Re1/2'X14 RC1/2"X14 20 = 1B0-08-10 Gl/2"X14 7/8 XL4UNF 16 12.7 42 27
- - 1BO-08-12 G1/2"X14 | 1.1/16"X12UN 16 15.1 425 36
71-08-12 Rel/27X14 Re3/47X14 42 36 1BO-10 G5/8'X14 | 7/8"X14UNF 175 127 435 30
7T-12 Rc3/4"X14 Rc3/4"X14 'y} 36 1B0O-10-08 G5/8"X14 | 3/4"X16UNF 175 11.1 415 30
7T-12-16 Rc3/4"X14 Rc1"X11 50 41 1BO-10-12 G5/8"X14 | 1.1/16"X12UN 17.5 15.1 47 34
- - 1B0O-12 G3/4"X14 | 1.1/16"X12UN 18.5 15.1 48 34
7T-1 Rcl"X11 Rc1"X11 50 41 . a
6 = < 1B0-12-08 | G3/4"X14 | 3/4"X16UNF 185 111 | 405 2
7T-16-20 Rcl X11 Rcl.1/47X11 52 50 1B0-12-10 G3/4"X14 | 7/8"X14UNF 185 12.7 455 32
7T-20 Rcl.1/4" X11 Rcl.1/4" X11 55 50 1BO-12-14 G3/4"X14 | 1.3/16"X12UN 185 15.1 48 38
p—— XL XL o - 1BO-16 G1"X11 | 1.5/16"X12UN 20.5 15.1 52.6 41
- ¢ ¢ 1B0O-16-10 G1"X11 7/8"X14UNF 20.5 12.7 495 41
1BO-16-12 G1"X11 | 1.1/16"X12UN 20.5 15.1 52 41
1BO-16-14 G1"X11 | 1.3/16"X12UN 20.5 15.1 52 41
1B0-16-20 G1"X11 1.5/8"X12UN 20.5 15.1 54.7 50
1BH 1B0-20 G1.1/4"X11 | 1.5/8"X12UN 20.5 15.1 54.7 50
EEIMEME0° N A BHEAAS BT /ABIIMELIZ RFIISO 6149-3 1B0-20-16 | G1.1/4"X11 | 1.5/16"X12UN 20.5 15.1 54.7 50
BSP MALE DOUBLE FOR 60° SEAT OR BONDED SEAL /METRIC MALE L-SERIES 1BO-24 G1.1/2"X11 | 1.7/8"X12UN 23 15.1 57 55
1SO 6149-3
ERAe 1247 THREAD R~ DIMENSIONS
L PART NO. E F L1 L2 s1 L 9B
L, L 1BH-02-1 G1/8"X28 M10X1 - .
=y 0210 | G/§ 10 9.5 | 2 S PIRLR60°SN S K
e 1BH-02-12 | G1/87X28 M12X1.5 10 11 17 28 L BSPT FEMALE 60°CONE PLUG
- 4 - 1BH-04-12 G1/4"X19 M12X1.5 12 11 19 30
1BH-04-14 Gl/4"Xl9 M14X15 P 11 19 315 ) ;EET{-?\I% #2247 THREAD R~ DIMENSIONS
ol 1BH-04-16 G1/4"X19 M16X1.5 12 12.5 22 31.5 ' m t Sl
m : 9B-02 G1/8" X28 11.9 14
1BH-06-14 | G3/8"X19 M14X1.5 135 1 ” 35 = g
1BH-06-16 | G3/8"X19 M16X1.5 135 115 22 33 98-04 6L/ 4" X19 151 19
1BH-06-18 | G3/8"X19 M18X1.5 135 125 24 365 9B-06 G3/ 8" X139 158 2
1BH-08-18 G1/2"X14 M18X1.5 16 12.5 27 41 98-08 Gl/2" X14 186 27
1BH-0822 | G1/2"X14 | M22X15 16 13 7 | ais 98-10 G5/8_x14 171 30
1BH-10-22 G5/8"X14 M22X1.5 17.5 13 30 43 98-12 G3/4” X14 19 32
1BH-1222 | G3/4"X14 | M22X15 185 13 i 45 9B-16 61 Xl 20.5 41
227 | G3/4X1s 70 l5s 6 - 1os 9B-20 Gl.l/4” X11 25.5 50
B 1627 ol X1l ) 05 o i 20 9B-24 G1.1/2" X11 246 55
1BH-16-33 G1" X11 M33X2 205 16 41 495
1BH-20-42 | Gl.1/4"X11 M42X2 205 16 50 515
1BH-24-48 | G1.1/2"X11 M48X2 23 175 55 555

67 68



62
Ll
=
o
<
(=)
<<

7K
#
2
pa

o iE 3%k

ADAPTER

SemlizSk

BSP/BSPT Thread fitting

69

1BH4-0G

45°HEIMENE0° AN BIHEAESBREE /AHIMELE RIS 6149-3

45°BSP MALE DOUBLE FOR 60° SEAT ORBONDED SEAL /METRIC MALE L-SERIES 1SO 6149-3

Emits ¥240 THREAD R~ DIMENSIONS
PART NO. 1 2 L1 L2 s1 2
1BH4-02-100G | G1/8"X28 M10X1 17 235 11 14
1BH4-02-120G | G1/8"X28 M12X1.5 17 275 11 17
1BH4-04-120G | G1/4"X19 M12X1.5 20.3 28.3 14 17
1BH4-04-140G | G1/4"X19 M14X1.5 20.3 28.3 14 19
1BH4-04-160G | G1/4"X19 M16X1.5 20.8 29.3 16 22
1BH4-06-140G | G3/8"X19 M14X1.5 223 28.3 16 19
1BH4-06-160G G3/8"X19 M16X1.5 22.3 29.3 16 22
1BH4-06-180G | G3/8"X19 M18X1.5 23 31 19 24
1BH4-08-180G | G1/2"X14 M18X1.5 27.3 333 22 24
1BH4-08-220G | G1/2"X14 M22X1.5 27.3 333 22 27
1BH4-10-220G | G5/8"X14 M22X1.5 27.8 333 22 27
1BH4-12-220G G3/4"X14 M22X1.5 31 345 27 27
1BH4-12-270G | G3/4"X14 M27X2 31 39.5 27 32
1BH4-16-270G GI1" X11 M27X2 345 40.5 33 32
1BH4-16-330G G1" X11 M33X2 345 41 33 41
1BH4-20-420G | G1.1/4"X11 M42X2 39 455 41 50
1BH4-24-480G | G1.1/2"X11 M48X2 44 49.5 48 55
1BH9-0G
90° R EIMELG0° AN NAMEALAESRRE /AFIIMESERTISO 6149-3
90°BSP MALE DOUBLE FOR60° SEAT ORBONDED SEAL /METRIC MALE L-SERIES
e 1ISO 6149-3
i =ope #840 THREAD R~ DIMENSIONS
w2 PART NO. T1 1p) L1 L2 s1 s2
T= QF 1BH9-02-100G | G1/8"X28 M10X1 20 26.5 11 14
) r—ﬂé 1BH9-02-120G | G1/8"X28 M12X1.5 20 30.5 11 17
—— 1BH9-04-120G | G1/4"X19 M12X1.5 24.5 32 14 17
1BH9-04-140G | G1/4"X19 M14X1.5 24.5 325 14 19
1BH9-04-160G | G1/4"X19 M16X1.5 26.5 345 16 22
1BH9-06-140G | G3/8"X19 M14X1.5 275 34 16 19
1BH9-06-160G | G3/8"X19 M16X1.5 275 34.8 16 22
1BH9-06-180G | G3/8"X19 M18X1.5 28.5 37 19 24
1BH9-08-180G | G1/2"X14 M18X1.5 345 39.5 22 24
1BH9-08-220G | G1/2"X14 M22X1.5 345 40.2 22 27
1BH9-10-220G | G5/8"X14 M22X1.5 35 40.2 22 27
1BH9-12-220G | G3/4"X14 M22X1.5 40 435 27 27
1BH9-12-270G | G3/4"X14 M27X2 40 485 27 32
1BH9-16-270G GI1" X11 M27X2 46 52 33 32
1BH9-16-330G G1" X11 M33X2 46 525 33 41
1BH9-20-420G | Gl.1/4"X11 M42X2 50.5 57.5 41 50
1BH9-24-480G | GL.1/2"X11 M48X2 57.5 62.5 48 55

Tl

Sz

i % sk

BSP/BSPT Thread fitting ADAPTER
2BJ
HEIMENG0°RNHER AN AR E A A G BREH/EZHJICRIBNT4 NE
BSP MALE DOUBLE USE FOR 60°SEAT ORBONDED SEAL/JIC FEMALE 74°SEAT
EEfe #8457 THREAD R~ DIMENSIONS
PART NO. T1 iy L1 L s1 )
2BJ-02-04 G1/8"X28 7/16"X20 10 24 14 15
2BJ-02-06 G1/8"X28 9/16"X18 10 24.5 14 19
2BJ-04 G1/4"X19 7/16"X20 12 26 19 15
2BJ-04-05 G1/4"X19 1/2"X20 12 26.5 19 17
2BJ-04-06 G1/4"X19 9/16"X18 12 27 19 19
2BJ-04-08 G1/4"X19 3/4"X16 12 29 19 24
2BJ-06 G3/8"X19 9/16"X18 135 30.5 22 19
2BJ-06-08 G3/8"X19 3/4"X16 13.5 32.5 22 24
2BJ-06-10 G3/8"X19 7/8"X14 13.5 33 22 27
2BJ-08 G1/2"X14 3/4"X16 16 36 27 24
2BJ-08-06 G1/2"X14 9/16"X18 16 35 27 19
2BJ-08-10 G1/2"X14 7/8"X14 16 36.5 27 27
2BJ-10 G5/8"X14 7/8"X14 17.5 37.5 30 27
2BJ-12 G3/4"X14 1.1/16"X12 18.5 42 32 32
2BJ-12-08 G3/4"X14 3/4"X16 18.5 40 32 24
2BJ-12-10 G3/4"X14 7/8"X14 18.5 41 32 27
2BJ-12-16 G3/4"X14 1.5/16"X12 18.5 42 32 41
2BJ-16 G1" X11 1.5/16"X12 19 46.5 41 41
2BJ-16-20 G1" X11 1.5/8"X12 20.5 50 41 50
2BJ-20 G1.1/4"X11 1.5/8"X12 20.5 52 50 50
2BJ-20-24 G1.1/4"X11 1.7/8"X12 20.5 53.5 50 55
2BJ-24 G1.1/2"X11 1.7/8"X12 23 53.5 55 55
2BJ-32 G2" X11 2.1/2"X12 25.5 57.5 70 75
2BJ-WD
REIMBLUR BT/ HIIICRIRLT4° N
BSP MALE CAPTIVE SEAL/JIC FEMALE 74°SEAT
EEfs 1247 THREAD R~ DIMENSIONS
PART NO. Tl T2 L1 L S1 s2
2BJ-02-04WD G1/8" X28 7/16" X20 8 23.5 14 15
2BJ-04-05WD G1/4" X19 1/2" X20 12 28.5 19 17
2BJ-04-06WD G1/4" X19 9/16" X18 12 27 19 19
2BJ-04-08WD G1/4" X19 3/4" X16 12 29 19 24
2BJ-04WD G1/4" X19 7/16" X20 12 28 19 15
2BJ-06-08WD G3/8" X19 3/4" X16 135 32,5 22 24
2BJ-06WD G3/8" X19 9/16" X18 135 30.5 22 19
2BJ-08-06WD G1/2" X14 9/16" X18 16 35 27 19
2BJ-08-10WD G1/2" X14 7/8" X14 16 36.5 27 27
2BJ-08WD G1/2" X14 3/4" X16 16 36 27 24
2BJ-12-16WD G3/4" X14 1.5/16" X12 18.5 42 32 41
2BJ-12WD G3/4" X14 1.1/16" X12 18.5 42 32 32
2BJ-16WD G1"X11 1.5/16" X12 19 46.5 41 41
2BJ-20-16WD | G1.1/4"X11 | 1.5/16" X12 20 50.5 50 41
2BJ-20WD G1.1/4" x11 1.5/8" X12 20 54.5 50 50
2BJ-24WD G1.1/2" x11 1.7/8" X12 23 52.5 55 55
70

sk

£
ADAPTER

i
(3




o E Sk | s Tk | &iE Rk

ADAPTER BSP/BSPT Thread fitting BSP/BSPT Thread fitting ADAPTER
1BN AB
HEIMRNE0° RN A iR E A A SRR/ 6 E MR REIMRALO0° N =8
) BSP MALE DOUBLE USE FOR 60°SEAT OR BONDED SEAL/NPT MALE 2 BSP MALE 60° SEAT TEE
- FRtS BREL THREAD R< DIMENSIONS RS #8247 THREAD Rt DIMENSIONS
. PART NO. T1 T L1 L2 L s1 y PART NO. Tl T2 T3 L1 L2 L3 S1
. _FL__'I’ 1BN-02 Gl/8"x28 | z1/8"X27 10 10.1 24 | 14 TP = AB-02 G1/8'x28 | G1/8'x28 | G1/8'x28 | 166 | 166 | 166 | 11
| i 1BN-02-04 | G1/8"X28 | Z71/4"X18 10 14.6 28.9 19 i —J 1 AB-04 G1/4'X19 | G1/4'X19 | G1/4"'X19 | 27.8 2718 | 278 | 19
L, . 1BN-04 G1/4"X19 | Z1/4"X18 11 14.6 33.4 19 L2 - ﬁg:gg gigﬁz gigii gigﬁi 3317.7 3317.7 3;7.7 §§
1BN-04-02 | G1/4"X19 | z1/8"x27 11 10.1 28.9 19 - - .
1BN-04-06 | G1/4"X19 | z3/8"X18 11 146 33.6 19 ﬁs_ig L 43199 43199 43199 g
5 7K 1BN-06 G3/8"X19 | Z73/8"X18 12 14.6 31 | 22 - CIA A | GIAXIA | G314 ) ) ' KE
E i i AB-16 G1"X11 | G1'X1l | G1"xil | 49.7 497 | 497 | 41 s
S 1BN-06-04 | G3/8"X19 | z1/4"x18 12 146 35.1 22 AB-20 | Gl.1/4"x11| GL.1/4'X11 | GL.1/4'X11 | 544 544 | 544 | 48 e
) 1BN-06-08 | G3/8"X19 | z1/2"X14 12 194 39.3 22 AB-24 | GL1/2"X11| GL.1/2"X11 | GL1/2'X11 | 53.7 53.7 | 537 | 48 -
1BN-08 G1/2"X14 | z1/2"X14 14 19.4 434 27
1BN-08-06 | G1/2"X14 | z3/8"X18 14 146 38.6 27
1BN-08-12 | G1/2"X14 | z3/4"X14 14 194 439 32
1BN-12 G3/4"X14 | z3/4"X14 16 19.4 459 32 BB
1BN-12-08 | G3/4"X14 | z1/2"X14 16 194 45.9 32 HEIMBL B E RSB EIMES S L =8
1BN-12-16 G3/4"X14 Z1" X11.5 16 24.3 50.8 36 1= BSP MALE/BSP FEMALE/BSP MALE BRANCH TEE
1BN-16 GI"X11 | Zz1" X115 19 243 54.5 41 —
1BN-16-12 Gl"X11 | z3/4"x14 19 243 49.6 41 " Pt S UL THREAD R+ DIMENSIONS
’ ] PART NO. 1 T 3 L1 L2 L3 s1 s2
3 '-'—'"J—l‘“ﬂ-‘ e BB02 | G1/8"x28| G1/8"Xx28 | G1/8"x28 | 166 | 166 | 179 | 11 | 14
e BB-04 | G1/4"X19| G1/4"Xx19 | G1/a"x19 | 278 | 278 | 257 19 | 19
1BN9 BB-06 | G3/8"X19| G3/8"X19 | G3/8"x19 | 317 | 317 | 206 | 27 | 22

90°Z H ESMRI60° N HEE /7t B IMBLL
90°ELBOW BSP MALE 60°SEAT/NPT MALE

BB-08 G1/2"X14| G1/2"X14 | G1/2"X14 37 37 33.8 27 27
BB-10 G5/8"X14 | G5/8"X14 | G5/8"X14 39 39 321 27 30

o s AR ¥4 THREAD 2 < DIMENSIONS BB-12 G3/4"X14 | G3/4"X14 | G3/4"X14 | 416 | 416 | 363 | 33 32
N | o BB-16 GI"X11 | GI'X11 | GI"X11 | 49.7 | 49.7 | 427 | 41 41
’ T1 T2 L1 L2 S1
_J‘ — BB-20 | G1.1/4"X11| G1.1/4"X11 |G1.1/4"X11 | 54.4 | 54.4 | 60 48 50
—|_ 1BN9-04 G1/4"X19 71/4"X18 245 25.5 14
T I—E/ 1BN9-04-02 GL/4"X19 | z1/8"X27 245 235 14
L1 \& n n CB
1BN9-06 G3/8"X19 73/8"X18 28.5 31 19
- - RHIMBLE0°AH/REIMRY 60°METT =B
1BN9-06-04 G3/8"X19 Z1/4"X18 27.5 26.5 16 - B MALE 60°SEAT/B FEMALE 60°CONE RUN TEE
1BN9-06-08 G3/8"X19 71/2"X14 31 36.5 22 - 82 THREAD R DIMENSIONS
1BN9-06-12 G3/8" X19 73/4"X14 345 44 27 PART NO. T1 T2 T3 L1 L2 L3 | s1 | s
- ., CB-02 G1/8"X28 | G1/8"X28 | G1/8"X28 | 16.6 166 | 179 | 11 14
1BN3-08 G1/27X14 Z1/27X14 34.5 315 22 CB-04 G1/4"X19 G1/4"X19 | G1/4"X19 27.8 27.8 25.7 19 19
1BN9-08-06 G1/2"X14 73/8"X18 34.5 33 22 CB-06 G3/8"X19 | G3/8"X19 | G3/8"X19 317 317 | 29.6 27 22
" " CB-08 G1/2"X14 G1/2"X14 | G1/2"X14 37 37 33.8 27 27
1BN9-12 G3/4" X14 73/4"X14 38 435 27
9 / / CB-10 G5/8"X14 G5/8"X14 | G5/8"X14 39 39 321 27 30
1BN9-12-08 G3/4"X14 71/2"X14 39 40 27 CB-12 G3/4"X14 | G3/4"X14 | G3/4"X14 41.6 416 | 363 33 32
1BN9-12-16 63/4" X14 71"X11.5 43 50 33 CB-16 G1" x11 G1" X11 G1" x11 49.7 49.7 42.7 41 41
CB-20 G1.1/4"X11 | G1.1/4"X11|G1.1/4"X11 544 54.4 49.5 48 50
1BN9-16 G1"X11 71"X11.5 46 50 33
1BN9-16-12 G1"X11 73/4"X14 46 46.5 33

71 72



st $ R 452 N 3=t 3 3
gL | mhss ek | Bk
ADAPTER BSP/BSPT Thread fitting JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING ADAPTER
T IMENC0 N/ REIMENOR B AR RELZ =18 EHIORFSHMELIOF B F | & £
) BSP MALE 60°SEAT/BSP MALE O-RING ADJUSTABLE STUD END RUN TEE ORFS MALE O-RING
L
bke #2457 THREAD R~ DIMENSIONS -
[ =] PART| #2457 THREAD Rt DIMENSIONS o e /;‘;\u;TﬁN’g - - — -~ ! EE (g %zi
NO. :
Ti Tf Tﬁ L1 | L2 L3 51 2 % | 1F-04 | 9/16"X18UNF | 9/16" X18UNF | 10 10 | 275 17 37
ABBG-040G G1/4"X19 | G1/4"X19 | G1/4"X19 | 24.5| 245| 313 | 14 19 N | . 1706 | 11/16"X16UN | 1L/16"X16UN | 1L 1 3 19 = 63
ABBG-04-04-060G | G1/4"X19 | G1/4"X19 | G3/8"X19 | 26.5| 26.5| 355 | 16 22 1F-08 | 13/16"X16UN | 13/16"X16UN | 13 13 | 355 | 22 80
ABBG-060G G3/8"X19 | G3/8"X19 | G3/8"X19 | 27.5| 27.5| 358 | 16 22 sl 1F-10 1" X14UNF 1" X14UNF 155 | 155 | 425 27 | 143
r " " 1F-12 | 1.3/16"X12UN | 1.3/16"X12UN | 17 17 47 32 | 216 | 40
ABBG-06-06- G3/8"X19 | G3/8"X19 | G1/2"x14| 31 | 31 | 43 16 27
6-06:06-080G /,, /,, /,, 1F-16 | 1.7/16"X12UN | 1.7/16"X12UN | 175 | 175 | 495 | 41 | 332
% K ABBG-080G G1/2"X14 | G1/2"X14 | G1/2"X14 | 34.5| 345| 432 | 22 27 1F20 | L.11/16" X12UN| L11/16'X120N [ 175 | 175 | 515 | 46 | 419 - K
%ﬂ% ABBG-120G G3/4"X14 | G3/4"X14 | G3/4"X14| 40 | 40 | 493 | 27 32 1F24 2"X12UN 2'X12UN 175 | 1751 53 55 | 592 ﬁ%%
<< n n n «,\<
a ABBG-160G GI"X11 | G1"X11 | G1"X11 | 46 | 46 | 53 33 41 -
90°EHIORFSHMRLL O, B F E 2 £
90° ORFS MALE O-RING
ABGB-0G 12 Eare #24 THREAD R+ DIMENSIONS = Emh=s
X ‘ PART NO. T1 T2 L1 L2 S1 EE(g) MPa
HHSMEFO0 P/ R B SNRRORE AR 5% =58 _ _
BSP MALE 60°SEAT/BSP MALE O-RING ADJUSTABLE STUD END BRANCH TEE 4 1F9-04 | 9/16 X18UNF | 9/16 X18UNF | 215 21.5 14 42
TR DSOS B - 1F9-06 | 11/16"X16UN | 11/16"X16UN 255 255 19 72 63
Emits PART| L < = 4 _ _ i
1F9-08 | 13/16"X16UN | 13/16"X16UN 28 28 19 98
NO.
ik 2 & H = AR B2 u = 1F9-10 1"X14UNF 1"X14UNF 335 335 | 27 176
ABGB-040G G1/4"X19 | G1/4"X19 | G1/4"X19 | 25 | 31.8| 25 | 14 | 19 : :
ABGB-06-04-060G| G3/8"X19 | G1/4"X19 | G3/8"X19 | 27.5 | 335 | 275| 16 | 19 1F9-12 | 1.3/16 XI12UN | 1.3/16 XI2UN | 375 | 37.5 | 30 | 270 | 40
el Ecaoeoc e [ oaexis [ eyaas [ 275 368 [ s 16 [ 2 1F9-16 | 1.7/16"X12UN | 1.7/16"X12UN | 415 415 | 36 406
- - - - : : : 1F9-20 | 1.11/16"X12UN| 1.11/16"X12UN| 445 445 | 41 541 -
ABGB-08-06-080G| G1/2"X14 | G3/8"X19 | G1/2"X14 | 345| 395| 345| 22 | 22 1F9.74 120N SX12UN 25 25 =0 300
ABGB-080G G1/2"X14 | G1/2"X14 | G1/2"x14 | 345| 432 345 22 | 27
ABGB-12-08-120G| G3/4"X14 | G1/2"X14 | G3/4"X14 | 40 | 465| 40 | 27 | 27
ABGB-120G G3/4"X14 | G3/4"X14 | G3/4"X14 | 40 | 493 40 | 27 | 32 6F
ABGB-160G G1"X11 G1"X11 G1"Xx11 | 46 | 53 | 46 | 33 | 41
6F-LN
L EHIORFSHMBEL O, B F mE & £ 10 &k
r ORFS MALE O-RING BULKHEAD
= u Eake #2470 THREAD Rt DIMENSIONS EE( EHE
T | PART NO. T1 2 ul L s1 | s2 [0 B &wmPa
| 6F-04 |9/16"X18UNF | 9/16"X18UNF | 10 [ 315 | 48 | 22 | 22 | 70
6F-06 | 11/16"X16UN | 11/16"X16UN | 11 | 34 53 | 27 | 27 | 115 63
m — 6F-08 | 13/16"X16UN | 13/16"X16UN | 13 | 36.5 | 585| 30 | 30 | 158
% o 6F-10 1"X14UNF | 1" X14UNF [155| 405 | 665] 36 | 36 | 165
: 3 6F-12 [1.3/16"X12UN |[1.3/16"X12UN | 17 | 415 | 69 | 41 | 41 | 367 | 40
6F-16 |1.7/16"X12UN |1.7/16"X12UN |17.5| 42 70 | 46 | 46 | 493
6F-20 [1.11/16"X12UN [1.11/16"X12UN | 17.5] 42 70 | 50 | 50 | 605 ]
6F-24 2" X12UN 2"X12UN  [17.5] 42 70 | 60 | 60 | 828
JENETHPETTR, MIEERSEM“LN”, 306F-16LN, 8{8{S 78F,
Note: In case if you are interested to order the adapter with lock nut, please insert suffix “IN” after our
part NO, for example 6F-16LN, The lock nut NO.is 8F.

73

74



o iE 3%k

SEhlizSk

SemlizSk

i % sk

ADAPTER JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING ADAPTER
-y o 6F9/6F9-LN 2F
Bk 1., 90°Z EH|ORFSIMBEU O B FEZE I RiZESk 90° ELBOW ORFS MALE O-RING BULKHEAD ZHIORFSIMRELIOR, B T % £/ ORFSPIHR LY
! . afla o =aits B4 THREAD T DIMENSIONS s o ORFS MALE O-RING / ORFS FEMALE
PART NO. T1 T2 L1 L2 13 | st [s2]~* Bl 4wmpa ) \

i 6F9-04 9/16"X18UNF| 9/16"X18UNF 22.5 47 31.5 14 22 68 gy \/ s 1247 THREAD R~ DIMENSIONS g2 |EH%F
6F9-06 | 11/16"X16UN| 11/16"X16UN | 26 52 34 | 19 [27] 110 | 63 - - | ‘ PART NO. T1 T2 L1 L | s1 | s2 | (8| %kMPa
6F9-08 13/16"X16UN 13/16"X16UN 29 55.5 36.5 19 30 148 - - ~ " "
6F9-10 1"X14UNF 1"X14UNF 34.5 63 40.5 27 36 256 E 2F-04 9/16,,X18UNF 9/16 ,,XlBUNF 9.8 33 17 13 31
6F9-12 | 13/16"X12UN| 13/16"X12UN | 385 | 67 | 415 | 30 | 41| 378 | 40 o 2F-04-06 | 9/16 X18UNF | 11/16° X16UN | 9.8 | 34.5| 17 | 22 | 40
6F9-16 | 1.7/16"X12UN| 1.7/16"X12UN | 42.5 71 42 36 | 46 | 555 2F-04-08 | 9/16"X18UNF | 13/16" X16UN 9.8 | 365| 19 | 27 | 42 -
2,53%2 1~112/})<2'l'§%§UN 1~112/|}§;§<6§UN jgg ;gg fé 3213 Zg 1703;32 o5 2F-06-04 | 11/16"X16UN 9/16" X18UNF | 11.2| 355| 19 | 19 | 57

SEANFATHET S, WA SEM LN, 16F9-16LN, BB S gF, 2706 | LI/16 X16UN | 11/16 X16UN | 112385 19 | 22 | 62
& A Note: In case if you are interested to order the adapter with lock nut, please insert suffix “IN” after our 2F-06-08 | 11/16"X16UN 13/16" X16UN 11.2 | 37.7| 19 27 62 AE
E 4,1'4>( part NO, for example 6F9-16LN, The lock nut NO.is 8F. 2F-06-10 11/16"X16UN 1" X14UNF 112 | 43.7| 24 30 73 40 IHIME
2 2F-08-06 | 13/16"X16UN | 11/16"X16UN | 128 41| 22| 22 [ 82| &3 AN
) 2F-08 13/16"X16UN | 13/16"X16UN | 128 43 | 22 | 27 | 89 )
AF 2F-08-10 | 13/16"X16UN 1" X14UNF 128 455| 24 | 30 | 95
£ HIORFSIMRROREFEE =8 ORFS MALE O-RING TEE 2F-08-12 | 13/16 X16UN | 13/16 XI12UN | 1281 49 | 30 | 36 | 104
L 2F-10-08 | 1" X14UNF 13/16"X16UN | 155 47.5] 27 | 27 [ 146| 40
E Eafe #2457 THREAD R DIMENSIONS 5 (o ENS 2F-10 1" X14UNF 1"X14UNF | 155 51.5| 27 | 30 | 156
|2 b PART NO. 1 T 3 ule lelsthT &)l gipa 2F-10-12 | 1"X14UNF 1.3/16"X12UN | 15.5| 51.5| 30 | 36 | 160
&l PR el _ _ n n
] AF-04 | 9/16"X18UNF | 9/16"XI8UNF | 9/16"X18UNF | 23 | 23 | 23 | 14| 72 2F-10-16 | 17 XTAUNF L7/16_X12UN | 155] 56 | 36 | 41 | 172
7 2F-12-08 | 1.3/16"X12UN | 13/16"X16UN | 17 | 505 32 | 27 | 213] &3
u a AF-06 | 11/16"X16UN | 11/16"X16UN | 11/16"X16UN | 25 |25 | 25 [ 19| 112 | 63 2F-12-10 | 1.3/16"X12UN T XI4UNF 17 1545l 32 | 30 [ 228
AF-08 | 13/16"X16UN | 13/16"X16UN | 13/16"X16UN | 28 |28 | 28 |19 | 156 2F-12 1.3/16"X12UN | 1.3/16"X12UN | 17 | 56 | 32 | 36 | 236
AF-10 | 1"XI4UNF | 1"XI4UNF | 1"XI4UNF [33.3(33.3(33.3[27 | 278 2F-12-16 | 1.3/16"X12UN | 1.7/16"XI12UN | 17 | 58 | 36 | 41 | 245| 40
AF-12 | 13/16"X12UN | 1.3/16"X12UN | 1.3/16"X12UN |37.3 [37.3|37.3]30 | 425 | 40 2F-16-12 | 17/16 X12UN | 1.3/16 X12UN | 17.5] 58 | 38 | 36 | 330
_ _ _ 2F-16 1.7/16"X12UN | 1.7/16"X12UN | 17.5| 60 | 38 | 41 | 345
AF-16 | 1.7/16"X12UN | 1.7/16"X12UN | 1.7/16"X12UN |41.7 |41.7|41.7| 36 | 648 2F-16-20 | 1.7/16"X12UN | 1.11/16"X12UN | 175] 62 | 41 | 50 | 356 25
AF-20 [1.11/16"X12UN|1.11/16"X12UN | L11/16"X12UN | 44.7 [44.7 | 44.7| 41 | 864 ’s 2F-20-16 | 1.11/16"X12UN| 1.7/16"X12UN | 17.5| 58.5] 46 | 41 | 415| 40
AF-24 | 2"X12UN 2"X12UN 2'XI2UN  |48.8 |48.8|48.8 |48 | 1264 2F-20 | 1.11/16"X12UN| 1.11/16"X12UN | 17.5| 62 | 46 | 50 | 443
2F-20-24 | 1.11/16"X12UN 2" X12UN 175] 65.5] 50 | 60 | 69|
. 2F-24-20 | 2"X12UN 1.11/16"X12UN | 175| 64 | 55 | 50 | 607
2F-24 2"X12UN 2"X12UN 175 64 | 55 | 60 | 614
J XF
| £ HIORFSIMELOM BT E R IMUiEEL ORFS MALE O-RING CROSS FITTINGS
F —_— |
| EEfke B4 THREAD R~F DIMENSIONS 5 (o) 54
= i PARTNO. T1.T2.T3. T4 L1 L2 L3 Ss1 F8 1 MPa B F
- XF-04 9/16 "X18UNF 215 215 | 215 14 | 67 . £ HIORFSIMELOT B F A £/ Z HIORFSHIBL S % =18
u 13 XF-06 11/16"X16UN 25 25 25 | 19 | 112 | 63 ORFS MALE O-RING/ORFS FEMALE BRANCH TEE
XF-08 13/16"X16UN 28 28 28 | 19 | 156 bt
XF-10 1"X14UNF 335 335 | 335 | 27 | 280 \ Rt L THREAD R~f DIMENSIONS Bl \E5%
$ XF-12 1.3/16"X12UN 375 375 | 375| 30 | 427 | 40 E N PARTNO..  m T2 T3 1| 12| 13| s1|s2| (8 |MPa
/ XF-16 1.7/16"X12UN 415 415 | 415 36 | 645 __:'_|_ B BF-04 |9/16" XI8UNF| 9/16"X18UNF| 9/16"X18UNF | 21.5 26.5| 21.5| 14 | 19| 68
XF-20 1.11/16" X12UN 4.5 445 | 445 | 41 | 80 | . ] BF-06 | 11/16"X18 | 11/16"Xx18 | 11/16"X18 | 25| 29 | 25| 19 [ 22| 111 | 63
3 0 e,
XF-24 2 X12UN 49 49 49 | 50 | 1270 u " BF-08 | 13/16"X18 | 13/16"X18 | 13/16"X18 | 28 | 38 | 28 | 19 | 27| 165
BF-10 | 1"XI4UNF | 1"XI4UNF | 1"XI4UNF |33.5| 41 |33.5| 27 | 30| 283
= 2F9 BF-12 |13/16"X12UN| 1.3/16"X12UN| 1.3/16"X12UN | 37.5| 46.5| 37.5| 30 | 36 | 436 | 40
1 T3 90°Z5 %4 ORFSHMB SO T E 22 31/ ORF S #2 4L 90° ELBOW ORFS MALE O-RING FEMALE BF-16 |17/16"X12UN | 1.7/16"X12UN| 1.7/16 "X12UN | 41.5| 53.5| 41.5| 36 | 41| 667
; ey B5 THREAD RTDMENSIONS 2B | 57s BF-20 |1.11/16"X12UN|1.11/16"X12UN|1.11/16"X12UN| 44.5| 58 |44.5| 41 | 50| 895 .
2| PART NO. T1 T2 L1 | L2 | s1]s2] (g |%Mpa BF-24 | 2"XI2UN | 2"XI2UN | 2"X12UN | 49 | 61 | 49 | 48 | 60| 1297
= — 2F9-04 9/16" X18UNF | 9/16" XI8UNF | 21.5 | 26.5| 14 | 17 | 47
2F9-06 11/16" X16UN | 11/16"X16UN | 25 | 29 | 19 | 22| 76 | 63
u_ [l 2F9-08 13/16" X16UN | 13/16" XI6UN | 28 | 38 | 19 | 24 | 116
2F9-10 1" X14UNF 1"X14UNF | 335 | 41 | 27 | 30 | 195
2F9-12 1.3/16" X12UN | 1.3/16"X12UN | 37.5 | 46.5] 30 | 36 | 301| 40
2F9-16 1.7/16" X12UN | 1.7/16"X12UN | 415 | 53.5| 36 | 41 | 465
2F9-20 L11/16"X12UN_| 1.11/16"X12UN | 445 | 58 [ 41 [ 50 [623] .
2F9-24 2" X12UN 2"X12UN 49 | 61 | 50 | 60 | 897
75 76



o iE 3%k

SEhlizSk

SemlizSk

i % sk

77

78

ADAPTER JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING ADAPTER
- EHIORFSIMEN O, B FE % +1/EFIORFSRIEX T =@ L EHIORFSIMRL O, BB F 25 21 /70 1 B IMELL
: ORFS MALE O-RING/ORFS FEMALE RUNTEE ] }—-—-L_LE ORFS MALE O-RING/NPT MALE
-% B il Fﬁ]f’ﬁ"‘:ﬁ mggy THREAD RT—'— DIMENSIONS E% J:_tj]% ; S P _ FZIJEII:I'{_%% TJ%QS( THREAD RTJ' DIMENSIONS i%(g) J}jj%
. — -gl PART NO T1 2 T3 1 |2 |3 [s1|s2|(gl|4%mpa PART NO. 1 T2 || L] s *kMPa
| | _'_.4 ~ » n n
- ) CF-04 | 9/16"X18UNF | 9/16"X18UNF| 9/16"X18UNF | 215 | 21.5 | 265 | 14 | 19 | 68 1FN-04-02 9/16 X18UNF Z1/87Xar 10 |10 27| 17 | 39 | 345
8 = cro6 | 11/16"x18 | 11/16"x18 | 11/16"x18 | 25 | 25 [29 |19 | 22 |111| €3 1FN-04 9/16 X18UNF | Z1/4'X18 10 145) 32 ] 17 | 35 | 275
CF-08 13/16"X18 13/16"X18 | 13/16"X18 28 | 28 |38 |19 | 27 | 165 1FN-04-06 9/16 . X18UNF 238 "X18 10 [ 145]335] 19 48 21
CF-10 1" X14UNF 1"X14UNF | 1"X14UNF | 335|335 | 41 |27 | 30 | 283 1FN-04-08 9/16 X18UNF Z1/2 X14 10 | 195]385] 22 3
1FN-06-04 11/16"X16UN Z1/4"X1 11 | 14 2 1 4 27.
. CF-12 | 1.3/16"X12UN | 1.3/16"X12UN| 1.3/16"X12UN | 37.5 | 37.5 |46.5 | 30 | 36 | 436| 40 060 /16"X16U /4" X18 > 3 9 3 > 5
5 7K " " - 1FN-06 11/16"X16UN 73/8"X18 11 | 145 34 | 19 53 K&
£ oy CF-16 | 1.7/16"X12UN | 1.7/16"X12UN| 1.7/16"X12UN | 41.5 | 41.5 | 535 | 36 | 41 | 667 - - 21 BYE
i 1FN-06-08 11/16"X16UN Z1/2"X14 11 | 195 395| 22 77 R
< i CF20 | 1.11/16"X12UN|1.11/16"X12UN|1.11/16"XI12UN | 44.5 | 44.5 | 58 | 41 | 50 | 895 - - <
) 25 1FN-08-04 13/16" X16UN Z1/4"X18 13 | 145|375| 22 65 | 275 o)
CF-24 2" X12UN 2"X12UN 2" X12UN 49 | 49 | 61 |50 | 60 |1297 1FN08.06 13/16" X16UN 73/8"X18 3 | 1453751 2 0 N
1FN-08 13/16"X16UN Z1/2"X14 13 | 195|415| 22 82
1FN-08-12 13/16"X16UN 73/4"X14 13 | 195 43 | 30 130 17
4F 1FN-10-06 1"X14UNF 73/8"X18 155 | 145 | 41.5| 27 111 21
£ 5IORFSIMBLOT B T BB ST 2L 1FN-10-08 1"X14UNF 71/2"X14 155 | 195| 46 | 27 123 21
; = ORFS MALE O-RING PLUG 1FN-10-12 1"X14UNF Z3/4"X14 155 | 195 | 46 30 153 17
- 25 THRERD T DIVENSIONS 1FN-12-08 1.3/16" X12UN Z1/2"X14 17 | 195| 49 | 32 173 21
p A, [=pIy= ¥4 <
| ¢ PEtS E8(g RS 1FN-12 1.3/16"X12UN Z3/4"X14 17 | 195| 49 | 32 190 17
= - PART NO. T1 L1 L S1 MPa
1FN-12-16 1.3/16"X12UN Z1"X11.5 17 | 245 54 | 36 248 14
4F-04 9/16” X18UNF 10 16.5 17 s 1FN-16-12 1.7/16" X12UN Z3/4"X14 175 | 195| 51 | 41 291 17
4F-06 11/16”X16UN 1 19 19 38 63 1FN-16 1.7/16" X12UN 71"X115 175 | 245] 555 41 | 305 | 14
4F-08 13/16" X16UN 13 22 2 57 1FN-16-20 L7/16"X12UN | z1.1/4"X115 [17.5 | 25 | 585| 46 | 420 | 8
4F-10 1"X14UNF 15.5 26 27 100 1FN-20-16 1.11/16"X12UN Z1"X11.5 175 | 245 | 575 | 46 372 14
4F-12 1.3/16" X12UN 17 275 32 145 40 1FN-20 1.11/16"X12UN | Zz1.1/4"x115 |175 | 25 | 585| 46 425 8
4F-16 1.7/16" X12UN 175 28 41 220 1FN-24 2" X12UN 71.1/2"X115 |175 | 26 | 61 | 55 595 7
4F-20 1.11/16"X12UN 175 28 46 276
25
4F-24 2"X12UN 17.5 28 55 384 1 F N 9
90°Z 4O RF SHMB SO BB T 0 25 £ /%5 £ B IMB L
90°ORFS MALE O-RING/NPT MALE
9 ) o #2457 THREAD R~ DIMENSIONS s ( o FNER
EHIORFSAIRSIE K ORFS FEMALE PLUG e~ PART NO. T1 T2 1 L s1 ELE wpa
| 1. 1FN9-04-02 9/16" X18UNF 71/8"X27 215 | 205 14 33 345
ERite #2470 THREAD R~F DIMENSIONS gm(g | ENER , Y - -
PART NO. Tl 1 s1 =8 MPa =" | ! 1FN9-04 9/16" X18UNF 71/4"X18 215 | 255 14 43 s
oF-0a 9/16"X18UNF 85 10 18 s T 1= - 1FN9-06-04 11/16"X16UN Z1/4"X18 25 27.5 19 61 '
OF-06 11/16"X16UN 10 2 19 63 n st 1FN9-06 11/16"X16UN 73/8"X18 25 31 19 84
oF-08 13/16"X16UN 1 7 2 1FN9-06-08 11/16"X16UN Z1/2"X14 295 | 375 2 112 "
oF10 T X14UNF 135 30 2 1FN9-08-06 13/16"X16UN 73/8"X18 28 31 19 95
oF12 1.3/16"X120N 15 Py 4 40 1FN9-08 13/16"X16UN 71/2"X14 31 37 22 114
9F-16 1.7/16"X12UN 15 41 22 1FN9-08-12 13/16" X16UN 73/4" X14 333 40.5 27 170 17
oF 24 S"X12UN 16 0 13 25 1FN9-10-12 1"X14UNF 73/4"X14 36 405 | 21 216 17
1FN9-12-08 1.3/16" X12UN 71/2" X14 37.3 40.5 30 228 21
1FN9-12 1.3/16" X12UN 73/4"X14 373 | 455 30 275 17
1FN9-12-16 1.3/16" X12UN Z1"X11.5 41 50 33 363 14
1FN9-16-12 1.7/16"X12UN 73/4"X14 42 46 36 360 17
1FN9-16 1.7/16" X12UN Z1"X11.5 4 50.5 36 433 iy
1FN9-20-16 1.11/16" X12UN Z1"X11.5 45 54.5 41 530
1FN9-20 1.11/16"X12UN | Z1.1/4"X11.5 45 60 41 574 8
1FN9-24 2" X12UN Z1.1/2"X115 | 48.8 67 48 972 7



oSk | SRl Sl | TiE sk

ADAPTER JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING ADAPTER
1FO 1F09-0G
EHIORFSIMELIOTZ B T E R/ HISAEIMEL HOF B EZA TS0 11926-2 90°Z = HIORFSHMELOBY B F E 2 £/ HISAEIMESH O B E R 51SO 11926-2
ORFS MALE O-RING/SAE O-RING BOSS S-SERIES IS0 11926-2 90° ELBOW ORFS MALE O-RING/SAE O-RING BOSS S-SERIES 1SO 11926-2
L N Z&Eﬁ% 840 THREAD R~} DIMENSIONS % (o) J}ﬁ% s #8247 THREAD R~t DIMENSIONS g (g TN
s : 1 2 L1 L2 L | s1 #MPa PART NO. T1 2 L || st]s2| 8%
. —— 1FO-04 9/16"X18UNF | 7/16"X20UNF | 9.8 105 | 287 | 17 | 34 1FO9.040G 9/16" X18UNF 7/16"X20 15| 33| 14 ] 17| 2
| 1F0-04-05 9/16"X18UNF |  1/2"X20UNF 9.8 11 | 287 17 | 36 ] — N 1F09-04-060G 9/16"X18UNF 9/16"X18UNF | 235 | 37 | 14 | 19 | 56
=] 1F0-04-06 9/16"X18UNF | 9/16"XI8UNF | 9.8 12 1305] 19| 45 ! 1F09-04-080G 9/16" X18UNF 3/4"X16UNF | 24.5 | 40.5| 19 | 24 | 89
1FO-04-08 9/16"X18UNF |  3/4"X16UNF 9.8 14 336|222 7 u n 1F09-060G 11/16"X16UN 9/16"X18UNF | 25 | 37 | 19 | 19 | 69
1F0-06-04 11/16"X16UN | 7/16"X20UNF 11.2 11 31 | 19 44 1F09-06-040G 11/16"X16UN 7/16"X20 25 35 19 | 17 58
& X 1FO-06-05 11/16::X16UN 1/2""X20UNF 11.2 11 |309) 19| 46 63 1F09-06-050G 11/16"X16UN 1/2 " X20UNF 25 | 35 | 19 | 17 | 63 e
Eﬂﬁ 1F0-06 11/16"X16UN | 9/16"X18UNF 11.2 12 319 | 19 50 1F09-06-080G 11/16"X16UN 3/4" X16UNF 265 | 405 | 19 | 24 | 103 BYE
< 1F0-06-08 11/16"X16UN | 3/4"X16UNF 11.2 14 35 | 22| 16 1F09-06-100G 11/16"X16UN 7/8"X14UNF | 295 | 50 | 22 | 30 | 141 12
1) 1F0-06-10 11/16"X16UN | 7/8"XI14UNF | 11.2 16 | 385) 27 | 117 1F09-06-120G 11/16"X16UN 1.1/16"X12UN | 325 | 55 | 27 | 35 | 202 b
1F0-08-06 13/16"X16UN | 9/16"X18UNF | 12.8 12 |345] 22 | 6l 1F09-080G 13/16"X16UN 3/4"X16UNF 28 | 405| 19 | 24 | 115 40
1FO-08 13/16"X16UN | 3/4"X16UNF 15.2 14 1366) 22| 75 1F09-08-060G 13/16" X16UN 9/16" X18UNF 28 [365| 19 | 19 | 84
1F0-08-10 13/16"X16UN | 7/8"X14UNF 12.8 16 | 405| 27 | 117 1F09-08-100G 13/16"X16UN 7/8" X14UNF 31 | 50 | 22 | 30 | 155
1FO-08-12 13/16"X16UN | 1.1/16"X12UN | 12.8 185 | 445| 32 | 183 1F09-08-120G 13/16"X16UN 1.1/16"X12UN | 335 | 55 | 30 | 35 | 216
1FO-10 1" X14UNF 7/8 " X14UNF 15.5 16 431 | 27 | 129 1F09-100G 1"X14UNF 7/8"X14UNF 335 | 50 27 | 30 | 190
1FO-10-08 1" X14UNF 3/4"X16UNF 15.5 14 41 | 27 | 113 1F09-10-080G 1"X14UNF 3/4"X16UNF | 335 | 46 | 27 | 24 | 165
1FO-10-12 1" X14UNF 1.1/16"X12UN | 155 185 | 47 | 32| 193 1F09-10-120G 1" X14UNF 1.1/16" X12UN 36 55 | 30 | 35 | 254
1FO-12-10 1.3/16"X12UN |  7/8"X14UNF 17 16 46 | 32 | 170 40 1F09-1206G 1.3/16"X12UN 1.1/16"X12UN | 375 | 55 | 30 | 35 | 296
1FO-12 1.3/16"X12UN | 1.1/16"X12UN 17 185 | 486 | 32 | 202 F09-12-080G 1.3/16"X12UN 3/4"X16UNF | 375 | 47 | 30 | 24 | 216
1FO-12-16 1.3/16"X12UN | 1.5/16"X12UN 17 185 | 498 | 38 | 293 1F09-12-100G 1.3/16"X12UN 7/8"X14UNF | 375 | 51 | 30 | 30 | 241
1FO-16-12 1.7/16"X12UN | 1.1/16"X12UN | 17.5 185 | 50 | 38 | 241 1F09-12-160G 1.3/16"X12UN 1.5/16"X12UN | 41 60 | 38 | 41| 392
1FO-16 1.7/16"X12UN | 1.5/16"X12UN | 175 185 | 503 | 41 | 309 1F09-160G 1.7/16"X12UN 1.5/16"X12UN | 415 | 60 | 38 | 41 | 452 31>
1FO-16-20 1.7/16"X12UN | 1.5/8"X12UN 175 185 | 52 | 50 | 481 1F09-16-120G 1.7/16"X12UN 1.1/16"X12UN | 415 | 59 | 38 | 35 | 380 40
1FO-20-16 1.11/16"X12UN| 1.5/16"X12UN | 17.5 185 | 52 | 46 | 338 1F09-16-200G 1.7/16"X12UN 1.5/8"X12UN | 445 | 62 | 41 | 48 | 584 -
1FO-20 1.11/16"X12UN| 1.5/8"X12UN 17.5 185 | 523 | 46 | 409 25 1F09-2006G 1.11/16"X12UN 1.5/8"X12UN | 445 | 62 | 41 | 48 | 640
1F0-24-20 2" X12UN 1.5/8"X12UN 17.5 185 | 54 | 55 | 501 1F09-20-160G 1.11/16"X12UN | 1.5/16"X12UN | 445 | 615| 41 | 41 | 530 | 315
1F0-24 2" X12UN 1.7/8"X12UN 17.5 185 | 54.1 | 55 567 1F09-20-2406G 1.11/16"X12UN 1.7/8"X12UN 49 66 48 | 54 771
I T2U%5 IS0 11926-1 34 4AER. 1F09-240G 2"X12UN 1.7/8"X12UN 49 | 66 | 48 | 54 | 879 20
Note:T2 end is connected with IS0 11926-1 port. 1F09-202006 2"X120N 15/8"X12UN | 49 | 66 | 48 | 48 | 800 | 25
AFFO-0G
AFOF-0OG
| A | I i 2R £ | =R | - =1
e Bt v O e o P e s S HIORFSIME R OR BT B H/EHISALI BAHORBMBERFISO 1192625 % =38
: ORFS MALE O-RING/SAE O-RING BOSS S-SERIES IS0 11926-2 RUN TEE
% : T — *gﬁT;HREAD — - RS D”"E’\‘S'zi‘s = %5 Zﬁi =ape 247 THREAD RS DIMENSIONS | g8 | e
a ] |5 AFFO-040G 9/16"X18UNF | 9/16"X18UNF| 7/16"X18 [21.5(21.5( 33 | 14| 17| 61 il e = iE =H AN B A U R
h = se AFFO-04-04-060G | 9/16"X18UNF | 9/16"X18UNF | 9/16"X18UNF|23.5(23.5| 37 | 19| 19| 82 AFOF008 O16 XIBUNF| T/167X20 | 916" XISUNF 1 23 1303 25 L 14117 | 73
u L pre— 1116 x160N | L1/16"X16UN | /16" XL8UNF 25‘ 25‘ 5 51103 AFOF-04-06-040G 9/16":(18UNF 9/16::X18UNF 9/16"‘?(18UNF 23 | 32]23|14]19] 89
AFFO-06-06-080G | 11/16"X16UN | 11/16"X16UN | 3/4"X16UNF |26.5(26.5(40.5| 19 | 24 | 144 AFOF0606 Ly 16,,X16UN 3 16,, XI8UNF | 11/ 16,,X16UN 2701353275 19119 1121
0800 13/16716UN | 13/16" 160N | 3/a"x16UNF | 28 | 28 T405] 1922 | 156 40 AFOF-06-08-060G | 11/16"X16UN | 3/4"X16UNF | 11/16"X16UN |27 | 38 | 27 [ 19|24 | 155
AFFO-08-08-100G | 13/16"X16UN | 13/16"X16UN | 7/8"X14UNF [30.5]30.5] 50 | 27 [ 27 [ 213 AFOF-080G 13/16'X16UN | 3/4"XI6UNF | 13/16"XI16UN | 31 |40.5 31 | 22|24 19 |
AFFO100C TXLAONE TXI4UNF | 7/8"X14UNF |335(335| 50 | 27| 27 | 267 S AFOF-08-10-080G | 13/16"X16UN | 7/8"X14UNF | 13/16"X16UN |31 |45.3] 31 | 22|27 | 226
O L0101200 T T XIAUNF T'XT4UNF | L1/16"X12UN [ 36.5]36.5] 55 | 30| 32 | 360 S AFOF-08-12-080G | 13/16"X16UN [ 1.1/16"X12UN | 13/16"X16UN [34.5| 54 |34.5] 27|32 | 310
AFFO-1206 1.3/16"X12UN | 1.3/16"X12UN | 1.1/16"X12UN | 37.5|37.5| 55 | 30 | 32 | 414 % AFOF-1006 UXI4UNF | 7/8"XI4UNF | 1"XI4UNF ]36.5]508 36,5 27 27 | 335
AFFO-12:12-160G | 1.3/16"X12UN | 13/16"X12UN| 15/16"X15 | 41 | 41 | 60 | 36 | 41 |573| , ) AFOF-10-12-100G l"X}4UNF 1.1/16::X12UN 1"X'}4UNF 36.5] 52 |36.5) 2732 | 386
AFFO-160G 1.7/16"X12UN | 1.7/16"X12UN | 1.5/16"X12UN | 41.5(41.5| 60 | 36 | 41 | 629 AFOF-120G 1.3/16"X12UN | 1.1/16"X12UN | 1.3/16"X12UN [40.3|55.3/40.3| 30|32 | 511
AFFO-16.16.2006 | 1.7/16"X12UN | 1.7/16'X12UN| 1.5/8"X12UN | 44.5|445] 62 | 41| 50 | 769 AFOF-1606G 1.7/16"X12UN | 1.5/16"X12UN | 1.7/16"X12UN |44.5]|59.3|44.5| 36|41 | 772 | 315
AFFO-200G 1.11/16"X12UN | 1.11/16"X12UN| 1.5/8"X12UN |44.5|44.5| 62 | 41| 50 | 875 25 AFOF-200G 1.11/16'X12UN| 1.5/8"X12UN |[1.11/16'X12UN [47.5|60.5(47.5| 41|50 [1063| 25
AFF0-2200 2 X12UN 2'X12UN | L7/8'X12UN | 49 | 49 | 66 | 50 | 55 |1230] 20 AFOF-2406G 2"X12UN | 1.7/8"X12UN 2"X12UN  [53.5[68.5(53.5 50 [ 55 [1552| 20

79




SemlizSk

JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING

SEhlizSk

JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING

i % sk

ADAPTER

o iE 3%k

ADAPTER

T2
L EHIORFSHIMELIOF B T E B/ AHI IMELERFISO 6149-2 ot 90°Z £ HIORFSHMELOTL B T EZ /A H IMEL AIA M #HIR £ 5 1S0 6149
u e ORFS MALE O-RING /METRIC MALE S-SERIES 1SO 6149-2 @ 90°ELBOW ORFS MALE O-RING/METRIC MALE ADJUSTABLE STUD END L-SERIES ISO 6149
| ©
32 -
S ¥E4 THREAD R~F DIMENSIONS sy 247 THREAD R~F DIMENSIONS
3 o3 P fts w8 (g 7 mEME 5 |ENE
= = g . T1 T2 L1 L2 L S1 a = SN PART NO. =g ZEMPa
- T1 ™ L1 L2 st | s2
1FH-04-12 9/16" X18UNF M12X1.5 10| 11 | 285 | 17 34 L 4
st 1FH-04-14 9/16" X18UNF M14X1.5 10 | 11 | 295 | 19 44 1FH9-04-120G | 9/16"X18UNF | M12X1.5 21.5 33 14 | 17 46
1FH-06-12 11/16" X16UN M12X1.5 11 11 32 19 50
1FH9-04-140G | 9/16"X18UNF | M14X1.5 24 35.5 17 | 19 60
1FH-06-14 11/16" X16UN M14X1.5 11 11 32 19 53 315
& X 1FH-06-16 11/16" X16UN M16X1.5 11 | 115 | 335 22 67 6 1FH9-06-120G | 11/16"X16UN M12X1.5 25 355 17 17 58 K
= 7 NA. " e =
o 1FH-06-18 11/167 X16UN M18X1.5 1| 125 ] 36 24 86 1FH9-06-140G | 11/16"X16UN | M14X1.5 25 35.5 17 | 19 69 045
< i 1FH-08-14 13/16" X16UN M14X1.5 13| 11 35 22 72 #X<
1FH-08-18 | 13/16"X16UN M18X1.5 13 | 125 ] 37 | 24 | 9 1FH9-08-140G | 13/16"X16UN | M14X15 28 36 19 | 19 | 8 |315
1FH-08-22 13/16" X16UN M22X1.5 13| 13 | 395 | 27 118
1FH-08-27 13/16" X16UN M2TX0 = 16 ” 2 179 1FH9-08-180G | 13/16"X16UN | M18X1.5 28 41 19 | 24 | 105
1FH-10-18 1" X14UNF M18X1.5 155] 125 | 4 2r | 128 1FH9-08-220G | 13/16"X16UN | M22X1.5 31 49 27 | 27 | 165
1FH-10-22 1" X14UNF M22X1.5 155 | 13 42 27 137
11027 1" X1AUNF P 55| 165 | a7 = 198 N 1FH9-10-180G 1"X14UNF M18X1.5 33.5 47.5 37 | 24 | 155 | 25
1FH-12-22 1.3/16" X12UN M22X1.5 17 13 45 32 195 1FH9-10-2206G 1"X14UNF M22X1.5 335 49 27 27 200
1FH-12-27 1.3/16" X12UN M27X2 17 | 16 | 485 | 32 220
- 1FH9-12-220G | 1.3/16"X12UN | M22X1.5 37.5 49.5 21 | 27 | 250
1FH-12-33 1.3/16" X12UN M33X2 17 | 16 | 515 | 41 343
1FH-16-33 1.7/16" X12UN M33X2 175 | 16 52 41 335 1FH9-12-270G | 1.3/16"X12UN M27X2 37.5 55.5 21 | 32 | 32
1FH-20-42 1.11/16"X12UN M42X2 175| 16 | 545 | 50 502 B
25 1FH9-16-330G | 1.7/16"X12UN M33X2 41.5 59.5 3 | 41 | 500
1FH-24-48 2" X12UN M48X2 175| 175 | 57 55 620 16
1FH9-20-420G | 1.11/16"X12UN|  M42x2 44,5 63 41 | 50 | e67
1FH9-24-480G 2"X12UN M48X2 49 715 50 | 55 | 931
EFIORFSIMBLOF B F EZ /A FIB S R B2 £ AFFH-0OG
e = ORFS MALE O-RING/METRIC THREAD MALE CAPTIVE SEAL EHIORFSHMELORYE T E B E/ A &I IMEL AT AT B E RS 1S0 6149-2F X =38
Ll — ORFS MALE O-RING/METRIC MALE ADJUSTABLE STUD END S-SERIES ISO 6149-2 RUN TEE
o Y247 THREAD R~ DIMENSIONS
SOOI A (g TIF 8247 THREAD R~ DIMENSIONS
~ " PART NO. =21 8l gMpa ERRe PART| . ) B8 |EHE
(= i T1 T L1 L2 L S1 NO (2| ZMPa
| : T1 ™ T3 Ll|2|Lw3|s1|s2
- 1FM-04-12WD | 9/16"X18UNF| MI12X15 10 12 29.7 17 36 / AFFH-04-04-120G | 9/16" X18UNF | 9/16" X18UNF | M12X1.5 |21.5[21.5| 33 | 14 | 17 | 68
1FM-06.14WD | 11/16"X16UN | M14XL5 1 1 319 | 2 57 o A AFFH-04-04-140G | 9/16" X18UNF | 9/16" X18UNF | M14X1.5 | 24 | 24 |35.5 19 | 19 | 86
= = AFFH-06-06-140G | 11/16" X16UN | 11/16"X16UN | M14X15 | 25 | 25 |35.5| 19 | 19 | 110
1FM-06-16WD | 11/16"X16UN| M16XL5 11 12 319 | 22 62 63
AFFH-06-06-160G | 11/16" X16UN | 11/16"X16UN | M16X1.5 | 25 | 25 |37.5| 19 | 22 | 120
1FM-08-18WD | 13/16"X16UN | M18X1.5 13 12 346 | 24 82 AFFH-08-08-140G | 13/16" X16UN | 13/16" X16UN | M14X1.5| 28 | 28 | 36| 19| 19 | 125| 40
1FM-10-22WD 1"X14UNF M22X1.5 15.5 14 41.1 27 131 AFFH-08-08-180G | 13/16" X16UN | 13/16" X16UN | M18X1.5| 28 | 28 | 41| 19| 24 | 158
AFFH-08-08-220G | 13/16" X16UN | 13/16"X16UN | M22X1.5| 31| 31| 49 | 27 | 27 | 222
1FM-12-27WD | 1.3/16"X12UN|  M27X2 17 16 461 | 32 206
0 AFFH-10-10-220G |  1"X14UNF 1"X14UNF | M22X1.5 [33.5(33.5| 49 | 27 | 27 | 293
1FM-16-33WD | 1.7/16"X12UN|  M33X2 15 18 498 | 41 | 313 AFFH-12-12-270G | 1.3/16 "X12UN | 1.3/16"X12UN | M27x2 |37.5|37.5|55.5| 32 | 32 | 465
1FM-20-42WD | 1.11/16"X12UN M42X2 175 20 53.8 50 468 25 AFFH-16-16-330G | 1.7/16"X12UN | 1.7/16"X12UN | M33X2 [41.5/41.5/59.5| 41 | 41 | 657 | 31.5
AFFH-20-20-4206 [1.11/16"X12UN | 1.11/16 "X12UN| M42X2 |44.5/44.5| 63 | 50 | 50 | 964 | 25
AFFH-24-24-480G |  2"X12UN 2" X12UN M48X2 | 49 | 49 |71.5| 55 | 55 [1354| 20
81 82



oSk | SRl Sl | TiE sk

ADAPTER JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING ADAPTER
1FB-WD 1FG
EHIORFSIMENOF B FEZ /R EIMENR BT E EHIORFSHMRLIO, B F E % £/ XK B IMELOF B
-ﬁ- ORFS MALE O-RING/BSP MALE CAPTIVE SEAL ORFS MALE O-RING/BSP MALE O-RING
L
~ r._— EEAE 847 THREAD R~ DIMENSIONS - )Ejg%ggl b, L2 o 247 THREAD R~t DIMENSIONS B (o) | ENE
- ~ PARTNO. T1 T2 L1 L2 L st | B wmpa f“\' PART NO. T1 T2 L1 L2 | L S1 =8| gwra
. a 1FB-04-02WD 9/16"X18UNF | G1/8"X28 10 8 | 257 17 30 ~ = o 1FG-04-02 9/16" X18UNF G1/8"X28 10 8 |257| 17 30
1FB-04WD 9/16"X18UNF | G1/4"X19 10 12 | 309 19 44 - [~ s 1FG-04 9/16"X18UNF G1/4"X19 10 12 | 31 19 44
st 1FB-04-06WD 9/16"X18UNF | G3/8"X19 10 12 | 316]| 22 60 - 1FG-04-06 9/16" X18UNF G3/8"X19 10 12 | 315 22 60
1FB-04-08WD 9/16"X18UNF | G1/2"X14 10 14 | 384 27 | 110 51 1FG-04-08 9/16" X18UNF G1/2"X14 10 14 | 384 271 110
1FB-06-02WD 11/16"X16UN G1/8"X28 11 8 |311] 19 51 1FG-06-02 11/16"X16UN G1/8"X28 11 8 | 31 19 51
1FB-06-04WD 11/16"X16UN G1/4"X19 11 12 | 319 19 50 1FG-06-04 11/16" X16UN G1/4"X19 11 12 | 32 19 50
5 7K 1FB-06WD 11/16"X16UN G3/8"X19 11 12 | 335 22 68 1FG-06 11/16"X16UN G3/8"X19 11 12 1335 22 68 WKE
% ﬂ% 1FB-06-08WD 11/16"X16UN | G1/2"X14 11 14 | 385 27 | 110 1FG-06-08 11/16"X16UN G1/2"X14 11 14 |385| 27 110 ﬂ%%
1:] 1FB-06-12WD 11/16"X16UN G3/4"X14 11 16 | 403 | 32 | 160 63 1FG-06-12 11/16"X16UN G3/4"X14 11 16 | 40 | 32 160 63 1:]
: 1FB-08-04WD 13/16"X16UN G1/4"X19 13 12 | 367]| 22 73 1FG-08-04 13/16" X16UN G1/4"X19 13 12 [367] 22 73 ‘
1FB-08-06WD 13/16"X16UN G3/8"X19 13 12 | 346]| 22 73 1FG-08-06 13/16"X16UN G3/8"X19 13 12 | 346] 22 73
1FB-08WD 13/16"X16UN G1/2"X14 13 14 | 401 | 27 | 115 1FG-08 13/16"X16UN G1/2"X14 13 14 | 40 27 115
1FB-08-12WD 13/16"X16UN G3/4"X14 13 16 | 419 32 | 163 1FG-08-12 13/16"X16UN G3/4"X14 13 16 | 42 32 163
1FB-10-06WD 1" X14UNF G3/8"X19 15.5 12 | 424 271 | 132 1FG-10-06 1" X14UNF G3/8"X19 15.5 12 | 424 21 132
1FB-10-08WD 1" X14UNF G1/2"X14 15.5 14 | 411 27 | 127 1FG-10-08 1" X14UNF G1/2"X14 15.5 14 | 41 27 127
1FB-10-12WD 1" X14UNF G3/4"X14 15.5 16 | 443| 32 | 180 1FG-10-12 1" X14UNF G3/4"X14 15.5 16 | 44 32 180
1FB-10-16WD 1" X14UNF G1"X11 155 | 18 | 47.8| 41 | 293 1FG-10-16 1" X14UNF G1"X11 155 | 18 | 48 | 41 293
1FB-12-08WD 1.3/16"X12UN G1/2"X14 17 14 | 485 32 | 200 1FG-12-08 1.3/16" X12UN G1/2"X14 17 14 [ 485] 32 200
1FB-12WD 1.3/16"X12UN G3/4"X14 17 16 | 461 | 32 | 203 1FG-12 1.3/16" X12UN G3/4"X14 17 16 | 46 32 203
1FB-12-16WD 1.3/16"X12UN G1"X11 17 18 | 475 41 | 295 1FG-12-16 1.3/16" X12UN G1"X11 17 18 | 475]| 41 295
1FB-12-20WD 1.3/16"X12UN | G1.1/4"X11 17 20 | 535 50 | 444 0 1FG-12-20 1.3/16::X12UN Gl.l/ﬁll‘"Xll 17 20 | 535 50 444 ”
1FB-16-12WD 1.7/16"X12UN G3/4"X14 175 16 | 503 | 41 285 1FG-16-12 1.7/16"X12UN G3/4"X14 175 16 | 503| 37 285
1FB-16WD 1.7/16"X12UN G1"X11 17.5 18 | 498 | 41 | 307 1FG-16 1.7/16"X12UN G1"X11 175 18 | 50 41 307
1FB-16-20WD 17/16"X12UN | GL.1/4"X11 | 175 | 20 | 53.8| 50 | 459 1FG-16-20 L7/16"X12UN | G1.1/4"X11 | 175 | 20 | 54 | 50 | 459
1FB-16-24WD 17/16"X12UN | GL.1/2"x11 | 175 | 22 | 575 55 | 571 1FG-16-24 17/16"X12UN | G1.1/2"X11 | 17.5 | 22 | 575| 55 | 571
1FB-20-16WD 1.11/16"X12UN G1"X11 175 | 18 | 573 | 46 | 472 1FG-20-16 1.11/16"X12UN G1"X11 175 | 18 | 57.3| 48 | 472
1FB-20WD l.ll/lG”XlZUN Gl.l/4"Xll 175 20 53.8 50 467 )5 1FG-20 l.ll/lG::XleN Gl.l/4::Xll 17.5 20 53.8 50 467 25
1FB-20-24WD 1.11/16"X12UN | GL.1/2"X11 | 175 22 | 576 55 | 578 1FG-20-24 111/16"X12UN | G1.1/2"X11 | 17.5 22 | 576 55 578
1FB-24WD 2” X12UN Gl.l/Z"Xll 17.5 22 576 55 597 1FG-24 2" X12UN Gl.1/2"X11 175 22 57.6 55 597
2NU
e AN - B IMES/EFINPSMAIEL60°9M
H EHIRESIMEN=E NPT MALE/NPSM FEMALE 60° CONE
o n | &l NPT MALE TEE
— ' Eope #2457 THREAD R~ DIMENSIONS o EhE=m
! --- ERits 1247 THREAD R~ DIMENSIONS |&8 |Eh% PART NO. T1 T2 1 L s1 ) BRI Vira
PART NO. T3 L1 | L2 | 3] s1|(g) |%MPa " "
. B AN-02 | 71/8"X27 z71/8"x27 71/8"x27 | 21 | 21 | 21 | 11 | 32 | 345 2NU-04 | Z1/47X18 1/47X18NPSM__ | 145 | 318 LA R )
' AN-04 71/4" X18 Z1/4" X18 71/4"x18 | 255|255[255] 14 | 58 | 275 2NU-06 | Z3/8"X18 3/8" X18NPSM 14.5 333 22 22 44 21
AN-06 73/8"X18 73/8"X18 73/8"X18 | 31 | 31 | 31 | 19 | 112 21 2NU-08 | Z1/2"X14 1/2" X14NPSM 195 | 411 27 27 75
AN-08 21/2::x14 21/2::x14 21/2:: x14 [36.7]36.7]36.7] 22 | 193 U2 | z3/4 v 3/2" X1ANPSM o5 | 420 = = 11 17
AN-12 73/4" X14 73/4" X14 73/4"x14 | 44 | 44 | 44 | 27 | 342 17
AN-16 Z1"X115 21" X115 21"x115 150 150 | 50 1 33 [ 571 14 2NU-16 Z1"X11.5 1" X11.5NPSM 245 | 508 a1 41 195 14
AN-20 | Z1.1/4"X11.5 71.1/4"X11.5 71.1/4" X115 | 54.5| 54.5| 545] 41 [ 985 8 2NU-20 |Z1.1/4"X11.5 | 1.1/4"X11.5NPSM 25 53.1 50 50 305 8
AN-24 Z1.1/2"X11.5 Z1.1/2"X11.5 71.1/2"X11.5 | 59.5| 59.5| 59.5| 48 |1344 7 2NU-24 |Z1.1/2"X11.5 | 1.1/2"X11.5NPSM 26 55.6 55 55 395 7
83 84



oSk | SRl Sl | TiE sk

ADAPTER JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING ADAPTER
T 90°ZE = HIORFSHMBRIOTL B T i % £/ B JMBELOR B m . EFhEEIMEY
; 90°ELBOW ORFS MALE O-RING/BSP MALE O-RING F—L—J‘\J, P NPT MALE
: o =ope #2847 THREAD R=f DIMENSIONS 58 | Ere 1T T [ 2= #2450 THREAD Rt DIMENSIONS 58 (g) Jiih%
- PARTNO. T1 2 it | | st| s2 | (8|%vpPa 5 PART NO. L 12 L1 L2 L Sl MPa
P — I L L IN-02 71/8"X27 71/8"X27 105 105 27 12 15 | 345
1FG9-04-020G 9/16" X18UNF G1/8"x28 | 215 | 30 | 14 14 | 35 o / - / -
Z 315 IN-02-04 71/8"X27 Z1/4"X18 105 15 31 17 21 | 2715
s 1FG9-040G 9/16" X18UNF G1/4"X19 | 235 | 36 | 19 19 | 56 IN02.06 71/8" X27 73/8" X18 105 16 2 19 pn 1
1FG9-06-040G 11/16"X16UN G1/4"X19 | 25 36 | 19 19 65 | 315 1N-04-06 71/4"X18 73/8"X18 15 16 37 19 42
& K 1FG9-060G 11/16"X16UN G3/8"x19 | 265 | 38 | 19 2 90 | 25 1N-04-08 71/4"X18 71/2"X14 15 195 415 | 22 70 0 X
= n n =
%ﬂ% 1FG9-08-040G 13/16"X16UN G1/4"X19 | 28 | 355 | 19 19 | 80 | 315 IN-06 Z3/8"X18 Z3/8"X18 16 16 38 19 45 ﬂ%%
< " n
g 1FG9-08-060G | 13/16"X16UN | G3/8"X19 | 28 | 38 | 19 | 22 | 103 IN-06-08 | 23/8°X18 | Z1/2"X14 16 195 |45 2 | 75 tf
: 1FG9-080G 13/16" X16UN G12"x14 | 31 | 485 | 27 27 | 151 2 IN-06-12 73/8"X18 Z3/4"X14 16 195 455 | 27 122 17 ‘
IN-08 71/2"X14 71/2"X14 19.5 19.5 48 2 81 21
1FG9-08-120G 13/16"X16UN G3/4"X14 | 335 | 515 | 30 36 | 21| 16 e 21; S 23; XL o5 ox 9 = e -
1FG9-10-060G 1"X14UNF G3/8"X19 | 335 | 405 | 27 22 | 147 IN08.16 212" X4 71" X115 19'5 25'5 = s 39 ”
1FG9-10-120G 1"X14UNF G3/4"X14 36 515 | 30 36 258 1N-12-16 Z3/4"X14 71" X115 19.5 25.5 55 36 225 1
1FG9-10-160G 1"X14UNF G1"X11 | 39.5 | 585 | 36 41 | 395| 16 IN-12-20 73/4"X14 | 71.1/4"X115| 195 26.5 59 46 408 8
1FG9-12-080G 1.3/16"X12UN G1/2"X14 | 375 | 495 | 30 21 | 238| 25 IN-16 Z1"X11.5 71" X11.5 255 25.5 595 | 36 222
1FG9-120G 1.3/16"X12UN | G3/4"X14 | 375 | 515 | 30 | 36 | 301 IN-16-20 ZU'X115 | ZL1/4"X1L5| 255 265 64 | 46 | 400
1FG9-12-160G | 1.3/16"X12UN | G1"X11 | 41 | 485 | 36 | 41 |39 IN-16-24 Zl/ XILS | 2112 X115 | 255 205 | 68 | S0 | 5%
1N-20 Z1.1/4"X11.5| Z1.1/4"X11.5 | 265 26.5 63 46 376
1FG9-16-120G 1.7/16"X12UN G3/4"X14 | 415 | 56 | 36 36 | 362 - / -
1FG9-160G 1.7/16" X12UN GL"X11 | 415 | 585 | 36 | 41 | 237 IN2024 | 7R XILS|L ZLYZ XILS | 265 210 S B S
- : - : IN-24 Z1.1/2"X11.5| Z1.1/2"X11.5 | 275 275 66.5 | 50 592
_ ~ n n 7
1FG9-16-200G 1.7/16"X12UN | GL.1/4"X11 | 445 | 61 | 41 50 | 596 | 16 IN2432 | ZL12'X1Ls| 22" X1L5 o5 s - e 95
1FG9-20-160G l.ll/lG”XlZUN Gl "Xll 445 61 41 41 525 1N-32 72 ”Xll.5 ZZ” X11.5 275 275 71.5 65 735
1FG9-2006 1.11/16"X12UN | G1.1/4"X11 | 445 | 61 | 41 50 | 652
1FG9-20-240G 1.11/16"X12UN | G1.1/2"X11| 49 | 645 | 50 55 | 767
1FG9-240G 2" X12UN GL1/2"X11| 49 | 645 | 50 55 | 875
EHORFSIMELORE T EEH/REIMENOMEEX =& 2~ 90°ZE X Il R HE B JMELL90° ELBOW NPT MALE
ORFS MALE O-RING/BSP MALE O-RING RUN TEE |’ o
T2 T = ERte 841 THREAD R~ DIMENSIONS = |Eh=g
' Eafe B4 THREAD R DIMENSIONS | & | E/% = ’T PART NO. T1 T 1 2 st (=208 Vps
3 |
_ « PART NO. 1 2 T3 L1 | L2 |13 |s1]|s2 |(8)|%MPa T ] o 1N9-02 71/8"X27 | 71/8"X27 21 21 11 21 345
S AFFG-04-04-020G | 9/16"X18UNF | 9/16"X18UNF |G1/8"X28 |21.5|21.5| 30 |14 |14 | 58 = # 1N9-02-04 71/8"X27 | 71/4"X18 235 25.5 14 31 975
A — B m m m L 1N9-04 71/4"X18 | 71/4"X18 25.5 25.5 14 39 :
- AFFG-040G 9/16 ')'(lSUNF 9/16 '>v(18UNF Gl/4”Xl9 235(235(36 [19]19 | 80 | 315 N5 0406 a8 | 238718 e m 5 =
m L3 AFFG-06-06-040G 11/16 X16UN 11/16 X16UN Gl/4 X19 | 25 25 36 19 |19 | 106 1N9-04-08 Zl/4"X18 21/2”)(14 30.5 36.5 22 86
AFFG-060G 11/16"X16UN | 11/16"X16UN |G3/8"X19 [26.5|26.5| 38 |19 |22 | 130 1N9-06 73/8"X18 | 73/8"X18 31 31 19 75 21
AFFG-08-08-060G | 13/16"X16UN | 13/16"X16UN [G3/8"X19| 28 | 28 | 38 | 19|22 |144 )5 1N9-06-08 73/8"X18 | 71/2"X14 33.8 37.3 22 106
m m m 1N9-08 71/2"X14 | 71/2"X14 37.3 37.3 22 130
AFFG-080G 13/16"X16UN | 13/16"X16UN |G1/2"X14 | 31 | 31 [48.5|27 |27 | 210 - .
1N9-08-12 71/2"X14 | 73/4"X14 40 44 27 184
AFFG-10-10-080G 1"X14UNF 1"X14UNF  [G1/2"X14 |33.5(33.5|48.5 | 27 | 27 | 280 /2 [ 17
IN9-12 73/4"X14 | 73/4"X14 44 44 27 228
AFFG-10-10-120G 1"X14UNF 1"X14UNF  [G3/4"X14 | 36 | 36 |51.5[30 |36 |359 IN9-12-16 73/4"X14 | 71"X115 46.5 50 33 311 1
AFFG-120G 1.3/16"X12UN | 1.3/16"X12UN |G3/4"X14 |37.5[37.5[51.5| 30 | 36 | 444 . 1N9-16 Z1I'XLL5 | Z1'XLL5 50 50 33 382
AFFG-12-12-160G | 1.3/16"X12UN | 1.3/16"X12UN | G1"X11 | 41 | 41 |58.537 |41 | 597 mgﬁ ;ﬁgiﬂg iigiﬂg Zg Zg jé gig 8
AFFG-160G 1.7/16"X12UN | 1.7/16"X12UN | G1"X11 |415[41.5(58.5(37 [41 | 715 IN932 72"X115 | 22"X115 68 68 & | 13s 1
85 86



oSk | SRl Sl | TiE sk

ADAPTER JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING ADAPTER
A 90° 7 B IMELY/FEHINPSMABRLI60°9h # EHAHEEBRY/MEENIRY
BN 90°ELBOW NPT MALE/NPSM FEMALE 60° CONE NPT MALE/NPT FEMALE
s2
n Y ope #2450 THREAD R~F DIMENSIONS Y e 240 THREAD Rt DIMENSIONS . |Ehes
™ = Fafts =8 ( )Eh% s8(g EHER
— PART NO. T1 ™ L1 12 S1 $2 &l MPa PART NO. T1 T2 L1 L S1 MPa
| INU9-04 | Z1/4"X18 1/4" X18NPSM 277 | 224 | 14 | 19 | 37 | 275 5N-02 Z1/8"X21 Z1/8"X21 105 264 | 17 25 | 345
= INU9-06 | Z3/8"X18 | 3/8"XISNPSM 3 [as1 ] v [ 2] e | 5N-04-02 Z1j4_X18 ZL/8 X271 15 22 17 LT
2NU9-08 | Z1/2"X14 1/2" X14NPSM 374 | 282 | 22 27 110 SN-04 Z1/ 4"X18 Z1/ 4" X18 1> 353 19 38
- - 5N-04-06 71/4"X18 73/8"X18 15 37 24 58
2NU9-12 | Z3/4"X14 3/4" X14NPSM 40.4 33 27 32 181 17 N4 Z3/8"X18 214718 1 - o 8
2NU9-16 Z1"X11.5 1" X11.5NPSM 50 391 | 33 41 325 14 m r
& 7K . - 5N-06 73/8"X18 73/8"X18 16 37 24 63 ) AE
< iR 2NU9-24 | 71.1/2"X11.5 | 1.1/2"X11.5NPSM 67 48 48 55 824 . 5N-08-06 71/2"X14 73/8" X18 19.5 28.5 24 54 X2
H 2NU9-32 72"X11.5 2" X11.5NPSM 762 | 577 | 63 70 | 1249 5N-08 71/2"X14 71/2"X14 19.5 475 30 124 b
5N-08-12 71/2"X14 73/4" X14 19.5 49 36 160
5N-12-08 73/4"X14 71/2"X14 19.5 30 27 72 17
5N-12 73/4"X14 73/4" X14 25.5 49 36 165
4N 5N-16-12 71"X11.5 73/4"X14 25 345 | 36 139 u
S5 48 MBSk 5N-16 21" X11.5 71 >'<‘11.5 25 60.5 41 269
NPT MALE PLUG 5N-16-20 71" X115 71.1/4"X11.5 25.5 62.5 50 351
5N-20-16 71.1/4"X11.5 71"X11.5 25.5 375 46 236 8
=g pe #2470 THREAD Rt DIMENSIONS _ EHER 5N-20 71.1/4"X11.5 | Z1.1/4"X11.5 25.5 63.5 50 396
PART NO. 1 L1 L s1 EE8(g)| ypa 5N-20-24 71.1/4"X11.5 | 71.1/2"X11.5 25.5 63.5 60 559
S s . N 5 5N-24-20 71.1/2"X11.5 | Z1.1/4"X11.5 26.5 40 50 311 7
| 4N-02 / : ! ! ! 345 5N-24 71.1/2"X11.5 | Z1.1/2"X11.5 26.5 64.5 65 727
B 4N-04 Z1/4"X18 15 20 17 20 275 5N-24-32 71.1/2"X11.5 72"X11.5 265 67 70 673
L . 4N-06 73/8"X18 16 21 19 30 5N-32-24 72"X115 Z1.1/2"X115 275 44.5 65 605 7
- 21 5N-32 72"X11.5 72"X11.5 27.5 67.6 70 728
4N-08 71/2"X14 195 27 22 56
4N-12 73/4"X14 195 29.5 27 95 17
4N-16 71" X11.5 25.5 36.5 36 185 14
4N-20 71.1/4"X11.5 26.5 385 46 315 8 5N9
4N-24 71.1/2"X11.5 27.5 43 50 444 . .
7 90°ZE S 75 HE B JME S/ 16 B N IR
4N-32 72" X115 275 435 65 686 90° ELBOW NPT MALE/NPT FEMALE
Eate 847 THREAD Rt DIMENSIONS g5 ( o ENER
PART NO. T1 T2 L1 L2 S1 (e MPa
GN 5N9-02 71/8"X27 71/8"X27 24.5 17.8 16 25 345
EHImEERNEN =R 5N9-04 71/4"X18 71/4"X18 28 224 19 40 27.5
N NPT FEMALE TEE 5N9-04-06 71/4"X18 73/8"X18 31 25 24 60
i J . 5N9-06 73/8"X18 73/8"X18 335 25 24 74 21
- : - PRES — B I'Z"READ - — RTILDZ'MENSONSSI |§§(g) £ 5N9-08 71/2"X14 71/2"x14 412 | 312 | 30 | 138
A 5N9-12-08 73/4"X14 71/2"X14 45 31.2 30 176
N GN-02PK 71/8" X27 71/8" X27 71/8" X27 20 | 20 | 20 | 16 | 48 | 345 5NO-12 73/4"X14 73/4"X14 50 345 3 174 17
u i\ﬂu GN-04PK | Z71/4"X18 71/4"X18 71/4"X18 | 225 | 225 [225] 19 | 61 SN9-10 71"X1L5 J1'X1L5 a5 a1 a1 310 a
GN-06PK | Z73/8"X18 73/8"X18 73/8"X18 | 26 | 26 | 26 | 24 | 112 | 21 SN9-20 Z11/2"X115 71.1/4"X115 = ey 8 458 8
GN-08PK | Z1/2"X14 71/2"X14 71/2"X14 | 31 | 31 | 31| 27 | 133 SN924 Z11/2"X1L5 71.1/2"X115 s 28 = 935
_ n n n 7
GN-12PK | Z73/4"X14 73/4" X14 73/4"X14 | 34 | 34 | 34| 33| 194 | 17 SNO-32 72" X115 79'X1L5 s = o 840
GN-16PK | Z1"X115 71"X11.5 Z1"X115 | 42 | 42 | 42 | 41 | 365 | 14
GN-20PK | 71.1/4"X11.5| Z1.1/4"X115 | Z1.1/4"X11.5| 48 | 48 | 48 | 50 | 530 | 8
GN-24PK | 71.1/2"X115| 71.1/2"X115 | 71.1/2"X11.5| 53 | 53 | 53 | 60 | 1027 ;
GN-32PK | Z2"X115 72"X11.5 72"x115 | 62 | 62 | 62 | 70 | 1202
87 88



oSk | SRl Sl | TiE sk

ADAPTER JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING ADAPTER
7N 1)
EHIREERIEN FEHIJICHMBLT AN 5
NPT FEMALE JIC MALE 74° CONE
\I_U]_lj[ ;?‘I’T-El\ﬁ) _ B2 THREAD _ RL;I DIMENSIC;TS 2 (g Eﬁp%aé& T Eake #247 THREAD Rt DIMENSIONS =8 [FH%
: T T PART NO. T1 T2 1| L s1 | (g | Mpa
7N-02 71/8"X27 71/8"X27 24 17 28 34.5 —L - -
\ 7N-02-04 71/8"X27 Z1/4"X18 27 19 38 275 — 1J-04 7/16 "X20UNF 7/16"X20UNF | 14 | 14 | 34 12 | 23
L 7N-02-06 71/8" %27 73/8"X18 30 22 55 = ‘:”]—[L-_]]—[“: - 1J-04-05 7/16 "X20UNF 1/2"X20UNF | 14 | 14 | 34 14 | 26 | 345
7N-04 Z1/4"X18 Z1/4"X18 29 19 33 1J-04-06 7/16 "X20UNF 9/16 "X18UNF | 14 | 141 | 36 17 | 35
7N-04-06 Z1/4 X18 Z3/8°X18 31 22 49 21 “ 1J-04-08 7/16 "X20UNF 3/4"X1I6UNF | 14 | 167 | 385 | 22 | 60 | 31
ngg-os %g..ﬁg ggﬁg 33 gg 13279 1J-05 1/2 "X20UNF 2"X20UNF | 14 | 14 | 348 | 14 | 29| _
7N-06-08 73/8"X18 71/2"X14 38 30 128 1J-05-06 1/2 "X20UNF 9/16"X18UNF | 14 | 141 | 34 17 | 35 '
& 7K 7N-06-12 73/8"X18 73/4"X14 40 36 201 17 1J-05-08 1/2 "X20UNF 3/4"X16UNF | 14 | 167| 385 | 22 | 63 | 31 K
o 7N-08 Z1/2"X14 Z1/2"X14 38 30 110 21 1J-06 9/16 "X18UNF 9/16"X18UNF | 14.1| 141 | 342 | 17 | 35 | 345 045
= é‘ ngg-lz gﬁﬁj gj”ﬁj ‘3‘3 gg }Z; 17 1J-06-08 9/16 ::X18UNF 3/4 ::X16UNF 141] 167 385 | 22 [ 62| 31 tJE((
IN-12-16 73/4"X14 Z1"X1L5 255 a1 227 ” 1J-06-10 9/16” X18UNF 7/8 'X4UNF_| 1411103 | 415 | 24 | 8L | 24 ;
7N-16 Z1"X115 Z1"X11.5 48 41 183 1J-08 3/4 "X16UNF 3/4"X16UNF | 16.7 | 16.7| 42 2 | 78| 31
7N-20 71.1/4"X11.5 Z1.1/4"X11.5 49 50 239 8 1J-08-10 3/4 "X16UNF 7/8"X14UNF | 16.7 | 193 | 44 24 92
N-24 Z1.1/2"X11.5 Z1.1/2°X11.5 49 60 409 7 1J-08-12 3/4"X16UNF_ | 11/16"X12UN | 16.7 | 21.9| 49 | 30 | 148
N-32 £2 X115 £2 X115 20 0 422 1J-10 7/8 "X14UNF 7/8"X14UNF | 193 | 193 | 465 | 24 | 102] 2
1J-10-12 7/8 "X14UNF 1.1/16"X12UN | 193 | 219 | 51 30 | 152
1J-10-16 7/8 "X14UNF 1.5/16"X12UN | 193 | 231 535 | 36 | 219
1J-12 1.1/16"X12UN 1.1/16"X12UN | 21.9 | 21.9| 54 30 | 175
7N9 1J-12-14 1.1/16"X12UN 1.3/16"X12UN | 219 | 226 | 555 | 32 | 203
90 2 &I\ 75 i & RIB 4L 1J-12-16 1.1/16"X12UN 1.5/16"X12UN | 21.9 | 23.1 | 56.1 36 | 236 | 21
90°NPT FEMALE 1J-14 1.3/16"X12UN 1.3/16"X12UN | 22.6 | 22.6 | 56.1 32 239
RS #8457 THREAD R~F DIMENSIONS - EHEE 1J-14-16 1.3/16"X12UN 1.5/16"X12UN | 22.6 | 23.1 | 56.5 36 260
PART NO. 1 = 1 5 s 12208 Vpa 1J-16 1.5/16"X12UN 1.5/16"X12UN | 23.1| 23.1| 57 36 | 257
7N9-02 71/8"X27 71/8"X27 20 20 16 ) 345 1J-16-20 1.5/16"X12UN 15/8"X12UN | 23.1| 243 | 605 | 46 |384| 17
7N9-04 71/4"X18 71/4"X18 225 225 19 51 )1 1J-16-24 1.5/16"X12UN 1.7/8"X12UN | 23.1 | 27.5| 65.5 50 497 | 14
7N9-06 73/8"X18 73/8"X18 26 26 24 96 1J-20 1.5/8"X12UN 1.5/8 "X12UN 243 | 243 | 62 46 422 17
7N9-08 71/2"X14 71/2"X14 31 31 27 114 21 1J-20-24 1.5/8"X12UN 17/8"X12UN | 243 | 275 | 67 50 | 523| 14
7N9-12 73/4" X14 73/4"X14 34 34 33 173 17 1J-20-32 1.5/8 "X12UN 2.1/2"X12UNUN | 243 | 339 | 75 65 | 978 | 105
7N9-16 71"X11.5 71"X11.5 42 42 41 320 14 1J-24 1.7/8"X12UN 1.7/8"X12UN | 275 | 275 | 70 50 | 553 | 14
7N9-20 Zl.1/4:: X115 Zl.l/4:: X115 48 48 50 469 8 1J-24-32 1.7/8"X12UN 2.1/2"X12UNUN | 27.5 | 33.9 | 785 | 65 | 896
TN9-24 ZLY2 X115 | Z11/2 XIL >3 >3 60 885 7 132 2.1/2"X12UNUN | 2.1/2"X12UNUN| 339 | 339 | 85 65 |11s0| 02
7N9-32 72"X11.5 72"X11.5 62 62 70 1048
1J)4 " 1J9
A5°ZEHIJICHMRLBLT4°5h ¢ 90°FEHIJICIMERT 45 ke
45°JIC MALE 74° CONE : " 90°JIC MALE 74° CONE
=oee #8247 THREAD R~ DIMENSIONS &8 |EHz=s k =" j-__ ERAe #8247 THREAD R+ DIMENSIONS B8 ( g FNER
PART NO. ! ™ L1 L2 s1 | (8| MPa NI e = & - = > i
" -ﬁ 1J9-04 7/16" X20UNF | 7/16" X20UNF 23 23 11 27
1J4-04 7/16"X20UNF | 7/16"X20UNF | 21.5 215 11 25 1J9-05 1/2"X20UNF | 1/2" X20UNF 245 245 14 35 345
- ” 1J9-06 9/16"X18UNF | 9/16"X18UNF | 269 26.9 14 46
1J4-05 1/2"X20UNF | 1/2"X20UNF 23 23 14 33 | 345 11503 3/ XI6UNF | 3/8" XL6UNF > > I 100 o
1J4-06 9/16"X18UNF | 9/16"X18UNF | 228 228 14 39 1J9-10 7/8" X14UNF |  7/8" X14UNF 37.8 37.8 2 146 o
1J4-08 3/4"X16UNF | 3/4"XI6UNF | 26.8 26.8 19 | 83| 31 1912 | LU/I6"XI2UN | 11/16'XI2UN | 442 4.2 21| 246
1J9-14 1.3/16"X12UN | 1.3/16"X12UN | 475 475 30 361 31
1J4-10 7/8"X14UNF | 7/8"XI4UNF 31 31 22 20, 1J9-16 1.5/16" X12UN | 1.5/16" X12UN 46 46 33 363 21
1J4-12 1.1/16"X12UN | 1.1/16"X12UN | 355 355 27 198 1J9-20 1.5/8"X12UN | 1.5/8"X12UN 55.5 55.5 41 363 17
1J9-24 1.7/8"X12UN | 1.7/8"X12UN 62.5 62.5 48 863 14
1J4-16 1.5/16"X12UN | 1.5/16"X12UN | 373 373 33 205 | 21 193 212" X120N | 2.1/2" X120N 8 s = 1890 | 105

89 90



oSk | SRl Sl | TiE sk

ADAPTER JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING ADAPTER
6J. 6J-LN A)
Tem— SE45JICHMBLT 45 T AR - EHIJICIMRET A = 08
JIC MALE 74° CONE BULKHEAD ! 90°JIC MALE 74°CONE TEE
= | - | 3 oo 24 THREAD <+ DIMENSIONS =
Eafe #4 THREAD Rt DIMENSIONS 58 |EH= LAk L i i B R %g) %zf‘;
. PART NO. T1 ™ L1 2 L s1 ) ( g) | £&kMPa o Y = = = ol . Tl T2 T3 L1 L2 L3 S1 g
6J - - \ﬂ AJ-04 | 7/16"X20UNF| 7/16"X20UNF | 7/16"X20UNF | 24.5|24.5|245| 11 | 44
6):04 L 16” X20UNF 7/ 16” X20UNF 14 1305]526) 17 | 17 | 43 u 2 AJ-05 1/2"X20UNF | 1/2"X20UNF | 1/2"X20UNF | 26 | 26 | 26 | 14 | 56 | 345
= 6J-05 1/2 "X20UNF 1/2 "X20UNF 14 1305]526] 19 | 19 | 53 | 345 AJ-06 | 9/16"X18UNF| 9/16"X18UNF | 9/16" X18UNF | 26.9| 269 26.9| 14 | 70
D 6.-06 9/16 X18UNF 9/16"XI8UNF | 14.1| 325|554 22 | 22 | 69 AJ-08 | 3/4"X16UNF| 3/4"x16UNF | 3/4"x16UNF | 32 [ 32 | 32 | 19 [ 150 | 31
o . 6J-08 3/4" X16UNF 3/4" X16UNF 167(365| 62 | 24 | 24 |119] 31 AJ-10 7/8"X14UNF | 7/8"X14UNF | 7/8"X14UNF |37.8|37.8|37.8| 22 | 220 o
5 7K o s 6J-10 7/8" X14UNF 7/8" X14UNF 193] 401|696| 30 | 30 | 176 9y AJ-12 | 1.1/16"X12UN| 1.1/16"X12UN | 1.1/16"X12UN | 44.2 | 44.2| 44.2| 27 | 370 X
n " n =
%ﬂ% 6J-LN 6J-12 l.l/lG”XlZUN l.l/lG"XlZUN 219 | 444 | 785 36 36 287 AJ-16 1.3/16 X12UN 1.3/16 X12UN 1.3/16 X12UN 49 49 49 33 558 21 f_‘%%
<< g2 R " " n ”\<
a )14 1.3/16" X12UN 1.3/16" X12UN 226 | 244 | 7921 38 | 38 | 327 AJ-20 | 1.5/8"X12UN| 1.5/8"X12UN | 1.5/8"X12UN |56.5|56.5|56.5| 41 | 966 | 17 -
‘ 16 15/16"X 120N 15/16" X 120N 31l aaal 708 ar | a1 304 21 AJ24 | 1.7/8"X12UN| 1.7/8"X12UN | 1.7/8"X12UN | 63 | 63 | 63 | 48 |1305| 14 ‘
- - . . . AJ-32 | 2.1/2"X12UN| 2.1/2"X12UN | 2.1/2"X12UN | 78 | 78 | 78 | 63 |2835| 10.5
6J-20 1.5/8"X12UN 1.5/8"X12UN 243 | 457|841 50 | 50 | 605| 17
6J-24 1.7/8"X12UN 1.7/8"X12UN 275| 46 | 89.4| 55 | 55 | 766 | 14
6J-32 2.1/2"X12UN 2.1/2"X12UN 339 53.1|106.7| 70 | 70 |1514| 105 2]
A INEFHEES, WIEERSEM LN, 306J-12LN,
Nortte':\llg c%ase if you largjnltglic’e\lsted to order the adapter with lock nut,please insert suffix "LN"after our &) JICHMBLTA N/ JICRIB LT 4 PO $E
part WL, forexample o~ JIC MALE 74° CONE/JIC FEMALE 74° SEAT
EIAe 1247 THREAD R~t DIMENSIONS =8 [FHZH
PART NO. T1 T L1 L S1 s2 | (g)| MPa
2J-04 7/16"X20UNF | 7/16"X20UNF 14 28 12 14 | 17
GJ 9 6J 9 - |_ N 2J-04-05 7/16"X20UNF |  1/2"X20UNF 14 28.5 12 17 19 | 345
-~ " "
2J-04-06 7/16"X20UNF | 9/16"X18UNF 14 28.5 14 19 | 23
| o 3t 3
i %%“'C%ﬁfﬁ” s RIS 2J-04-08 7/16"X20UNF |  3/4 "X16UNF 14 30.5 19 24 | 31 31
JICMALE 74° CONE BULKHEAD 2J-05 1/2"X20UNF | 1/2 "X20UNF 14 29 14 LA YN
s W84 THREAD R DIMENSIONS o ’_ﬁ%i&‘ 2J-05-06 1/2 ”X20UNF 9/16” X18UNF 14 285 14 19 | 25
e (%3 iMPa‘ 2J-05-08 1/2"X20UNF | 3/4"X16UNF 14 30.5 19 24 | 33 31
) T1 T2 L1 L2 L3 | sl | 2 2J-06 9/16"X18UNF | 9/16"X18UNF 14.1 29 17 19 32 | 345
] 6J9-04 7/16"X20UNF | 7/16"X20UNF | 246 | 404 | 26 | 11 | 17 | 38 2J-06-08 9/16"XI8UNF | 3/4"XI6UNF | 14.1 31 19 | 24 |36 | 31
| - - 2J-06-10 9/16"X18UNF | 7/8"X14UNF 14.1 335 22 27 | 49 24
i N i 6J9-05 1/2"X20UNF 1/2"X20UNF | 269 | 43.7| 26 | 14 | 19 | 51| 345 08 3/4"X16UNF | 3/4"XI6UNF 6.7 % ) YRR
. 31
! 6J9-06 9/16"X18UNF 9/16"X18UNF | 27.7| 46 | 27.7| 14 | 22 | 63 2J-08-06 3/4"X16UNF | 9/16"X18UNF 16.7 34 22 19 | 63
6J9-08 3/4"X16UNF 3/4"X16UNF | 345 53.6| 31.7| 19 | 27 |122| 31 2J-08-10 3/ 4,,X16UNF /8 >f|l4UNF 16.7 365 22 27 64
6J9 6J9-LN 2J-08-12 3/4"X16UNF | 1.1/16"X12UN 16.7 39.5 27 32 | 9
6J9-10 7/8"X14UNF 7/8"X14UNF | 39.6 | 60.7 | 353 | 22 27 | 195 2J-10 7/8 "X14UNF 7/8 "X14UNF 19.3 39 24 27 82
24 n n
6J9-12 1.1/16"X12UN 1.1/16"X12UN | 452 | 67.8| 39.5| 27 | 36 |315 2J-10-08 T/8"X1AUNF | 3/4 "X16UNF 193 38 24 24 | 79| 24
- 2J-10-12 7/8 "X14UNF | 1.1/16"X12UN 19.3 42 27 32 | 100
6J9-14 1.3/16"X12UN 1.3/16"X12UN | 488 | 71.1| 39.5| 41 | 38 |390 212 L1/16"X12UN | 1.1/16"X120N 19 245 ) 2 | 133
21 . . ) .
6J9-16 1.5/16"X12UN 1.5/16"X12UN | 493 | 71.1| 39.5| 41 | 41 |475 2J-12-10 1.1/16"X12UN |  7/8 "X14UNF 21.9 435 30 27 | 137
” " -12- 1.1/16"X12UN | 1.5/16"X12UN 21.9 455 36 41
6J9-20 1.5/8"X12UN 1.5/8"X12UN | 55.1| 79.5| 41 | 41 | 48 |767| 17 ijiz 16 1 5;16"X12UN 1 5;16,,X12UN 31 65 % il igg 21
A NFH UG ES, MBEERSEM LN, 06J9-12LN. 2J-16-20 1.5/16"X12UN | 1.5/8"X12UN 231 53 41 50 | 260] .
Note: In case if you are interested to order the adapter with lock nut,please insert suffix “LN” after our 2J-20 1.5/8"X12UN 1.5/8"X12UN 24.3 54.5 46 50 359
part NO, for example 6J9-12LN 2J-20-24 1.5/8"X12UN | 1.7/8"X12UN 24.3 555 | 46 55 | 48]
2J-24 1.7/8"X12UN | 1.7/8"X12UN 275 61 50 55 | 465
2J-24-32 1.7/8"X12UN | 2.1/2"X12UN 275 63 65 75 | 626 105
2J-32 2.1/2"X12UN | 2.1/2"X12UN 33.9 69.5 65 75 | 853 ‘

91

92



o iE 3%k

SEhlizSk

SemlizSk

i % sk

ADAPTER JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING ADAPTER
90°Z= Il ICHMBRLTAINE/ JICIRIR AT 4° R £ EHIJICIMRL T4 9N /ZHRJICRIBU T4 REEZT =8
90°JIC MALE 74° CONE/JIC FEMALE 74° SEAT JIC MALE 74° CONE/JIC FEMALE RUN TEE
s #8247 THREAD R~ DIMENSIONS EE( EHER ! Eafre 1247 THREAD R~ DIMENSIONS | =& |FEH=
PART NO. T1 T L1 s1 2 2 8 wMpa PART NO. ! T2 T3 L1 |L2]s1| s2 | (g)|%MPa
21904 7/16" X20UNF 7/16" X20UNF e I 1 18 CJ-04 7/16" X20UNF | 7/16"X20UNF | 7/16"X20UNF | 23 [ 23| 11| 14 | 32
1905 172" X20UNF /2" X20UNF a1 " I p 305 . CJ-05 1/2"X20UNF | 1/2"X20UNF 1/2"X20UNF | 24.5(245| 14 | 17 | 44 | 345
- . - : CJ-06 9/16" X18UNF | 9/16"X18UNF | 9/16"X18UNF |26.9{26.9) 14| 19 | 55
219-06 9/16 X18UNF 9/16 "X18UNF 269 14 19 32 CJ-08 3/4"X16UNF | 3/4"X16UNF 3/4"X16UNF | 32 [ 32| 19| 24 | 100| 31
2J9-06-08 9/16 " X18UNF 3/4 " X16UNF 28.5 16 24 40 CJ-10 7/8" X14UNF | 7/8"X14UNF 7/8"X14UNF | 37 | 37| 22| 27 | 172 o
2J9-08-06 3/4"X16UNF 9/16"X18UNF 32 19 19 65 31 CJ-12 1.1/16"X12UN | 1.1/16"X12UN | 1.1/16"X12UN |42.5[42.5] 27 | 32 | 284
qu 51903 3/4" XI6UNF 3/4"X16UNF = 19 24 70 CJ-14 1.3/16"X12UN | 1.3/16"X12UN | 1.3/16"X12UN | 45.7[45.7| 30 | 36 | 347 )1 A
o 4 " " "
52 m " CJ-20 1.5/8"X12UN | 1.5/8"X12UN | 1.5/8"X12UN | 53 | 53| 41| 50 | 789 | 17 HR<
2l 2J5:10 7/8 XL4UNF 7/8 XIAUNF 368 2 27 | 100 CJ-24 17;8"X12UN 17;8"X12UN 17;8"X12UN 59.2(59.2| 48 | 55 | 1002| 14 b
2J9-10-08 7/8 " X14UNF 3/4"X16UNF 36.8 22 24 92 : : - —
- 24 CJ-32 2.1/2"X12UN | 2.1/2"X12UN | 2.1/2"X12UN |77.7|77.7| 63| 75 |2208| 10.5
2J9-10-12 7/8 " X14UNF 1.1/16"X12UN 39.5 24 32 | 123
2J9-12 1.1/16"X12UN 1.1/16"X12UN 422 27 32 | 165
2J9-12-10 1.1/16"X12UN 7/8"X14UNF 422 27 27 | 147 3)
2J9-12-16 1.1/16"X12UN 1.5/16"X12UN 46 30 41 | 195 . Y ——.
2J9-14 1.3/16"X12UN 1.3/16"X12UN 457 30 36 | 207 -
/ . / . JIC FEMALE 74° SEAT
2J9-16 1.5/16"X12UN 1.5/16"X12UN 46 33 41 | 247 Py W THREAD R DIMENSIONS e
s R= ) = <
_ . n n E_
2J9-16-20 1.5/16" X12UN 1.5/8 "X12UN 54 41 50 | 375 . PART NO. - 5 1 o 5 20| wpa
2J9-20-16 1.5/8"X12UN 1.5/16"X12UN 523 41 41 | 365 304 7/16" X20UNF 7/16" X20UNF 1 s s >
2J9-20 15/8"X12UN 15/8"X12UN 52.3 41 50 460 3J-05 1/2 "XZOUNF 1/2 "X20UNF 21 17 17 35 34.5
2J9-20-24 1.5/8"X12UN 1.7/8" X12UN 59.5 48 55 524 3J-06 9/16" X18UNF 9/16" X18UNF 21 19 19 44
2J9-24-20 1.7/8"X12UN 1.5/8"X12UN 62.5 48 50 | 593 14 3J-06-08 | 9/16"X18UNF 3/4"X16UNF 23 19 24 67 2
2J9-24 1.7/8"X12UN 1.7/8"X12UN 62.5 48 55 | 616 3J-08 3/4"X16UNF 3/4" X16UNF 26 24 24 98
2J9-32 2.1/2"X12UN 2.1/2"X12UN 78 63 75 | 1271 | 105 3J-10 7/8" X14UNF 7/8" X14UNF 27 27 27 133 "
3J-12 1.1/16"X12UN 1.1/16"X12UN 29 32 32 209
3J-16 1.5/16"X12UN 1.5/16" X12UN 29 41 41 309 21
3J-20 1.5/8"X12UN 1.5/8"X12UN 35 50 50 556 17
BJ 3J-24 1.7/8"X12UN 1.7/8"X12UN 355 55 55 730 14
EHIJICIMBLT49MNEE /S HIICRBATA REN X =8
JIC MALE 74° CONE/JIC FEMALE BRANCH TEE 4)
@RS $240 THREAD R~ DIMENSIONS B2 |EHE &) ICHMBLITA G SEE L
PART NO. T1 T2 T3 Ll [ 2 [s1[s2] (g |%MPa J1C MALE 74° CONE PLUG
BJ-04 | 7/16"X20UNF | 7/16" X20UNF| 7/16"X20UNF| 23 | 23 | 11 | 14 | 32
. BJ-05 1/2" X20UNF | 1/2"X20UNF | 1/2"X20UNF | 245 | 245 | 14 | 17 | 44 | 345 e 247 THREAD R~ DIMENSIONS (o | ENER
BJ-06 | 9/16"X18UNF | 9/16" X18UNF| 9/16" X18UNF| 269 | 269 | 14 | 19 | 55 PART NO. T1 1 L S1 208 wpa
BJ-08 3/4:: X16UNF 3/4:: X16UNF 3/4:: X16UNF | 32 32 19 24 | 109 31 4J-04 7/16 "X20UNF 14 20.3 12 15
BJ-10 7/8 >‘(‘14UNF 7/8 )‘('14UNF 7/8 )'('14UNF 3 |3 | 2 ], 205 1/2 "X20UNF 4 203 12 0 345
BJ-12 | 1.1/16"X12UN | 1.1/16"X12UN]| 1.1/16"X12UN| 425 | 425 | 27 | 32 | 284 2006 9/16 "X18UNF a1 203 17 4
o [ D e e e e 7T A = B
- e e e - 7/8 "X14UNF . .
BJ-20 | 1.5/8"X12UN | 1.5/8"X12UN | 1.5/8"X12UN| 53 | 53 | 41 | 50 | 789 | 17 jj ig : { o L2UN ;?3 ;;;’ ig 17216 24
BJ-24 | 1.7/8"X12UN | 1.7/8"X12UN | 1.7/8"X12UN | 59.2 | 59.2 | 48 | 55 | 1002 | 14 - 1/ . : -
BJ32 | 2.1/2"X12UN | 2.1/2"X12UN | 2.1/2"X12UN | 77.7 | 77.7| 63 | 75 | 2208 | 105 jﬁ: i; igigﬂm ;ii 3;3 22 i:i 21
4J-20 1.5/8 "X12UN 24.3 36.8 46 317 17
4J-24 1.7/8 "X12UN 27.5 42 50 434 14
432 2.1/2"X12UN 33.9 52 65 926 10.5
93 94



62
Ll
=
o
<
(=)
<<

7K
#
2
b

o iE 3%k

ADAPTER

95

SEhlizSk

JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING

9)

EHIJICRBBLT4 A K
JICFEMALE 74° SEAT PLUG

SemlizSk

i % sk

Eare 1247 THREAD R~F DIMENSIONS EHER
PART NO. T1 1 S1 &(g MPa
9J-04 7/16" X20UNF 9 15 4
9J-05 1/2" X20UNF 9.5 17 6 34.5
9J-06 9/16" X18UNF 10.5 19 7
9J-08 3/4" X16UNF 11 24 15 31
9J-10 7/8" X14UNF 13 27 25 ”
9J-12 1.1/16" X12UN 15 32 40
9J-14 1.3/16" X12UN 15 36 50 )
9J-16 1.5/16" X12UN 16 41 65
9J-20 1.5/8" X12UN 17 50 108 17
9J-24 1.7/8" X12UN 20 55 157 14
9J-32 2.1/2"X12UN 23.5 75 297 10.5
1JG
EHIJICHMBRLITA I/ R EIMESORZE
JIC MALE 74°CONE/BSP MALE O-RING
EEfge 247 THREAD R~} DIMENSIONS 58 | EH=
PART NO. T1 ™ L1 2 L s1 | (g | %Mpa
- 1JG-04-02 7/16"X20UNF G1/8'"X28 14 8 [287| 17 | 23 s
1JG-04 7/16 " X20UNF G1/4"X19 14 12 [ 32| 19 | 40
1JG-04-06 7/16"X20UNF G3/8"X19 14 12 [ 33| 22 | 49
1JG-04-08 7/16 "X20UNF G1/2"X14 14 14 [386| 27 | 102 315
1JG-05-04 1/2 "X20UNF G1/4"X19 14 12 [ 32| 19 | 38 | 345
1JG-05-06 1/2 "X20UNF G3/8"X19 14 12 | 33| 22 | 50 | 315
1JG-06-04 9/16"X18UNF G1/4"X19 141 | 12 | 32| 19 | 37 | 345
1JG-06 9/16 "X18UNF G3/8"X19 141 | 12 | 33| 22 | 52 315
1JG-06-08 9/16"X18UNF G1/2"X14 141 | 14 |386| 27 | 105 ’
1JG-08-04 3/4"X16UNF G1/4"X19 167 | 12 | 35| 19 | 55
1JG-08-06 3/4"X16UNF G3/8"X19 167 | 12 | 36| 22 | 68 31
1JG-08 3/4 " X16UNF G1/2"X14 167 | 14 |41.4| 27 | 120
1JG-08-12 3/4"X16UNF G3/4"X14 167 | 16 |424| 32 | 154| 20
1JG-10-06 7/8 "X14UNF G3/8"X19 193 | 12 |39.1| 24 | 88 o
1JG-10-08 7/8 "X14UNF G1/2"X14 193 | 14 |439| 27 | 131
1JG-12-08 1.1/16"X12UN G1/2"X14 22 14 |467| 27 | 149 | 24
1JG-12 1.1/16"X12UN G3/4"X14 219 | 16 |475| 32 | 188
1JG-12-16 1.1/16"X12UN G1"X11 219 | 18 |426| 46 | 178
1JG-16-12 1.5/16"X12UN G3/4"X14 23 16 |475| 36 | 212 20
1JG-16 1.5/16"X12UN G1"X11 231 | 18 |536| 46 | 329
1JG-16-20 1.5/16"X12UN G1.1/4"X11 231 | 20 |551| 50 | 396
1JG-20 1.5/8'"X12UN G1.1/4"X11 243 | 20 |569| 50 | 449 | 17
1JG-24-20 1.7/8"X12UN G1.1/4"X11 275 | 20 |604| 50 | 504
1JG-24 1.7/8 "X12UN G1.1/2"X11 2715 | 22 | 61| 55 | 549 1

JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING ADAPTER
9J-CAP
EHIJICRIRLT 4 PR HEIE S
) JIC FEMALE 74° SEAT PLUG
#e #24 THREAD R~ DIMENSIONS _ EHER
E[Dl PART NO. = L s1 E8(g MPa
| 9J-04CAP | 7/16"X20UNF 15.1 14 15
—-\Gl 9J-05CAP 1/2"X20UNF 15.5 17 20 34,5
9J-06CAP | 9/16"X18UNF 15.9 19 24
9J-08CAP 3/4"X16UNF 19 24 45 31
9J-10CAP 7/8"X14UNF 21.4 27 64 5
S 9J-12CAP | 1.1/16"X12UN 23 32 88 4
9J-16CAP | 1.5/16"X12UN 25.8 41 172
9J-20CAP | 1.5/8"X12UN 27 50 259 17
9J-24CAP | 1.7/8"X12UN 30.2 60 431 14
9J-32CAP | 2.1/2"X12UN 36.5 75 724 10.5
1JB-WD
EHIJICIMRLT 49t /TR E MBS B R
JIC MALE 74°CONE/BSP MALE CAPTIVE SEAL
ﬁ_ﬁr—— EERs 247 THREAD R~ DIMENSIONS 58 | FEh=
. PART NO. T1 T2 L1 L2 L | s1 | (g |%MPa
- - 1JB-04-02WD 7/16" X20UNF G1/8"X28 14 8 |30 14 | 26
1JB-04-04WD 7/16" X20UNF G1/4"X19 14 12 |348] 19 | 38
1JB-04-06WD 7/16" X20UNF G3/8"X19 14 12 |357] 2 | 5
1JB-04-08WD 7/16" X20UNF G1/2"X14 14 14 |39.2] 27 | 105
1JB-05-02WD 1/2" X20UNF G1/8"X28 14 8 |30 14 | 25
1JB-05-04WD 1/2" X20UNF G1/4"X19 14 12 |348] 19 | 25 | 345
1JB-05-06WD 1/2" X20UNF 63/8"X19 14 12 |35.7] 22 | 57
1JB-06-02WD 9/16" X18UNF G1/8"X28 14 8 |31 17 | 32
1JB-06-04WD 9/16" X18UNF G1/4"X19 141 | 12 |[351| 19 | 44
1JB-06WD 9/16" X18UNF G3/8"X19 141 | 12 | 36| 22 | 58
1JB-06-08WD 9/16" X18UNF G1/2"X14 141 | 14 |[394| 27 | 101
1JB-08-04WD 3/4" X16UNF G1/4"X19 167 | 12 [ 39| 19 | 61
1JB-08-06WD 3/4" X16UNF G3/8"X19 167 | 12 [ 39| 22 [ 59 | 31
1JB-08WD 3/4" X16UNF G1/2"X14 167 | 14 | 42| 27 | 115
1JB-08-12WD 3/4" X16UNF G3/4"X14 167 | 16 |456| 32 | 177 | 275
1JB-10-06WD 7/8" X14UNF G3/8"X19 193 | 12 [426| 24 | 98
1JB-10-08WD 7/8" X14UNF G1/2"X14 193 | 14 |445| 27 | 126
1JB-10-12WD 7/8" X14UNF G3/4"X14 193 | 16 [481) 3 |162]
1JB-12WD 1.1/16"X12UN G3/4"X14 219 | 16 |509| 32 | 211
1JB-12-06WD 1.1/16"X12UN G3/8"X19 219 | 12 |501| 27 | 157
1JB-12-08WD 1.1/16"X12UN G1/2"X14 219 | 14 | 49 | 32 | 160
1JB-12-16WD 1.1/16"X12UN G1"X11 219 | 18 |534| 41 | 312 205
1JB-16-12WD 1.5/16"X12UN G3/4"X14 231 | 16 |527| 36 | 245 | 21
1JB-16WD 1.5/16"X12UN G1"X11 231 | 18 |547| 41 | 342 | 205
1JB-16-20WD 1.5/16"X12UN G1.1/4"X11 | 23.1 | 20 [587| 50 | 382
1JB-20-16WD 1.5/8"X12UN G1"X11 243 | 18 |621| 46 | 456 | 17
1JB-20WD 1.5/8"X12UN GL.1/4"X11 | 243 | 20 | 60 | 50 | 488
1JB-20-24WD 1.5/8"X12UN GL.1/2"X11 | 243 | 22 [638] 55 | 590 | 105
1JB-24-20WD 1.7/8" X12UN G1.1/4"X11 | 275 | 20 | 62 | 50 | 544 | 14
1JB-24WD 1.7/8" X12UN GL.1/2"X11 | 275 | 22 |67.1| 55 | 633 | 105
96

sk

£
ADAPTER

i
(3




oSk | SRl Sl | TiE sk

ADAPTER JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING ADAPTER
REIMRLR B E T/ JICHIRSTA A 5 90°L EHIJICHMELT4°5M o /R B IMEL O, B % 1 AT A 1 i
BSP MALE CAPTIVE SEAL/JICFEMALE 7T4°SEAT 90° ELBOW JIC MALE 74°CONE/BSP MALE O-RING Adjustable Stud End
l=
o oke #8247 THREAD R~} DIMENSIONS 2 [Eh=y X _
) ?:/:ETTJCEO. — - ST T Tl 5 (s Eﬁiﬁj Eape #8457 THREAD R~} DIMENSIONS 58 | Eh=
—1 | 0 0 PART NO. 1 2 L1 2 | s1| s2 | (8| %MPa
A S 2BJ-02-04WD G1/8"X28 7/16"X20UNF | 8 24 | 14 | 15 | 57
2BJ02-05WD G1/8"X28 1/2 " X20UNF s 1270 2| 171 1JG9-04-020G |  7/16"X20UNF G1/8"X28 226 | 262 | 11 | 14 | 25
- = 2BJ-04-05WD G1/4"X19 1/2 "X20UNF 12 | 294 19 | 17 | 116 | 345 F 1JG9-040G 7/16" X20UNF G1/4"X19 226 | 31.8 | 14 | 19 | 41 aLs
2BJ-04-06WD G1/4"X19 9/16"X18UNF | 12 | 304 | 19 | 19 | 110 1JG9-05-020G 1/2" X20UNF G1/8"X28 241 | 277 | 14 | 14 | 30 '
2BJ-04-08WD G1/4"X19 3/4"X16UNF 12 [ 334 19 | 22 | 165 1169-05.040G 1/2" X20UNF LA X19 o6 | 3181 14 | 19 | 5
- 2BJ-06WD G3/8"X19 9/16"X18UNF | 12 | 313| 22 | 19 | 165 . . .
o >BJ-06-08WD 63/8"X19 3/ "XI6UNF o 220 22 | 22 [ 251 3t 1JG9-05-060G 1/2"X20UNF G3/8"X19 285 | 358 | 16 | 22 | 67 | 25 ZL((E
§f"§ 2BJ-06-10WD G3/8"X19 7/8"X14UNF 12 | 354 22 | 27 | 238 1JG9-06-040G |  9/16"X18UNF G1/4"X19 269 | 318 | 14 | 19 | 45 | 315 AL
) 2BJ-08-10WD G1/2"X14 7/8"X14UNF 14 | 514 27 | 27 | 275 1JG9-06-060G |  9/16"X18UNF G3/8"X19 29 | 358 19| 2| 11| 25 )
2BJ-08-12WD G1/2"X14 LI/I6"XI2UN | 14 | 397| 27 | 32 | 33| 1JG9-08-040G 3/4"X16UNF G1/4"X19 318 | 368 | 19 | 19 | 79 | 315
2BJ-12WD G3/4"X14 11/16"X12UN | 16 | 415| 32 | 32 | 495 109080000 3/4"XI6UNF G3/8" X1 IR
2BJ-12-16WD G3/4"X14 15/16"X12UN | 16 | 432 | 32 | 41 | 528 — i -
BJ16WD o1 Y11 L516"XI20N | 18 | 452| 41 | a1 | 7aa| 1JG9-080G 3/4" X16UNF G1/2"X14 338 | 432 | 22 | 27 | 139 ’
2BJ-16-20WD Gl “Xll 15/8"X12UN 18 54 41 50 700 1JG9-10-060G 7/8 "X14UNF G3/8"X19 36.8 37.1 22 22 112
2BJ-20WD G1.1/4"X11 1.5/8"X12UN | 20 | 52 | 50 | 50 |1150 1JG9-10-080G 7/8" X14UNF G1/2"X14 368 | 432 | 22 | 27 | 142
2BJ-20-24WD GL.1/4"X11 17/8"X12UN | 20 | 559 | 55 | 60 |1102| 16 1JG9-10-120G 7/8" X14UNF G3/4"X14 392 | 493 | 27 | 32 | 205| 16
2BJ-24WD Gl127X11 | 17/8 X12UN | 22 | 62 | 50 | 60 |11%2 1JG9-12-080G | 1.1/16"X12UN | G1/2"X14 | 422 | 493 | 27 | 27 | 176 | 25
1JG9-120G 1.1/16"X12UN G3/4"X14 422 | 493 | 27 | 32 | 247 | 16
1JG4-0G 1J69-12-160G | 1.1/16"X12UN G1"x11 447 | 521 | 33 | 41 | 329
o o 1JG9-16-120G |  1.5/16"X12UN G3/4"X14 46 | 482 | 33 | 32 | 308
45° 51| CHMBLT 4958/ HEE SMESLOTY B P8 YV | a
45°J1C MALE 74°CONE/BSP MALE O-RING Adjustable Stud End 1J69-1606 5/167X12U 6 6 | 521 ]33 | 4 |38] 16
1JG9-20-160G |  1.5/8"X12UN G1"x11 523 | 572 | 41 | 41 | 522
FERHE BBAL THREAD I DIMENSIONS %% EH%ER 1J69-2006 1.5/8"X12UN GL1/4"X11 | 523 | 572 | 41 | 50 | 641
PART NO. )| MPa
ik T2 Ll | 12| s |s2| 8 1JG9-24-200G |  1.7/8"X12UN GL1/4"X11 | 592 | 60.7 | 48 | 50 | 865 | 14
1JG4-040G 7/16" X20UNF G1/4"X19 21 | 28 | 14 | 19 | 35 1JG01-240G 1.7/8"X12UN G1.1/2"X11 592 | 60.7 | 48 | 55 | 833 | 10
1JG4-05-040G 1/2" X20UNF G1/4"X19 21 | 28 | 14 | 19 | 37 | 315
1JG4-06-040G |  9/16"X18UNF G1/4"X19 2 | 28 | 14 | 19 | 38
1JG4-060G 9/16" X18UNF G3/8"X19 23 | 32| 19| 22 | 60 1JM-WD
ohKN&H //,\ 25 FA 2R £
1JG4-08-060G | 3/4"XL6UNF G3/8"x19 | 258| 32 | 19 | 22 | 80| 25 JICHMRLTA5 58 AFIR SR B
JIC MALE 74°CONE/METRIC THREAD MALE CAPTIVE SEAL
1JG4-080G 3/4" X16UNF G1/2"X14 278 | 36 | 22 | 27 | 115 -
- - -L_j_\ir&_ Eope #247 THREAD R~ DIMENSIONS 2 [EHm=m
1JG4-10-080G 7/8" X14UNF G1/2"X14 295 38 | 22 | 27 | 133 T PART NO. 1 - T ) i 51 | (g | wpa
1JG4-100G 7/8" X14UNF G5/8"X14 295 38 | 22 | 30 |138| 24 - L - I e 1JM-04-10WD 7/16" X20UNF M10X1 14 8 31 | 14 | 25
1JG4-12-100G 1.1/16"X12UN G5/8"X14 34 | 385| 27 | 30 | 176 ! 1JM-05-12WD 1/2"X20UNF M12X1.5 14 12 1335] 17 | 33 345
LJGA12-1606 | L1/16"X12UN oLl 55| a2 | 33 | a1 | 277 1JM-06-14WD 9/16" X18UNF M14X1.5 | 141 | 12 |335| 19 | 40
- 1JM-06-16WD 9/16" X18UNF M16X1.5 | 141 | 12 |351| 22 | 55
1JG4-1206 1.1/16"X12UN G3/47X14 325| 42 | 21 | 32 |20 1JM-08-16WD 3/4"X16UNF M16X1.5 | 167 | 12 | 376| 22 | 66
1JG4-16-120G |  1.5/16"X12UN G3/4"X14 38 | 44 | 33 | 32 |266| 16 1JM-08-18WD 3/4" X16UNF M18X1.5 167 | 14 [391| 24 | 79 31
1JG4-160G 1.5/16" X12UN G1"X11 38 | 44 | 33 | 41 | 322 1JM-10-18WD 7/8" X14UNF M18X1.5 | 193 | 12 | 417| 24 | 95
11642006 1.5/8" X12UN GL1/4"X11 2 | 275 41 | 50 | 530 1JM-10-22WD 7/8"X14UNF M22X15 | 193 | 14 | 429| 27 | 10|
- - 1JM-12-22WD 1.1/16"X12UN M22x1.5 | 21.9 | 16 | 455| 27 | 120
1JG4-2406 1.7/8"X12UN G1.1/2"X11 49 | 515| 48 | 55 | 698 | 14 LIML2 WD 11/16"X12UN T ol 16 12 1 32 |10
1JM-16-33WD 1.5/16"X12UN M33X2 231 | 18 | 516 41 |272| 21
1JM-20-42WD 1.5/8"X12UN M42X2 243 | 20 | 549 50 | 424 17
97 98



oSk | SRl Sl | TiE sk

ADAPTER JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING ADAPTER
45°EHJICIMBELT4°9M e/ A FIIMEL BT A B FIHE R 51S0 6149-3 SEHIJICHMRLT 49/ SAEIMBESH O BIRE 751 1S0 11926-3
45°J1C MALE 74° CONE/METRIC MALE ADJUSTABLE STUD END L-SERIES 1SO 6149-3 JIC MALE 74° CONE/SAE O-RING BOSS L-SERIES 1SO 11926-3
L == < =
Eaps 9847 THREAD R~ DIMENSIONS =8 [EH=0 - }—\.!:Li' Fi;ugt@ — 1247 THREAD . = R‘JL;)IMENEIONSSl %3 Eﬁp%az&l
PART NO. MPa :
Tl T2 L1 L2 S1 s2 | (g —!  a 1J0-04 7/16" X20UNF 7/16" X20UNF 14 | 914|312 14 | 25
1JH4-04-100G 7/16" X20UNF M10X1 215 | 235 11 | 14 | 24 R 1J0-04-05 7/16" X20UNF 1/2 " X20UNF 14 | 914312 17 | 31
™ " 1J0-04-06 7/16" X20UNF 9/16" X18UNF 14 | 10 [327] 17 | 33
1JH4-04-120G 7/16"X20UNF M12X1.5 215 | 275 11 | 17 | 32 ! To0s 172 XZ0UNF 172 X20UNF TR TR T
1JH4-04-140G 7/16" X20UNF M14X1.5 22.3 | 283 14 19 37 315 1J0-05-04 1/2" X20UNF 7/16" X20UNF 14 9.14 | 31 14 26
1JH4-05-1206G 1/2" X20UNF M12X1.5 223 | 283 14 | 17 | 34 ' ijg-gg»% 91//126")2(21(23%\[]\12 gﬁgﬁgmi 1141 Z.gg gg i; ;g 315
&y 1JH4-05-140G 1/2" X20UNF M14X1.5 223 | 283] 14 | 19 | 40 1J0-06-04 9/16" X18UNF 7/16"X20UNF | 14.1 | 9.14 | 32.2 | 17 | 35 A
B K 1JH4-06-140G 9/16" X18UNF M14X1.5 223 | 283 14 | 19 | 43 1J0-06-05 9/16" X18UNF 1/2"X20UNF | 141 9 |322] 17 | 36 e
il 06 " " <<
< i 1JH4-06-160G 9/16" X18UNF M16X1.5 23| 29 | 16 | 22 | 53 ijg_gg 08 %//146";11(?\5)»?; ;jjﬁgﬂﬂi ig'i 1%113 ;?é g % 12
B 1JH4-08-160G 3/4" X16UNF M16X1.5 268 | 30 | 19 | 2 | 71| 25 1J0-08-04 3/4" X16UNF 7/16"X20UNF | 167 9 34 [ 22 [ 61 [ b
LH4-08.180G 3/4" X16UNF M18XL5 %8 | 311 19| 24 | aa 1J0-08-06 3/4" X16UNF 9/16"X18UNF_ | 16.7 | 10 | 365 | 22 | 67
. 1J0-08-10 3/4"X16UNF 7/8" X14UNF 167 | 127|407 27 [103] .
1JH4-10-160G 7/8" X14UNF M16X1.5 31 31 | 22 | 22 | 86 1J0-08-12 3/4" X16UNF 1.1/16"X12UN | 167 15 [ 447 ] 32 | 153
1JH4-10-180G 7/8" X14UNF M18X1.5 31 32 22 24 | 104 1J0-10 7/8" X14UNF 7/8" X14UNF 193 | 127 | 432 | 27 | 114
- 24 1J0-10-08 7/8" X14UNF 3/4"X16UNF 193] 11 | 417 24 | 99
1JH4-10-220G 7/8" X14UNF M22X1.5 31 | 33 | 22 | 27 | 123 LI0-10-12 7/8" XL4UNF LI XN [ 193] 15 [472] 32 [1e2] o,
1JH4-12-220G 1.1/16" X12UN M22X1.5 355 | 345| 27 | 27 | 165 1J0-12 1.1/16"X12UN 1.1/16"X12UN [ 21.9[ 15 | 50 | 32 | 187
ey . 1J0-12-08 1.1/16"X12UN 3/4" X16UNF 219 | 11.13] 49.2 | 27 | 157
1JH4-12-270G l'l/lGHXle M27x2 325 1395| 27 | 32 | 202 1J0-12-10 1.1/16"X12UN 7/8" X14UNF 219 | 127 [ 477 | 27 | 147
1JH4-16-270G 1.5/16" X12UN M27X2 385 | 41 33 32 | 267 16 1J0-12-14 1.1/16" X12UN 1.3/16" X12UN 219 | 151 | 49 36 | 211
. 1J0-14 1.3/16" X12UN 1.3/16"X12UN | 22.6 [ 15.09] 50.5 | 36 | 234
1JH4-20-420G 1.5/8"X12UN M42X2 43 | 45 | 4L | 50 | sir 1J0-14-12 1.3/16" X12UN 1.1/16"X12UN | 22.6 | 15.09] 495 | 32 | 198 | 21
1JH4-24-480G 1.7/8" X12UN M48X2 49 | 495 | 48 55 | 690 14 1J0-14-16 1.3/16" X12UN 1.5/16" X12UN 22.6 | 15.09| 51.3 | 38 | 310
1J0-16 1.5/16" X12UN 15/16"X12UN_| 23.1 [15.00] 51.8 [ 38 | 267 |
1J0-16-12 1.5/16" X12UN 1.1/16"X12UN [ 23.1 [15.09] 50.5 | 36 [ 237
1J0-16-14 1.5/16" X12UN 1.3/16"X12UN | 23.1 [15.09] 52 | 36 | 254
1J0-16-20 1.5/16" X12UN 1.5/8" X12UN 23.1 [1509] 541 [ 50 | 407
1J0-20 1.5/8" X12UN 1.5/8" X12UN 243 151 [ 551 | 50 | 451
1J0-20-16 1.5/8" X12UN 1.5/16"X12UN [ 243 [ 15.1 | 59.1 | 46 [ 446 | 17
1JH9-0G 1J0-20-24 1.5/8" X12UN 1.7/8" X12UN 243151 545 55 | 494 | 16
bl - " 1J0-24 1.7/8" X12UN 7/8" . . .
90°Z5 S HIJICHMBERT4°9h 8/ A ISR AT IBIEAE BE RSO 6149-3 e DN T Lo Tors Tiessl o 20 Taas| M
90° ELBOW JIC MALE 74° CONE/METRIC MALE ADJUSTABLE STUD END L-SERIES ISO 6149-3 1102432 17/8"X12UN 2.1/2"X120N 275 115001 62 | 70 1857 | 125
1J0-32 2.1/2"X12UN 2.1/2" X12UN 34 | 15 [ 71 | 70 [1141] 105
Eofpe $247 THREAD R I DIMENSIONS  |&& | mhz=
PART NO. T V) L1 12 | st | s2 |(8)|%kMPa
1JH9-04-100G 7/16" X20UNF M10X1 26 | 25 | 11 | 14 | 25 AJOJ-0OG
LH9051206 1 L2 XZOUNF s 4l | b LT STESES SEH1JICHMRETA 5N/ SAESNMB AU HOTY B R F11S011926- 35 2 =3
1JH9-06-140G 9/16 " X18UNF M14X1.5 269 | 349 14 | 19 | 52 JIC MALE 74° CONE/SAE O-RING BOSS L-SERIES 1SO 11926-3 BRANCH TEE
1JH9-08-160G 3/4"X16UNF M16X1.5 318 | 359 19 | 22 | 85 s
1JH9-08-180G 3/4" X16UNF M18X1.5 318 | 368 | 19 | 24 |100 Fafts SR THREAD RS DIMENSIONS | & Iéi_‘ﬁ%
- PART NO. Tl ™ T3 1| 2| 3 |s1|s2] (8 |%&MPa
1JH9-10-180G 7/8" X14UNF M18X1.5 368 | 407 | 22 | 24 |112
9109200 78 XTAUNF ooXLs s a7 2 7 [0l 2 AJOJ-040G | 7/16"X20UNF | 7/16"X20UNF | 7/16"X20UNF | 22.6| 26.2| 22.6| 11| 17 | 42
9129300 116" X120 M22Xl.5 42'2 44'4 — 15 o0 AJOJ-050G | 1/2"X20UNF | 1/2"X20UNF | 1/2"X20UNF |24.1|28.7|24.1| 14| 17| 56 | 315
— - - - . AJOJ-060G | 9/16"X18UNF | 9/16"X18UNF | 9/16"X18UNF | 26.9| 31.8|26.9| 14| 19 | 74
-12- 1.1/16" X12UN M27X2 42 | 485 27 2 |2
1JH9-12-2706 /16"X12U 8-> 3 >3 16 AJOJ-080G | 3/4"X16UNF | 3/4"X16UNF | 3/4"X16UNF | 31.8|36.8|31.8| 19|24 | 157| 31
1JH3-16-330G 1.5/167X12UN M33x2 46 [ 512] 33 | M |37 AJOJ-100G | 7/8"X14UNF | 7/8"X14UNF | 7/8"X14UNF |36.8]|43.2|36.8| 22| 27 | 227 4
AJOJ-120G | 1.1/16"X12UN | 1.1/16"X12UN |1.1/16"X12UN | 42.2| 49.3| 42.2| 27| 32 | 373
AJOJ-160G | 1.5/16"X12UN | 1.5/16"X12UN |1.5/16"X12UN | 46 |52.1| 46 | 33|41 | 569| 20
AJOJ-200G | 1.5/8"X12UN | 1.5/8"X12UN | 1.5/8"X12UN |52.3|57.2|52.3| 41|50 | 922| 16
AJOJ-240G | 1.7/8"X12UN | 1.7/8"X12UN | 1.7/8"X12UN | 59.2| 60.7|59.2| 48 | 55 |1236| 14
99 100



62
Ll
=
o
<
(=)
<<

7K
#
2
pa

o iE 3%k

ADAPTER

SEhlizSk

JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING

L1

T

S1

82

101

LI

20J

SAE SMELUHOM B R R/ JICRIBRLTA A H
SAE O-RING BOSS L-SERIES / JICFEMALE 74° SEAT

Py #247 THREAD Rt DIMENSIONS B8 [FHZg
PART NO. Tl p) L1 L | st | s2 |(8)]| MPa
20J-04 7/16 " X20UNF 7/16"X20UNF 95 | 245| 14 | 14 | 12
20J-06-04 9/16"X18UNF 7/16"X20UNF 1 | 26 | 17 | 17 | 100
20J-05 1/2 "X20UNF 1/2 "X20UNF 9 25 | 17 | 17 | 74| 315
20J-06 9/16"X18UNF 9/16"X18UNF 9 26 | 17 | 19 |101
20J-04-06 7/16 " X20UNF 9/16"X18UNF 75 | 245] 14 | 19 | 80
20J-08-06 3/4"X16UNF 9/16"X18UNF | 105 | 275 | 22 | 19 | 167
20J-08 3/4"X16UNF 3/4"X16UNF 11| 30 | 22 | 22 |206 3
20J-06-08 9/16"X18UNF 3/4"X16UNF 95 | 28 | 19 | 22 |145| 315
20J-10-08 7/8 " X14UNF 3/4"X16UNF 155 | 37 | 22 | 22 |287
20J-10 7/8"X14UNF 7/8"X14UNF 13 | 34 | 24 | 27 | 293 o
20J-08-10 3/4"X16UNF 7/8"X14UNF 9 |205| 22 | 27 |223| 25
20J-12-10 1.1/16"X12UN 7/8"X14UNF 165 | 36 | 32 | 27 |455
20J-12 1.1/16"X12UN 1.1/16"X12UN 13 | 375| 32 | 32 |425| 24
20J-10-12 7/8"X14UNF 1.1/16"X12UN | 105 | 385 | 32 | 32 |337
20J-16-12 1.5/16"X12UN 1.1/16"X12UN 18 | 42 | 38 | 32 |676| 21
20J-16 1.5/16"X12UN 15/16"X12UN | 155 | 42 | 38 | 41 |664 0
20J-12-16 1.1/16"X12UN 1.5/16"X12UN 12 | 385| 36 | 41 |52
20J-20 1.5/8"X12UN 1.5/8"X12UN 14 | 465| 50 | 50 |872| 16
40
EHISAEIMRESIHOF B K E R HISO 11926-3
SAE O-RING BOSS PLUG L-SERIES 1SO 11926-3
=oms #8247 THREAD Rt DIMENSIONS (g | IR
PART NO. 11 L1 L s1 MPa
40-04 7/16 " X20UNF 9.14 17 14 16
40-05 1/2 "X20UNF 9.14 17 17 23
40-06 9/16"X18UNF 9.93 185 17 26 3
40-08 3/4"X16UNF 11.13 205 2 50
40-10 7/8"X14UNF 127 236 27 81
40-12 1.1/16"X12UN 15.1 277 32 135 2
40-14 1.3/16"X12UN 15.1 277 36 165
40-16 1.5/16"X12UN 15.1 285 38 198 20
40-20 1.5/8"X12UN 15.1 305 50 357
40-24 1.7/8"X12UN 15 30 55 423 1
40-32 2.1/2"X12UN 15.1 363 70 910 12,5

SemlizSk

i % sk

JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING ADAPTER
1JO4-0G
45° I S J I CHMBRLT 49N/ SAEIME O B IR £ 511S0 11926-3
45° ELBOW JIC MALE 74° CONE/SAE O-RING BOSS L-SERIES 1S0 11926-3
ERAE #2457 THREAD R~t DIMENSIONS | =8 [Eh=2p
PART NO. T1 ™ L1 | 2 | s1|s2](g| MPa
1J04-040G 7/16" X20UNF 7/16"X20UNF | 206 | 247 | 11 | 17 | 27
1J04-04-060G 7/16" X20UNF 9/16"X18UNF | 21.1| 29 | 17 | 19 | 37
1J04-04-080G 7/16" X20UNF 3/4"X16UNF | 245|325 19 | 24 | 65
1J04-050G 1/2" X20UNF 1/2"X20UNF | 196 | 267 | 14 | 17 | 33
1J04-05-040G 1/2" X20UNF 7/16"X20UNF | 19.6 | 26,7 | 14 | 17 | 30 | 315
1J04-060G 9/16" X18UNF 9/16"X18UNF | 21.1| 29 | 14 | 19 | 43
1J04-06-040G 9/16" X18UNF 7/16"X20UNF | 21.1 | 267 | 14 | 17 | 34
1J04-06-050G 9/16" X18UNF 1/2"X20UNF | 211 | 267 | 17 | 17 | 37
1J04-06-080G 9/16" X18UNF 3/4"X16UNF | 25 | 325| 19 | 24 | 72
1J04-06-100G 9/16" X18UNF 7/8"X14UNF | 255|385 | 22 | 271 | 96 | 25
1J04-080G 3/4" X16UNF 3/4"X16UNF | 25 | 33 | 19 | 24 | 90 2
1J04-08-060G 3/4" X16UNF 9/16"X18UNF | 25 | 28 | 19 | 19 | 63
1J04-08-100G 3/4" X16UNF 7/8"X14UNF | 27.5| 38.7 | 22 | 27 | 118 ’s
1J04-08-120G 3/4" X16UNF 1.1/16"X12UN | 30 | 439 | 27 | 32 | 170
1J04-100G 7/8" X14UNF 7/8"X14UNF | 285 | 38.7 | 22 | 27 | 130
1J04-10-080G 7/8" X14UNF 3/4"X16UNF | 285 | 345 | 22 | 24 | 110
1J04-10-120G 7/8" X14UNF 1.1/16"X12UN | 31 | 439 | 27 | 32 | 182| 24
1J04-120G 1.1/16"X12UN 1.1/16"X12UN | 32.5 | 439 | 27 | 32 | 213
1J04-12-100G 1.1/16"X12UN 7/8"X14UNF | 32.5| 39.8 | 27 | 27 | 168
1J04-12-160G 1.1/16"X12UN 1.5/16"X12UN | 37 | 455 | 33 | 41 | 283
1J04-140G 1.3/16"X12UN 1.3/16"X12UN | 37 | 475 33 | 36 | 291 | 20
1J04-160G 1.5/16" X12UN 1.5/16"X12UN | 375 | 475 | 33 | 41 | 335
1J04-16-120G 1.5/16" X12UN 1.1/16"X12UN | 375 | 45 [ 33 | 32 | 273 | 21
1J04-16-200G 1.5/16" X12UN 1.5/8"X12UN | 405 | 47 | 41 | 50 | 427
1J04-200G 1.5/8" X12UN 1.5/8"X12UN | 405 | 485 | 41 | 50 | 507 | 16
1J04-20-240G 1.5/8" X12UN 1.7/8"X12UN | 455 | 50 | 48 | 55 | 605
1J04-240G 1.7/8" X12UN 1.7/8"X12UN | 455 | 485 | 48 | 55 | 649 | 14
1J04-320G 2.1/2" X12UN 2.1/2"X12UN | 565 | 54 | 63 | 70 | 1338| 10.5
AJJO-0G
E41JICHMBETAIMNE/SAEIMB BB O B R F11S011926-3E % =58
JIC MALE 74° CONE/SAE O-RING BOSS L-SERIES 1SO 11926-3 RUN TEE
EEpe 847 THREAD R~ DIMENSIONS 58| EH=
PART NO. T1 T T3 L1 | L2 | 3 [s1|s2|(g) |4&MPa
AJJO-040G | 7/16"X20UNF | 7/16" X20UNF | 7/16"X20UNF | 22.6 | 22.6 | 26.2 | 11|17 | 43
AJJO-050G | 1/2"X20UNF | 1/2"X20UNF | 1/2"X20UNF | 24.1 | 24.1 | 28.7 | 14|17 | 56 | 315
AJJO-060G | 9/16"XIBUNF | 9/16" XI8UNF | 9/16"XI18UNF | 26.9 | 26.9 | 31.8 | 14|19 | 74
AJJO-080G | 3/4"XIGUNF | 3/4"XI6UNF | 3/4"X16UNF | 31.8 [ 31.8 | 36.8 | 19|24 | 157| 31
AJJO-100G | 7/8"XI4UNF | 7/8"XI4UNF | 7/8"X14UNF | 36.8 | 36.8 | 43.2 | 22|27 | 226 o
AJJO-120G | L1/I6"X12UN | 11/16" XI2UN | 11/16"XI2UN | 42.2 | 42.2 | 49.3 | 27|32 | 373
AJJO-160G | 15/16"X12UN | 15/16" XI2UN | 15/16"X12UN | 46 | 46 |52.1 |33 |41 | 569
AJJO-200G | 15/8"X12UN | 158"X12UN | 158"XI2UN | 52.3 | 52.3 | 57.2 | 41|50 | 923 20
AJJO-240G | 17/8"X12UN | L17/8"X12UN | L7/8"XI2UN | 59.2 | 59.2 | 60.7 | 48 | 55 | 1236 16
102

sk

£
ADAPTER

i
(3




oSk | SRl Sl | TiE sk

ADAPTER JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING ADAPTER
1JO9-0G 1JN
90°Z5 EHIIJ I CHMBLIT4° 9N/ SAEIMB R HOFL B R R 71IISO 11926-3 EFIJICIMBRT 4Nt /AR SN E IR
90° ELBOW JIC MALE 74° CONE/SAE O-RING BOSS L-SERIES 1SO 11926-3 JIC MALE 74° CONE/NPT MALE
'_T‘_E_l Y=V #8457 THREAD R~ DIMENSIONS Er Et%é&l -] Fais 124y THREAD R~ DIMENSIONS BE [EHER
PART NO. T1 T2 L [ 2] st ] s2|(g| Mpa o PART NO. T1 12 Ll | 12 L |s1|(g)| MPa
1J09-040G 7/16" X20UNF 7/16"X20UNF_| 226 | 262| 11 | 17 | 29 - ' LIN-04-02 7/16_X20UNF Z1/8°X27 1 14 1105131 | 12 | 20} 345
1J09-04-050G 7/16" X20UNF 1/2"X20UNF__| 241 [28.7] 14 | 17 | 35 LIN-04 7/16_X20UNF zl/a'x1s | 14 | 15 1361 17 | 33| 275
1J09-04-060G | __7/16" X20UNF 9/16"X18UNF_| 24.1 [29.3] 14 | 19 | 40 LIN-04-06 7/16" X20UNF Z3/8°X18 | 14 | 16 | 36 1 19 | 42| 21
1J09-05-040G 1/2" X20UNF 7/16"X20UNF_| 24.1 | 28.7] 14 | 17 | 35 1JN-04-08 7/16_X20UNF Z127X14 | 14 1195143 | 24 {80} 275
1J09-050G 1/2" X20UNF 1/2"X20UNF_ | 24.1 |28.7] 14 | 17 | 38 LIN-05-04 1/2_X20UNF Z1/4'X18 | 14 | 15 | 361 17 |35
1J09-05-060G 1/2" X20UNF 9/16"X18UNF | 24.5 |31.8| 14 | 19 | 45 315 ijs:ggzgg iggggsi ﬁgﬁi ij 1}365 i; ;‘91 gels 21
= K 1J09-06-040G 9/16" XI8UNF 7/16"X20UNF_| 269 |312| 14 | 17 | 42 : Nocos SLiE XIBUNE s Tl 15 Taes o7 T3 553 AE
B i 1J09-06-050G 9/16" XI8UNF 1/2"X20UNF__| 269 |312| 14 | 17 | 45 e S ISUNE s et T i Taesl do Tas s
2 i 1J09-060G 9/16" X18UNF 9/16"X18UNF | 269 [31.8] 14 | 19 | 50 oo o1 IBUNE Txia et TiosTarel 2¢ T70] 2 O
B 1J09-06-080G 9/16" XI8UNF 3/4"XI6UNF_ | 29 |36.8] 19 | 24 | 82 Nosos L ATGEUNE Taas Tt T T oo Teol 753 -
1J09-08-040G 3/4" X16UNF 7/16"X18 32 | 33 ] 19 17 | 70 — — — - -
1J09-08-060G 3/4" X16UNF 9/16"XI8UNF_| 32 [335] 19 | 19 | 79 LJN-08-06 3/4_X16UNF £3/8°X18 | 167 | 16 | 39 | 22 |64} )
1J09-080G 3/4" X16UNF 3/4"XI6UNF_ | 31.8 | 36.8| 19 | 24 | 107 | 31 1N-08 3/4_XL6UNF Z1j2.X14 | 167 | 195 | 44 | 24 %Z
1J09-08-100G 3/4" X16UNF 7/8"XI14UNF_| 34 [435] 22 | a1 17| Em:gg:éé %gﬁiﬂmi gg,,ﬁg ig; 1;5 4‘;75 32 1865 17
1J09-08-120G 3/4" X16UNF 1.1/16"X12UN_| 36.5 | 49.5| 27 | 32 | 195 - . : : 21
. 3 1JN-10-08 7/8" X14UNF 71/2"x14 | 193 | 195 | 48 | 24 | 100
1J09-10-080G 7/8" X14UNF 3/4"XI6UNF__ | 38 | 40 | 22 | 24 | 136 - -
1091006 ST XL4UNF ~exaunF 368 [mal 2 T o7 Tiss 1UN-10-12 1/8" X14UNF z3/4"x14_| 193 [195 [495[ 30 [137] 17
09 10.120¢ S TXL4UNF e T a oo 5 o 1UN-12-08 1.1/16" X12UN 71/2"x14 | 219 | 195 [523] 30 [153] 21
& 2 2 1UN-12 1.1/16" X12UN 73/4"x14 | 21.9 | 195 [523] 30 [159] 17
1J09-12-080G 1.1/16" X12UN 3/4"X16UNF | 42.2 | 44 | 27 | 24 | 186 ; T
o 1000 LT XL2ON e Taa a1 T ane 1UN-12-16 LI/16"X12UN z1"x115 | 219 [255 [57.1] 36 [229] 14
- £ 1UN-12-20 1.1/16" X12UN 71.1/4"X115 | 219 | 265 | 615] 46 | 386 8
1J09-120G 1.1/16" X12UN 1.1/16"X12UN | 42.2 [ 49.3| 27 | 32 | 255 0 ;
- - 1UN-14-12 1.3/16" X12UN 73/4"x14 | 226 | 195 53 | 32 | 184
1J09-12-160G 1.1/16" X12UN 1.5/16'X12UN_| 47.8 | 545| 33 | 41 | 348 . . 17
T z 20 1UN-16-12 1.5/16" X12UN 73/4"x14 | 231 | 195 [535] 36 |222
1J09-140G 1.3/16" X12UN 1.3/16"X12UN_| 45.7 | 51 | 30 | 36 | 333 TN 16 L5/16" X12UN 0 x5 T 231 Tons Teasl 36 Ta60] 12
1J09-14-160G L3/16"X12UN L5/16"X12UN_| 457 [545] 33 | a1 [372| 16 LIN1630 La/16" 120N i1 | 231 [ 265 Te2a] 46 [ 298] 8
ijgg:igﬁigg ig;i:niiiﬂm iéii:niigﬂs fij ?;f g; gé 2?5 21 1UN-16-24 1.5/16" X12UN 71.1/2"X115 | 231 | 27.5 | 655] 50 | 504 7
1J09-160G 13/16"x12UN 13/16”x12UN 46 [52.1] 33 | 41 |31 2° Lih 20 - 15/8:X12UN Zl"ﬁlls 2.3 255 615\ 46 | 305 14
T TG N 52T % T 50 s T 1 1UN-20 L5/8"X120N zLYa"x115 | 243 [ 265 | 622[ 46 [416] 8
1J09-20-160G i5/8"x12UN 1.5/16"X12UN 523 [572] 41 | 41 | 54| 17 LN .21 T ZLL2 LS |23 205 6T |50 ei
/8 /16 3 157, 1JN-24-20 1.7/8" X12UN 71.1/4"X115 | 27.5 | 265 [ 673] 50 | 512 8
1J09-2006 1.5/8_X12UN 15/8 XI2UN | 523 | 572] 41 | 50 | 624} ¢ 1UN-24 1.7/8"X12UN 71.1/2"x115 | 275 | 275] 68 | 50 |540] 7
1J09-20-240G L5/8"X120N L7/B"X12UN_| 56 | 60.7[ 48 | 55 | 750 EYES L 7/8" X120N it a7 Tore 70 [ es 805
1J09-240G L7/8"X12UN L7/8"X12UN | 592 [60.7| 48 | 55 | 828 | 14 N3 5 1/2"XL20N 795115 339 [ 275 79 | 65 To13] 7
1J09-3206 2.1/2" X12UN 2.1/2"X12UN_| 77.7 | 734] 63 | 70 | 1830] 105 LIN3202 212" X 120N 7112015 | 339 | 275 | 785] 65 |1003
1JH 2MJ-WD
EHIICHMBLTA SN/ ABISMBEE R FIISO 6149-3 ABIE SRR ) CRERTA N
JIC MALE 74° CONE/METRIC MALE END L-SERIES ISO 6149-3 ) METRIC THREAD MALE CAPTIVE SEAL/JICFEMALE 74° SEAT
L
B ) o e 4 THREAD < DIMENSIONS 2| E L Y s
L2 gxﬁt@. — — - R¥ DIMENSIORS %3 léf&ﬁpf , Eaqee #247 THREAD R~} DIMENSIONS =8 ]éfjj%
1JH-04-10 7/16" X20UNF M10X1 14 |85 31| 14 [21 o i w‘ PART NO. T T2 L | L | s1| s2 |(@)|*RMPa
= - - 1JH-05-12 1/2" X20UNF M12X1.5 14 11 33.5 17 30 345 2MJ-10-04WD M10X1 7/16" X20UNF 8 24 14 14 59
! 1JH-06-14 9/16" X18UNF M14X1.5 14.1 11 | 335]| 19 | 36 o "
: DR 0616 916" XL8UNF MIoXLE a1 st 2 s s 2MJ-12-05WD M12X1.5 1/2" X20UNF 12 |288| 17 | 17 | 72| 345
1JH-08-16 3/4" X16UNF M16X1.5 167 | 115|376 | 22 | 67 2MJ-14-06WD M14X1.5 9/16" X18UNF 12 | 304 19 19 | 120
1JH-03-18 3/4" X16UNF MI18XL.5 167 | 125[ 390 24 [ 74| , ¢ 160D ey 372" XIGUNF 5 (555 5 | 2 el o
1JH-10-18 7/8" X14UNF M18XL5 193 | 125 417] 24 | 88| " -16- : :
1JH-10-22 7/8" X14UNF M22X1.5 193 | 13 | 429| 27 |108 2MJ-22-08WD M22X1.5 7/8" X14UNF 14 | 376 27 21 |305|
1JH-12-22 1.1/16" X12UN M22XL5 219 | 13 | 455 27 | 160 ;
NVEEEE, CUIeTX20N i) e T e T a3 Tis0 2MJ-27-12WD M27X2.0 11/16"x12UN | 16 [415| 32 | 32 |48
1JH-1627 1.5/16" X12UN M27X2 231 | 16 | 505 36 |247] 20 2MJ-33-16WD M33X2.0 15/16"X12UN | 18 |452| 41 | 41 |733| 21
1JH-16-33 1.5/16" X12UN M33X2 231 | 16 | 516 41 |285
1JH-20-42 1.5/8" X12UN M42X2 243 | 16 | 549 | 50 |488] 17
1JH-24-48 1.7/8" X12UN M48X2 2715 | 175 594 55 |605] 14

103 104



oSk | SRl Sl | TiE sk

ADAPTER JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING ADAPTER
1JN4 1JN9
45 TR CIMBETA SN B TR R E SN B 90° TR HIIICHMBLTA S8 LS e R DIMENSIONS ) B [
45°ELBOW JIC MALE 74° CONE/NPT MALE A B ' - k
50°ELBOW J1C MALE 74° 1JN9-04 7/16" X20UNF 21/4" X18 266 | 277 | 14 [35] 2715
Eare #8247 THREAD R~ DIMENSIONS | &8 |Ehzsm CONE/NPT MALE 1JN9-04-02 7/16" X20UNF 71/8" X27 23 | 205 | 11 | 23] 345
PART NO. 1 ™ 1] 2 | st |(g| Mpa 1JN9-04-06 7/16" X20UNF 73/8" X18 29 | 31 | 19 |51 21
1JN4-04-02 7/16" X20UNF z1/8"x21 | 183 ] 165 | 11 | 18| 345 ijsggigg 5 i ggﬂzi 2; g ﬁg 2;5 2;7 1‘7‘ gg 215
1JN4-04 7/16::X20UNF Zl/4::X18 2 | 21 | 14 |28 275 = LIN906 316" X18UNF 738" 18 o T s [ 7 [50] 2
1JN4-04-06 7/16"X20UNF Z3/8 X18 | 23 | 24 | 19 |4 | T K-, 1JN9-06-04 9/16" X18UNF 71/4" X18 269 [ 217 [ 14 [43]
1JN4-04-08 7/16" X20UNF Z1/2"X14 | 245| 295 | 22 | 68 . . 1JN9-06-08 9/16" X18UNF 71/2" x14 31 | 373] 22 |85 )
1JN4-05-02 1/2" X20UNF 71/8"X27 | 196| 165 | 14 | 22| 345 . 1] 1JN9-08 3/4" X16UNF 71/2" X14 348 | 373 | 22 [114] 21
& K 1JN4-05-04 1/2" X20UNF 71/4"X18 2 | 21 | 14 [31] 215 N = 1JN9-08-04 3/4" X16UNF Z1/4" X18 32 | 31 | 19 | 71| 275 K
5 1JN4-06-02 9/16" X18UNF 71/8"X27 | 22 | 173 | 14 | 28| 345 u A 1JN9-08-06 3/4" X16UNF 23/8" X18 32 | 31 | 19 | 84] 21 e
< %E‘ 1JN4-06-04 9/16" X18UNF zi/4"x18 | 228 21 | 14 |35 215 ijmg‘igéé %g ﬁ%si gg iig 336%1 ‘3‘3;‘ ;Z ig; 17 2
4 1Jn4-06 9/16” XL8UNF Z3/8"X18 2 | 24 | 19 145] 1JN9-10-08 7/8" X14UNF 71/2" X14 31 | 313 ] 2 |130] 2 2
1JN4-06-08 9/16" X18UNF 71/2"X14 | 225| 295 | 22 | 70 LIN9-10-12 7/8" X14UNF 73/4" X14 392 | 204 | 27 |170] 17
1JN4-08-04 3/4 " X16UNF Z1/4"X18 25 24 19 | 56| 275 1JN9-10-16 7/8" X14UNF 71" X11.5 44.5 50 33 [259] 14
1JN4-08-06 3/4"X16UNF 23/8"x18 | 249 | 241 | 19 | 65| 1JN9-12 1.1/16" X12UN 73/4" X14 425 | 405 | 27 |214| 17
1JN4-08 3/4" X16UNF Z1/2"X14 25 295 22 45 1JN9-12-08 1.1/16" X12UN 71/2" X14 425 | 40.4 27 [ 182 21
1JN4-08-12 3/4" X16UNF 73/4"X14 | 265 305 | 27 |118| 17 1INO-12-16 1.1/16" X12UN Z1" X115 45 | 50 | 33 | 28| 14
1JN4-10-08 7/8 " X14UNF 71/2"X14 | 282 207 | 22 |101| 21 LIN9-12-20 L.1/16 XL2UN ZL1/ “‘:'X11'5 525 | 545 | 41 |442) 8
1JN4-10-12 7/8 " X14UNF 73/4"X14 | 295| 305 | 27 |130| 17 LD 14 12 Ld o6 XLUMN 244 114 R T e
1JN9-14-16 1.3/16" X12UN 71" X115 487 | 50 | 33 [330
1JN4-12-08 1.1/16"X12UN z1/2"x14 | 325| 31 | 27 |14 2 LING-16 15/16" X12UN 71" X115 26 | 50 | 33 |354] M
1JN4-12 1.1/16"X12UN Z3/4"X14 32.5| 30.5 27 | 162 17 1JN9-16-12 1.5/16" X12UN 73/4" X14 46 452 33 | 287 17
1JN4-12-16 1.1/16"X12UN Z1"X11.5 | 375| 39 | 33 [244| 14 1JN9-16-20 1.5/16" X12UN 71.1/4" X11.5 54 | 605 | 41 |541] 8
1JN4-14-12 1.3/16"X12UN 73/4"X14 37 33 30 | 198 . 1JN9-16-24 1.5/16"" X12UN Zl.l/2:: X11.5 59.4 | 59.5 48 | 637 7
1UN4-16-12 1.5/16"X12UN 73/4"X14 | 385 365 | 33 | 240 1JN9-20 1.5/8 X12UN ZL1/4" X115 | 523 | 60.5 | 41 |626] 8
1JN4-16 1.5/16"X12UN Z1"X11.5 | 373 | 376 | 33 [285| 14 LING 20 16 L.5/8" X12UN Z1 X115 53 1 595 | 4l |07 14
- - 1JN9-20-24 1.5/8" X12UN 71.1/2" X115 56 | 67 | 48 | 774
1JN4-16-20 1.5/16"X12UN 71.1/4"X115 | 42 | 425 | 41 |402| 8 LING 24 1.7/8" X12UN ZL1/2" X115 025 | 63 | 48 lss8| !
1JN4-20-16 1.5/8" X12UN Z1"X11.5 43 42.5 41 395 14 1JN9-24-20 1.7/8" X12UN 21.1/4" X11.5 59 57 48 717 8
1JN4-20 1.5/8"X12UN 71.1/4"X115 | 405 | 425 | 41 |462| 8 1JN9-32-24 2.1/2" X12UN 71.1/2" X115 17| 70 | 63 [1415]
1JN4-20-24 1.5/8"X12UN Z1.1/2"X115 | 46 | 45 | 48 |570 1JN9-32 2.1/2" X12UN 72" X115 777 | 762 | 63 |1615
1JN4-24 1.7/8" X12UN 71.1/2"X115 | 452 | 45 | 48 |617| 7 T
1JN4-32 2.1/2"X12UN Z2"X11.5 | 564 | 53.6 | 63 [1182
EHIJICIMRELIT 490 5 /T HE B TMRLL Eoiee #2847 THREAD R~ DIMENSIONS 2 [Eh=m
JIC MALE 74° CONE/BSPT MALE PART NO. = T L lel L] st || mPa
2H)J 1JT-04-02SP | 7/16"X20UNF R1/8"X28 14 |10 | 31| 12 | 22
ABISMBLIE R FIISO 6149-3/) I CRIBET AR — WT04SP | T/AGTXNOUNF | RL4"X1S 14 | 12 ] %6 | 14 ]33
) METRIC MALE END L-SERIES ISO 6149-3/JICFEMALE 74° SEAT L LT05-025P | 1727 X20UNF RJE x28 14 | 10131 ) 18 1 20) .
= ) o 1JT-05-04SP 1/2 "X20UNF R1/4"X19 14 | 12|36 | 14 | 30
T : EEfre 4247 THREAD R~ DIMENSIONS — aEl Al TLI 1JT-06-04SP | 9/16"X18UNF R1/4"X19 141 | 12 | 363| 17 | 35
. i E| PART NO. T1 p) L1 L s1 2 I Mpa § N 1JT-06SP 9/16 "X18UNF R3/8"X19 141 | 12 | 364| 19 | 50
2HJ-10-04 M10XL | 7/16"X20UNF | 85 | 164 | 14 14 56 ' 1JT-08-04SP | 3/4"X16UNF R1/4"X19 167 | 12 [ 389 22 | 56
1 J 12,05 MIZXL5 | 172" X20UNF 0 | s | o = - 305 1JT-08-065P | 3/4"X16UNF R3/8"X19 167 | 12 | 389 22 | 61| 31
- 1JT-08SP 3/4"X16UNF R1/2"X14 167 | 14 | 455| 22 | 98
2HJ)-14-06 MI4X15 | 9/I6"XISUNF | 11 | 214 | 19 19 113 1JT-10-065P | 7/8"X14UNF R3/8"X19 193 | 12 | 432 24 | 89
2HJ-16-08 M16X1.5 3/4" X16UNF 115 22.8 22 24 170 31 1JT-10-08SP 7/8 "X14UNF R1/2"X14 19.3 14 48 24 104
2HJ-22-08 M22X15 | 7/8"X14UNF 13 | 228 | 27 24 306 24 1JT-10-12SP | 7/8"X14UNF R3/4"X14 193 | 16 |495| 27 |140| 24
DHI-27-12 M27X2.0 | L1/16"X12UN | 16 | 234 | 32 3 591 1JT-12-085P | 1.1/16"X12UN R1/2"X14 219 | 14 | 523 | 27 | 145
3316 V3320 | Lo/16"x120N | 16 | 575 | a1 " =70 20 1JT-125P 1.1/16"X12UN R3/4"X14 219 | 16 | 523 | 27 | 164
1JT-12-165P | 1.1/16"X12UN R1"X11 219 | 18 | 571 | 36 | 248 205
1JT-16-12SP | 1.5/16"X12UN R3/4"X14 231 | 16 | 536 36 | 234| 21
1JT-165P 1.5/16"X12UN R1"X11 231 | 18 | 584 | 36 | 275| 205
1JT-20-165P | 1.5/8"X12UN R1"X11 243 | 18 | 614 | 46 | 392
1JT-20SP 1.5/8"X12UN R1.1/4"X11 23| 20 |622| 46 |aar|
1JT-24SP 1.7/8"X12UN R1.1/2"X11 275 | 22 | 681 | 50 | 568 | 105

105

106



oSk | SRl Sl | TiE sk

ADAPTER JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING ADAPTER
EHIJICHMBLITAIMEN /B RHIE=1S06162-2 ) RS IMEN/JICRIBNTA NHE
JIC MALE 74° CONE/S-SERIES FLANGE I1SO 6162-2- 0 BSPT MALE/JICFEMALE 74° SEAT
1
B | — FRHS X THREAD semg | RIDMENSIONS | g mymy 1 j RS 45 THREAD R DIMENSIONS w8 | E1%
| || | | PART NO. 1 FLANGESIZE | | b L (g | Mpa % PART NO. T1 ™ L1 L s1 s2 | (g|%MPa
]
i st 27J-04 R1/4"X19 | 7/16"X20UNF | 12 29.1 14 14 | 88
1JFS-08 3/4" X16UNF 1/2" 775 | 317 | 475 | 70 31 = " -
L 2TJ-04-05 R1/4"X19 | 1/2"X20UNF | 12 289 14 17 | 80 s
1JFs-10-08 7/8" X14UNF 1/2" 775 | 317 | 50 | 90 2TJ-04-06 R1/4"X19 | 9/16"XI18UNF | 12 | 29.8 14 19 |101]
1JFS-10-12 7/8" X14UNF 3/4" 8.76 413 55 99 2TJ-06 R3/8" X19 9/16" X18UNF 12 30.1 17 19 139
& 7K 24 27J-04-08 RL/A"X19 | 3/4"XI6UNF | 12 318 19 24 | 143 7K
5 Hi 1JFS-12 1.1/16"X12UN 3/4" 876 | 413 | 56.7 | 146 31 BYE
3 i 2TJ-06-08 R3/8"X19 | 3/4"X16UNF | 12 31.8 19 24 | 170 4
sz 1JFS-12-16 1,]./16” X12UN 1 " 9.53 47.6 61.5 158 2TJ-08-10 Rl/z" X14 7/8 " X14UNF 14 38.2 22 27 255 jzj
1JFS-16-12 1.5/16" X12UN 3/4" 876 | 41.3 | 57.8 | 205 | 21 2TJ-08-12 R1/2"X14 | 1.1/16"X12UN | 14 39.6 27 32 |318] 24
- - 2TJ-12 R3/4"X14 | 1.1/16"X12UN | 16 39.6 27 32 | 408
1JFS-16 1.5/16"X12UN 1 953 | 476 | 628 | 224 | 20
2TJ-12-16 R3/4"X14 | 1.5/16"X12UN | 16 4.9 32 41 |492| 21
1JFS-16-20 1.5/16" X12UN 1.1/4" 1029 | 54 | 67.7 | 241 TI16 RL"X1L | L5/16"X120N | 18 478 s a1 lex| 205
1JFS-20-16 1.5/8" X12UN " 953 | 476 | 64 | 234 | 17 2TJ-20 R1.1/4"X11| 15/8"X12UN | 20 52 46 50 |1017| 17
1JFS-20 1.5/8" X12UN 1.1/4" 1029 | 54 | 68.9 | 349
1JFS-20-24 1.5/8"X12UN 12" 1257 | 635 | 735 | 356 1JT9
1JFS$-24-20 1.7/8"X12UN 1.1/4" 1029 | 54 | 12 | 432 e e
/ / 14 90 TEH I CHMBLTAIMN /S B IMELY
1JFS-24 1.7/8" X12UN 1.1/2" 1257 | 635 | 76.7 | 438 90°ELBOW JIC MALE 74°CONE/BSPT MALE
‘ Py Y847 THREAD R~ DIMENSIONS g |Frz=s
[ ] T2
- ey
1JFS9 T - 1JT9-04-02SP 7/16" X20UNF R1/8"X28 26| 198 | 11 | 22
90°EHIJICHMB T4 IMESY B R TIEZIS06162-2 o st 1JT9-04SP 7/16" X20UNF R1/4"X19 266 | 277 | 14 | 40
90°JIC MALE 74° CONE/S-SERIES FLANGE I1SO 6162-2 1JT9-05-025P 1/2" X20UNF R1/8"X28 a1 | 198 | 12 | 2
n n
=as B4 THREAD | ums R~ DIMENSIONS . 1JT9-05-04SP 1/2 " X20UNF R1/4"X19 266 | 277 | 14 | 41 | 345
PART NO. T1 FLANGESIZEl 1 | 1o | 13| b | s1 MPa 1JT9-06-04SP 9/16" X18UNF R1/4"X19 269 | 217 | 14 | 42
1JFS9-08 3/4" X16UNF 12" | 325| 44 | 775|317 24 | 185 | 31 1JT9-065P 9/16 " X18UNF R3/8 X139 2 | 3 ]I 8
. . 1JT9-06-08SP 9/16" X18UNF R1/2"X14 31 | 373 | 22 | 100
1JF$9-10-08 7/8" X14UNF 12 375| 46 | 7.75 | 317 | 24 | 202
1JT9-08-04SP 3/4 " X16UNF R1/4"X19 318 | 31 19 | 11
1JFS$9-10-12 7/8" X14UNF 3/4" 41 |541| 876 | 41.3| 30 | 297
24 1JT9-08-065P 3/4"X16UNF R3/8"X19 318 | 31 19 | 83 31
1JFS9-12 1.1/16"X12UN 3/4 442 | 54.1| 876 | 413 | 27 | 326 179085 3/ XI6UNF RL/2"x14 ws | 33| 2 | 17
1JFS9-12-16 1.1/16"X12UN 1 48 1602] 96 | 4761 36 | 455 1JT9-10-06SP 7/8"X14UNF R3/8"X19 365 | 325 | 22 | 112
1JFS9-16 1.5/16" X12UN 1" 515 | 60.5| 9.53 | 47.6 | 33 | 503 1JT9-10-08SP 7/8 " X14UNF R1/2"X14 368 | 373 | 22 | 132
1JFS$9-16-12 1.5/16"X12UN 3/4" 49 | 57| 876|413 | 30 | 38 | 21 1JT9-10-125P 7/8" X14UNF R3/4"X14 392 | 404 | 271 | 182 | 24
1JFS9-16-20 1.5/16" X12UN 1.1/4" 54 | 66 [1029| 54 | 41 | 634 1JT9-12-08sP 1.1/16"X12UN R1/2"X14 422 | 404 | 27 | 198
1JFS9-20 1.5/8" X12UN 114" | 555 | 665] 1029| 54 | 41 | 707 1JT9-125P 1.1/16"X12UN R3/4"X14 422 | 404 | 21 | 224
. " 1JT9-16-12SP 1.5/16"X12UN R3/4"X14 46 | 452 | 33 | 300| 21
1JF$9-20-16 1.5/8"X12UN 1 555 | 65 | 9.53 | 47.6 | 41 | 605 | 17
1JT9-165P 1.5/16"X12UN R1"X11 46 50 33 | 377 | 205
1JFS9-20-24 1.5/8"X12UN 112" | 59.5 | 79.3| 12.57| 63.5 | 48 | 1050 - .
1JT9-20-165P 1.5/8"X12UN R1"X11 523 | 59.7 | 41 | 531
1JFS9-24 1.7/8"X12UN 1.1/2" 62.5 | 79.3| 12.57| 63.5 | 48 | 1111 . . 17
! / 14 1J79-20SP 1.5/8"X12UN R1.1/4"X11 523 | 605 | 41 | 660
1JFS$9-24-20 1.7/8" X12UN 1.1/4" | 625| 70 | 10.29| 54 | 48 | 810 LIT9-245p 1.7/8"X120N RL1/2"X11 02 | 671 | 48 | 878 | 105
107 108



62
Ll
=
o
<
(=)
<<

7K
#
2
pa

o iE 3%k

ADAPTER

Tl

SEhlizSk

JIC,ORFS,SAE,NPT AND NPSM THREAD FITTING

109

1JFL

EHJICHMBLTA M e/ R TI7E=1S0 6162-1

JIC MALE 74° CONE/L-SERIES FLANGE ISO 6162-1

o 847 THREAD Feme R~F DIMENSIONS B8 |EHZR
. PART NO. T1 FLANGESIZE L1 D L (g MPa
1JFL-08 3/4" X16UNF 1/2" 6.73 30.2 43.5 103 345
Ll 1JFL-08-12 3/4" X16UNF 3/4" 6.73 38.1 45.4 130
1JFL-10-08 7/8" X14UNF 12" 6.73 30.2 48 127
1JFL-10-12 7/8" X14UNF 3/4" 6.73 38.1 48 150
1JFL-12-08 1.1/16" X12UN 1/2" 6.73 30.2 49 167 24
1JFL-12 1.1/16"X12UN 3/4" 6.73 38.1 50.5 196
1JFL-12-16 1.1/16" X12UN 1" 8 44.4 52.2 234
1JFL-16-12 1.5/16" X12UN 3/4" 6.73 38.1 52 254 n
1JFL-16 1.5/16" X12UN 1" 8 44.4 53.4 290
1JFL-16-20 1.5/16" X12UN 1.1/4" 8 50.8 52.2 316 20
1JFL-20-16 1.5/8" X12UN 1" 8 44.4 54.5 376
1JFL-20 1.5/8" X12UN 1.1/4" 8 50.8 53.1 398 17
1JFL-20-24 1.5/8" X12UN 1.1/2" 8 60.3 56 472
1JFL-24-20 1.7/8" X12UN 1.1/4" 8 50.8 56.5 471
1JFL-24 1.7/8" X12UN 1.1/2" 8 60.3 59.2 547 14
1JFL-24-32 1.7/8" X12UN 2" 9.53 71.4 60 657
1JFL-32 2.1/2"X12UN 2" 9.53 71.4 66.3 | 1002 | 10.5
1JFL9
90° L EHIJICIMRLT4°IM /B RFIEZ1S06162-1
90°ELBOW JIC MALE 74°CONE/L-SERIES FLANGE ISO 6162-1
EEfe 1247 THREAD Fume R~ DIMENSIONS EE( . EH=
PART NO. T1 FLANGESIZE L1 L2 13 D s1 KMPa
1JFL9-08 3/4" X16UNF 12" 325 44 6.73 | 30.2 | 22 167
1JFL9-08-12 3/4" X16UNF 3/4" 38 54.1 6.73 | 38.1 | 30 279 3
1JFL9-10-08 7/8" X14UNF 1/2" 37.5 44 6.73 | 30.2 | 24 | 182
1JFL9-10-12 7/8" X14UNF 3/4" 41 54.1 6.73 | 38.1| 30 | 292
1JFL9-12 1.1/16" X12UN 3/4" 44.5 54.1 6.73 | 38.1 | 30 322 #
1JFL9-12-16 1.1/16" X12UN 1" 48 60.2 8 444 | 36 410
1JFL9-16 1.5/16" X12UN 1" 49 60.2 8 444 | 33 450
1JFL9-16-12 1.5/16" X12UN 3/4" 49 58 6.73 | 38.1 | 30 421 2
1JFL9-16-20 1.5/16" X12UN 1.1/4" 54 66.5 8 50.8 | 41 597 20
1JFL9-20 1.5/8" X12UN 1.1/4" 555 66.5 8 50.8 | 41 666
1JFL9-20-16 1.5/8" X12UN 1" 55.5 65 8 444 | 36 | 558 17
1JFL9-20-24 1.5/8" X12UN 1.1/2" 60 79.3 8 60.3 | 50 | 955
1JFL9-24 1.7/8" X12UN 1.1/2" 62.5 79.3 8 60.3 | 50 | 1015
1JFL9-24-20 1.7/8" X12UN 1.1/4" 62.5 75.5 8 50.8 | 41 805 14
1JFL9-24-32 1.7/8" X12UN 2" 74.5 108 9.53 | 71.4 | 60 | 1675
1JFL9-32 2.1/2"X12UN 2" 80 108 953 | 71.4| 60 | 1978 | 10.5




